Hydraulic
Linear Cylinder / Compact Cylinder

Model LL Model DP
model LLR Model DR
Model LLU Model DS

Model DT

Compact and Simple Linear Cylinder

LL/LLR/LLU : Able to set the stroke in Tmm increments.

835

® LL/LLR/LLU : Linear Cylinder
(Double-Acting Linear Cylinder)
Stroke is selectable in Tmm increments (Tmm ~ 200mm).
The most compact double-acting cylinders for
small footprint fixtures.

Two piping options available.

— Gasket option : Needs no piping on a fixture.

— Piping option : Enables simple piping with
all ports set in flange.

® DP/DR/DS/DT : Compact Cylinder
(Single-Acting Linear Cylinder)
The compact single-acting linear cylinders
corresponding to the pressure range from low to high.

° LLP : Linear Cylinder with Cushion

All pipes are set in flange.

Speed Control Valve Port
Able to adjust the speed
of a cylinder. (LL/LLR only)

% This drawing indicates LL.

3

DP DR DS
Push Pull Pull

Only DP has oil bath mechanism and it does not have a vent port.

% The drawings are images.

Cushioning mechanism allows the cylinder to slow its speed just before stroke ends.

For higher speed in the middle of the stroke and the shorter cycle time.

% Refer to our website for further information of LLP.




Linear Cylinder / Compact Cylinder ‘{‘ KOSMEK

Digest Harmony in Innovation

High-Power
Series

Pneumatic Series

Double-Acting Model
MAX. 7MPa

Model LL — P.837| Model LLR — P.837| Model LLU — P.837 Valve / Coupler
Hydraulic Unit

Linear Cylinder Linear Cylinder Linear Cylinder R
Top Flange Bottom Flange Bottom Flange (Compact) ponua) Operation

Classification

Operating Pressure Range 0.5~7MPa *1 0.5~7MPa 0.5~7MPa
Standard Model External Dimensions — P.847 External Dimensions — P.869 External Dimensions — P.875

Cautions / Others

Hole Clamp

SFA
External Dimensions — P, 851 External Dimensions — P .87 3 External Dimensions — P 879 SFC

Double End Rod

Option for Dog
Swing Clamp

LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Air Sensing
Manifold Option

External Dimensions — P, 853 - -

Air Sensin Able to Install Link Clamp
9 Air Sensor External Dimensions — P, 855 — — LKA
Piping Option e
LKW
LJ/LM
. - TMA-2
Air Sensing S

Action Confirmation

Manifold Option EiEme piwasEs => P850 - - Work Support

for Retract End LD

LC
TNC
TC

Air Sensing Able to Install

Air Sensor
Air Sensing
Lift Cylinder
for Retract End LLW

Plplng Option External Dimensions — P . 863 - -

Linear Cylinder /
Speed Control Valve Compact Cylinder

Accessories BZL, BZX, JZG, BZS T
LL

— P.947

Plug

% 1.The operating pressure range of the air sensing option for retract end is 1 ~ 7MPa.

Block Cylinder

. . DBA/DBC

Single-Acting -
Centering Vise

Model il L.

MAX. 25MPa FVD
FVC

Model DP — P.881 | Model DR — P.891 | Model DS — P.897 | Model DT — P.905

Control Valve
BZL

Push Cylinder Pull Cylinder Pull Cylinder Hollow Cylinder o
Threaded Body Threaded Body Threaded Body / Bottom Flange | Threaded Body / Bottom Flange BZXNZE

Classification

Operating Pressure 0.8~25MPa 1~25MPa 1~25MPa 1~25MPa Bz
Pallet Clamp
VS/VT

Expansion
Locating Pin

VFL/VEM
VFJ/VFK

Action

Pull Stud Clamp
FP
FQ

. DZ-M DZ-R DZ-C DZ-C _
A'CC‘ESSOVI'eSk DZ-P DZ-C DZ-B DZ-B Spring Cptnder
Piping Bloc DZ-C DZ-B DWA/DWB
— P.1333, P.1339 Dz-B

836



Linear Cylinder model LL/LLR/LLU

Hydraulic Double-Acting
Linear Cylinder
Model LL/LLR/LLU ‘

Low Pressure (0.5 ~ 7MPa)

Compact * Rich Variation

© Index

Hydraulic Linear Cylinder / Compact Cylinder Digest P.835
Features P.838
Application Example P.839
Allowable Stroke Chart P.840
Model No. Indication P.841
Performance Curve P.843

External Dimensions - Specifications

+ Top Flange + Standard Model (LL) p.847
+ Top Flange + Double End Rod Option for Dog (LL-D) ———— P.851
+ Top Flange -+ Air Sensing Manifold Option (LL-MLJ) P.853
+ Top Flange - Air Sensing Piping Option (LL-N[J) P.855
+ model LL-M[I / LL-NOJ Air Sensing Chart pP.857
+ Top Flange + Air Sensing Manifold Option for Retract End (LL-RM) ——— P.859
+ Top Flange - Air Sensing Piping Option for Retract End (LL-RN) ——— P.863
+ model LL-RM / LL-RN Air Sensing Chart P.867
+ Bottom Flange - Standard Model (LLR) P.869
+ Bottom Flange - Double End Rod Option for Dog (LLR-D) ——— P.873
+ Bottom Flange (Compact) Standard Model (LLU) P.875
+ Bottom Flange (Compact) Double End Rod Option for Dog (LLU-D) ——— P.879

Accessories

Speed Control Valve + Plug P.947

Manifold Block (Common ltems of Other Models) P.1335
Cautions

Notes for Hydraulic Linear Cylinder / Compact Cylinder ———— P.913

Cautions (Common) P.1355

+ Installation Notes  + Hydraulic Fluid List  + Notes on Hydraulic Cylinder Speed Control Circuit
+ Notes on Handling *+ Maintenance/Inspection * Warranty

837



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘l(,,a,.mgnm,ﬁ!(
High-Power
Series

Maximum Stroke with Minimum Space

Linear motion compact cylinder

with 1T mm stroke increments and a variety of styles.

Mounting Methods :
3 Options

Multiple mounting options
to optimize space restrictions.

LL : Top Flange

LLR : Bottom Flange

LLU : Bottom Flange
(Compact)

Piping Methods :
2 Options

Gasket option needs no
piping on a fixture.
Piping option enables

Speed Control Valve Port H I
P —

simple piping because (Only LL/LLR)

all ports are set in flange. Gasket Option Piping Option
(LL/LLR/LLU) (Only LL/LLR)

Shape of Piston Tip :

4 Options Iiain [[Fe:]]

———

Female Threaded

y —=—— %
Female Threaded
(With Anti-Rotation Pinhole)

Male Threaded

Pin-Hole Option

, Q
Detecting Methods : I-I I-

6 Options

4 air sensing options are

available for model LL. 1

4

o
C
[
——
-

i

Body Size : 8 Options ® Pullside

Cylinder Output (Push Side)
About 0.2 ~ 35.2kN

Cylinder Output (Pull Side)
About 0.1 ~ 24kN

Offset Position

Able to specify the offset position

in Tmm increments (up to 50 mm).
This makes fixture design simple.
% LLR/LLU only.

Offset Size 1 ~ 50mm

—— Air Sensing Air Sensing
Standard Double End Rod Air Sensing Air Sensmg Manifold Option Piping Option
Model Option for Dog Manifold Option Piping Option for Retract End for Retract End
& Push Side stroke |

Offset Size : 1 ~50mm
(In 1 mm increments)
When released

Offset Size : Omm

When released

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

ar Cylinder /
Compact Cylmder
DP
DR

DS
DT

Block Cylinder
DBA/DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

838



Linear Cylinder model LL/LLR/LLU

@ Application Examples

I | As a Lifter I | As a Shifter/Pusher

N
\ Y

I | As a Clamp/Press-Fit I | As a Link Mechanism

I | As a Slide Positioning Pin I | As a Pull Cylinder

839



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ l(H..’mognm,Eol"(

High-Power
@ Allowable Stroke Chart Serfs
Pneumatic Series
Model Mounting Methods | Action Confirmation Method Bqdy Allowable Stroke
Size (mm)
_ 0360
Single Rod (Standard) 0400 i@
0480 Hydraulic Unit
. 0550 Manual Operation
L L 0650 Accessories
0750 Cautions / Oth
Ié : 0900 autions ers
‘ 1050
115 50 75 100 150 200mm  eleceme
SFA
0360 SFC
Double End Rod for Dog 0400 Swing Clamp
0480 LHA
. 0550 LHC
L L = D : 0650 LHS
! 0750 _thw
Top Flange t 0900 AT
i TLA-2
tﬁ:J 1050 TLB-2
115 50 75 100 150 200mm A
X X X . Link Clamp
N I Air Sensing Manifold Option 0360 S
Air Sensing Piping Option 0400 LKC
0480 LKW
LL-M[I | L osso e
TMA-2
: ; 0650 TMAT
LL-N[] 0750 P
5 I 0900 Work Support
: = 1050 L
= c
Ep= 115 50 75 100 150 200mm TNC
TC
Air Sensing Manifold Option for Retract End 0360
. R . Air Sensing
Air Sensing Piping Option for Retract End 0400 Lift Cylinder
LL-RM o550
0550 Linear Cylinder /
I I 0650 Compact Cylinder
L L -— R N T | 0750 _
; ! 0900 _
J-E_i 1050 _
| DP
115 50 75 100 150 200mm DR
DS
0360 DT
Single Rod (Standard) 0400 Block Cylinder
LLR 0480 DBA/DBC
0550
Centering Vi
LLR : Bottom Flange | 0650 %
L L U LLU: Bottom Flange | | 0750 o
(Compact) ; : 0900 e
1050 E—
Control Valve
115 50 75 100 150 200mm BZL
BZT
"™ | Double EndRod for D o B2
ouple £n 0d Tor Vog 0400 8257
L L R - D 0480 Pallet Clamp
| 0550 VS/VT
! . 0650 comson
Xpansion
L L U — D ! ! 0750 Locating Pin
e T 0900 VFL/VFM
ﬂIJ ﬂIJ 1050 VFJ/VFK
1 15 50 75 100 150 200mm  pyll Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

840



Linear Cylinder model LL/LLR/LLU

@ Model No. Indication

Top Flange

i -
1] 45 6]

Bottom Flange

LLR 048 0 E 050 -
9 BB OBEQ @
LLU 048 0 - E 050 -
9 BB BEA @
Kl Mounting Methods

LL : TopFlange LL LLR LLU
LLR : Bottom Flange

LLU : Bottom Flange (Compact)

B L —
Top Flange Bottom Flange Bottom Flange
(Compact)
Body Size
036 ¢D=36mm 065 : ¢ D=65mm LL LLR LLU
040 : ¢ D=40mm 075: ¢D=75mm
048 : ¢ D=48mm 090 : ¢ D=90mm ] ‘ ‘
055 ¢D=55mm 105: ¢D=105mm 1 $D 1 ¢D 1 ¢D
3 Outer diameter (¢ D) of the Cylinder. = ‘ ‘
Design No.
0 : Revision Number
Piping Method
C : Gasket Option (With G Thread Plug, Apply to LL/LLR)
S Piping Option (Rc Thread Port, Apply to LL/LLR)
G : Gasket Option (Gasket Port only, Apply to LLU)
C(LL) C(LLR) S (LLR) G (LLU)

o

Gasket Option (LL/LLR) Piping Option (LL/LLR) Gasket Option (LLU)

With G Thread Plug Rc Thread Port Gasket Port onl
(able to attach Speed Control Valve) No Gasket Port Y

Order the valve separately
Recommended : BZL-B

841 % Speed control valve (BZL) is sold separately. Refer to the P.947.



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘l(,,a,.mo?"m,ﬁ!(

High-Power
Series
Shape of Piston Tip
Pneumatic Series
A : Female Threaded A B T P -
Hydraulic Series
B : Female Threaded (With Anti-Rotation Pinhole) @ @ @
(/N
T : Male Threaded ' :;:’;{I ﬁ‘:‘:j"n'i’
P : Pin-Hole Option Manual Operation
@ @_ Accessories

Cautions / Others

A Action Confirmation Method

~— Action Confirmation is only for LL (Top Flange) ——-—-~ Hole C'Sagp
SFC
Blank : Standard Model MO: Air Sensing Manifold Option
Swing Clamp
LL --- RefertoP.847 ~P.850 +++ Refer to P.853~P.854, P.857 ~P.858 (Refer to P.857 for the number in [J) LHA
LHC
LLR -+ - Refer to P.869 ~ P.872 NO: Air Sensing Piping Option T
LLU --- Refer to P.875 ~ P.878 (NOJ:Standard Air Sensing Port Phase LHW
(NCJ/NLLI/NRLI: Refer to external dimensions for air sensor port phase.) B
. ; TLA-2
D : Double End Rod Option for Dog +++ Refer to P.855~P.856, P.857~P.858 (Refer to P.857 for the numberin [J) TS
LL --- RefertoP.851 ~P.852 T
LLR -+ Refer to P73 ~ P.874 RM : Air Sensing Manifold Option for Retract End S
elertone/3 = +++Refer to P.859~P.862, P.867~P.868 %
LLU --- Refer to P.879 ~ P.880 e
RN: Air Sensing Piping Option for Retract End W
(RN:Standard Air Sensing Port Phase LJ/LM
(RNC/RNL/RNR: Refer to external dimensions for air sensor port phase.) * TMA-2
Blank D 3% Only RN:Standard Phase is available for the body size 0360/0400. TMA-T
an +++ Refer to P.863~P.866, P.867 ~P.868 Work Support
LD
MO NOO RM RN e
‘ TNC
\ TC
T 1 =, T 1 I 7 7 7 7 Air Sensing
v H H ; ; Lift Cylinder
i LLw
‘ = Linear Cylinder /
— Compact Cylinder
Air sensor port phase is
selectable from four directions. DP
(Refer to external dimensions.) DR
DS
Stroke oT
Block Cylinder
Stroke Value | : Full Stroke Full Stroke _DBA/DBC

Push End Pull End

Centering Vise

% Full stroke can be setin T mm increments within the allowable stroke range. 0 FVA
(Refer to P.840.) i FVD
Example @ Full Stroke of Tmm : 001 I I Fvc

Full Stroke of ~ 53mm : 053 i Control Valve
Full Stroke of 175mm - : 175 BZL
BZT
BZX/JZG
] Offset Position =
Pallet Clamp
Only for LLR/LLU (Bottom Flange) Blank | OffsetSize | VT
v Expansion
S /qj Locating Pin
=2 VFL/VFM
Blank : Offsetof  Omm %ﬂ = # v
= [ —
. . wv
Offset Size | : Offset of 1-50 mm = ] pull Stud Clamp
= g L
Y FQ
% Offset size can be setin T mm increments within 1-50 mm. @ ‘ l
Example : Offsetof Tmm : 01 ﬁ } Customized
Offset of 35mm : 35 : e} ‘ Spring Cylinder
: : _DWA/DWE
Offset of 0 mm Offset of 1 ~50 mm

842



Linear Cylinder model LL/LLR/LLU

@ Performance Curve (Action Confirmation Method- - - Blank : Single Rod Model (Standard))

Applicable Model

LL LLR LU L A
M LLR?O-E - 050
LLU o
| P
. B
|
|

: ody Size Action Confirmation Method :
| Blank
|

0o

Max. Operating Pressure : 7 MPa
Min. Operating Pressure : 0.5 MPa

Bodly Size Cylinder Inside Diameter| ~ Rod Diameter | Cylinder Area (Push Side) | Cylinder Force (Push Side) | Cylinder Area (Pull Side) | Cylinder Force (Pull Side)
y (mm) (mm) (cm?) Calculation Formula (kN) ! (cm?) Calculation Formula (kN !
036 @24 ¢ 16 4.5 F=P X 045 25 F=P X025
040 26 ®18 53 F=P X 0.53 2.8 F=P X 0.28
048 32 ¢ 20 8.0 F=P X 0.80 4.9 F=P X 049
055 ¢35 ¢22 9.6 F=P X 0.96 5.8 F=P X 0.58
065 @45 @25 15.9 F=P X 159 11.0 F=P X 1.10
075 @55 ¢ 30 238 F=P X238 16.7 F=P X 167
090 ¢ 68 ¢35.5 36.3 F=P X 3.63 264 F=P X 264
105 ¢80 ¢45 50.3 F=P X 5.03 344 F=P X 344
Body Size Cylinder Force (Push Side) (kN) Cylinder Force (Pull Side) (kN)
Y TMPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa | 1MPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa
036 0.4 0.9 13 1.8 22 27 3.1 0.2 0.5 0.7 1.0 1.2 1.5 1.7
040 0.5 1.0 1.5 2.1 2.6 3.1 3.7 0.2 0.5 0.8 1.1 14 1.6 1.9
048 0.8 1.6 24 32 4.0 4.8 5.6 04 0.9 14 19 24 29 34
055 0.9 1.9 2.8 3.8 4.8 5.7 6.7 0.5 1.1 1.7 23 29 34 4.0
065 15 3.1 4.7 6.3 7.9 9.5 11 1.1 2.2 33 44 55 6.6 7.7
075 23 4.7 7.1 9.5 11.9 14.2 16.6 1.6 33 5.0 6.6 83 10.0 11.6
090 36 7.2 10.8 14.5 18.1 21.7 254 2.6 5.2 79 10.5 13.2 15.8 18.4
105 5.0 10.0 15.0 20.1 25.1 30.1 35.2 34 6.8 10.3 13.7 17.2 20.6 24.0
40 — 40 —
Push Pull B
Cylinder Force ! 105 Cylinder Force i
35T (Push Side) - 31 Pull side)
30 | 30 |
Z z
é s
2 4 2 - 105
< =
> >
=) / 2 .
g 4 g / 090
- 075 < /
<15 ,/ // €15 A
S / / o
065
10 / /// 10 /’
/ // 055 / / — 065
5 //é /// 043 S /// / -
040 ] —
/ % / __——1 o
%// ‘éé 036
0 0
0 05 1 2 3 4 5 6 7 0 05 1 2 3 4 5 6 7
Operating Hydraulic Pressure (MPa) Operating Hydraulic Pressure (MPa)
Notes :

%1. F:Cylinder Force (kN), P : Operating Hydraulic Pressure (MPa)
1. Tables and graphs show the relationship between the cylinder output and the supply hydraulic pressure.
2. Cylinder Force F (kN) is the theoretical value. Actual output may decrease because of friction and pressure loss.

843



Linear Cylinder Index App.Examples/ | Model No. |Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘l(,,a,.mo?"m,ﬁ!(

High-Power
@ Performance Curve (Action Confirmation Method- -+ D : Double End Rod for Dog) St

Pneumatic Series

Applicable Model
LL-D LLR-D LLU-D LL C g
@ II:II:E g - g I - @ Valve/C.oupI.er
| p Hydraulic Unit
: : l : Body Size (4 Action Confirmation Method D .10 operation
| | | Accessories
i i i
T e v . Cautions / Others
H;] g EIJ Max. Operating Pressure : 7 MPa
Min. Operating Pressure : 0.5 MPa
Hole Clamp
SFA
SFC
Swing Clamp
Body Size Cylinder Inside Diameter|  Rod Diameter | Sensor Area of Rod Diameter | Cylinder Area (Push Side) CyIinderForce(PushSi(ie) Cylinder Area (Pull Side) | Cylinder Force (Pull Sid?) LHA
(mm) (mm) (mm) (cm?) Calculation Formula (kN ! (cm?) (Calculation Formula (kN) LHC
036 ¢ 24 $16 $10 37 F=P X037 25 F=P X025 t:iv
040 ¢ 26 ¢18 ¢12 4.2 F=P X042 2.8 F=P X 0.28 et
048 ¢32 ¢ 20 b 14 6.5 F=P X 0.65 49 F=P X 049 TLA-2
055 ¢35 ¢22 b 14 8.1 F=P X 081 5.8 F=P X 0.58 TLB-2
065 b 45 $25 14 144 F=P X 144 11.0 F=PX1.10 ST
075 @55 ¢30 ®18 21.2 F=P X212 16.7 F=P X 167 Link Clamp
090 ®68 $35.5 ®18 338 F=P X338 26.4 F=P X264 LKA
105 $80 645 ?18 477 F=P X477 344 F=P X 344 tisv
LJ/LM
Body Size Cylinder Force (Push Side) (kN) Cylinder Force (Pull Side) (kN) TMA-2
TMPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa | 1MPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa TMA-1
036 03 0.7 1.1 14 1.8 22 25 0.2 0.5 0.7 1.0 1.2 15 1.7 Work Support
040 04 0.8 1.2 1.6 2.1 25 29 0.2 0.5 0.8 1.1 14 1.6 1.9 LD
048 0.6 13 1.9 2.6 32 39 4.5 04 0.9 14 19 24 29 34 e
055 0.8 1.6 24 32 4.0 4.8 5.6 0.5 1.1 1.7 2.3 29 34 4.0 12 ¢
065 14 2.8 43 57 7.2 8.6 10.0 1.1 22 33 44 55 6.6 77
075 21 | 42 | 63 | 84 | 106 | 127 | 148 | 16 | 33 | 50 | 66 | 83 | 100 | 116 o,
090 33 6.7 10.1 13.5 16.9 20.2 23.6 26 52 79 10.5 13.2 15.8 18.4 T aw
105 4.7 9.5 143 19.0 238 28.6 333 34 6.8 103 13.7 17.2 20.6 24.0
Compact Cylinder
O/ O/
Push Pull B
35 || Cylinder Force g 35 || Cylinder Force 9 35{7
(Push Side) 105 (Pull Side) T
/ DT
30 30 Block Cylinder
4 ~ DBA/DBC

Centering Vise

< <

25 =25

2 090 o 105 FvAa
wv

E / B / e

S & FVC

a —

= 20 < 20 /

g / g / 090 Control Valve

S L / BZL

[

5 ] Tt

% 15 075 215 / P BZT

5 5

Va
-
]
_—

/
/
4
~
_—

/ yd / BZX/JZG
/ / / 075 e
10 065 10 A Pallet Clamp
/ / / VS/VT
/] — 055 /] / /// " bpin
5 //é — 048 5 / . / 055 Locating Pin
| —T — 040 / _——— 08 VFL/VFM
| —T / L
— 036 040 VFJ/VFK
é/% ‘éé 036 _VRIUVER
0 0
0 05 1 2 3 4 5 6 7 0 05 1 2 3 4 5 6 7 Pull Stud Clamp
Operating Hydraulic Pressure (MPa) Operating Hydraulic Pressure (MPa) Eg
Notes : Customized
%1. F:Cylinder Force (kN), P : Operating Hydraulic Pressure (MPa) Spring Cylinder
DWA/DWB

1. Tables and graphs show are the relationship between the cylinder output and the supply hydraulic pressure.
2. Cylinder Force F (kN) is the theoretical value. Actual output may decrease because of friction and pressure loss.

844



Linear Cylinder model LL

@ Performance Curve
(Action Confirmation Method- - - M : Air Sensing Manifold Option /N[ : Air Sensing Piping Option)

Applicable Model MO
LL-M[] LL-NCJ cllA NI
LL 0 - s ZNeO) - 050
G P NL[]
NRL]
; Body Size
é Action Confirmation Method :
MO/NCI/NCC/NLC/NRO

Max. Operating Pressure : 7 MPa
Min. Operating Pressure : 0.5 MPa

ks o CylinderInside Diameter|  Rod Diameter | Sensor Area of Rod Diameter| Cylinder Area (Push Side) | Cylinder Force (Push Side) | Cylinder Area (Pull Sice) | Cylinder Force (Pull Side)
ody -ize (mm) (mm) (mm) (cm?) Calculation Formula (kNP1 (cm?) Calculation Formula (kN T
036 ¢ 24 ¢16 ¢8 4.0 F=P X 0.40 25 F=P X 0.25
040 626 618 8 4.8 F=P X 048 28 F=P X028
048 $32 ¢20 10 73 F=P X 0.73 4.9 F=P X 049
055 ¢35 $22 10 8.8 F=P X 0.88 5.8 F=P X 0.58
065 b45 ®25 ¢ 10 15.1 F=P X 151 11.0 F=P X 1.10
075 655 630 b 14 222 F=P X222 16.7 F=P X 167
090 668 355 b 14 34.8 F=P X348 264 F=P X264
105 ¢80 ¢ 45 o114 48.7 F=P X 487 344 F=P X 3.44
S & Cylinder Force (Push Side) (kN) Cylinder Force (Pull Side) (kN)
09V >12€ - iMPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa | 1MPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa
036 0.4 0.8 1.2 1.6 2.0 24 2.8 0.2 0.5 0.7 1.0 1.2 15 1.7
040 04 0.9 14 19 24 2.8 33 0.2 0.5 0.8 1.1 14 1.6 19
048 0.7 14 2.1 29 36 43 5.1 04 0.9 1.4 1.9 24 29 34
055 0.8 1.7 26 35 44 5.2 6.1 0.5 1.1 1.7 23 29 34 4.0
065 15 3.0 4.5 6.0 7.5 9.0 10.5 1.1 2.2 33 44 55 6.6 77
075 22 44 6.6 8.8 1.1 133 15.5 1.6 33 5.0 6.6 8.3 10.0 11.6
090 34 6.9 104 139 174 | 208 243 2.6 5.2 7.9 10.5 132 15.8 184
105 4.8 9.7 14.6 194 | 243 29.2 34.0 34 6.8 10.3 13.7 17.2 20.6 24.0
40—/ 40—
Push Pull N
351 Cylinder Force g 351 Cylinder Force i
(Push Side) / 105 (Pull Side)
30 H / 30 H
s / 2
@ 25 / < 25
2 090 3 105
< Z /
> >
%‘; 20 / / % 20 g
g / / g / 090
S S /
g 15 / // 075 § 15 / A
c =
3, L s "
S O
/ / // o5
10 y // 065 10 Y
/ / // % / / g 065
055
5 é; // 043 5 // — L — -
— 040 / ——
—— _— __————048
— ———— 036 _— — 040
é// Zé 036
0 0
0 05 1 2 3 4 5 6 7 0 05 1 2 3 4 5 6 7
Operating Hydraulic Pressure (MPa) Operating Hydraulic Pressure (MPa)

Notes :
%1. F:Cylinder Force (kN), P : Operating Hydraulic Pressure (MPa)
1. Tables and graphs show the relationship between the cylinder output and the supply hydraulic pressure.
2. Cylinder Force F (kN) is the theoretical value. Actual output may decrease because of friction and pressure loss.

845



Linear Cylinder Index App. Examples/ | Model No. |Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘K.SMEK

Harmony in Innovation

High-Power
@ Performance Curve Series

(Action Confirmation Method- - - RM : Air Sensing Manifold Option for Retract End / RN : Air Sensing Piping Option for Retract End)

Pneumatic Series

Applicable Model RM
LL 0 -|s| B||RNE| - 050
— g T RNL _— Valve / Coupler
=] RNR Hydraulic Unit
g Body Size — :
| ﬂ Action Confirmation Method : A:c'::ori:: ration
i RM/RN/RNC/RNL/RNR

Cautions / Others

Max. Operating Pressure : 7 MPa
Min. Operating Pressure : 1 MPa

Hole Clamp
SFA
SFC
Swing Clamp
. Cylinder Inside Diameter| ~ Rod Diameter | Cylinder Area (Push Side) | Cylinder Force (Push Side) | Cylinder Area (Pull Side) | Cylinder Force (Pull Side) LHA
Eoay S (mm) (mm) (cm?) Calculation Formula (kN)* T (cm?) Calculation Formula (kN) ! LHC
036 ®24 #16 45 F=P X 045 25 F=P X 025 t:;v
040 $26 $18 53 F=P X 053 28 F=P X 028 o
048 $32 $20 8.0 F=P X 0.80 49 F=P X 049 TLA2
055 #35 $22 926 F=P X 0.96 5.8 F=P X 0.58 TLB-2
065 $45 ®25 15.9 F=P X 159 11.0 F=P X 1.10 JTLAT
075 #55 $30 238 F=P X238 16.7 F=P X 167 Link Clamp
090 ¢ 68 $35.5 36.3 F=P X 3.63 26.4 F=P X 264 kA
105 $80 ®45 503 F=P X 503 344 F=P X 3.44 tx,
LJ/LM
. Cylinder Force (Push Side) (kN) Cylinder Force (Pull Side) (kN) TMA-2
Body Size 1 p [ 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa | 1MPa | 2MPa | 3MPa | 4MPa | 5MPa | 6MPa | 7MPa TMA-1
036 04 0.9 13 18 22 27 3.1 02 05 07 10 12 15 1.7 Work Support
040 05 10 15 2.1 26 3.1 37 02 05 08 1.1 14 16 19 LD
048 08 16 24 32 40 48 56 04 09 14 19 24 29 34 <
055 09 19 28 38 48 57 6.7 05 1.1 17 23 29 34 | 40 12 ¢
065 15 3.1 47 63 79 95 | 11. 1.1 22 33 44 55 6.6 77
075 23 | 47 | 71| 95 | 119 | 142 | 166 | 16 | 33 | 50 | 66 | 83 | 100 | 116 L Cyinder
090 36 72 | 108 | 145 | 181 | 217 | 254 26 52 79 | 105 | 132 | 158 | 184 LW
105 50 | 100 | 150 | 200 | 251 | 300 | 352 34 68 | 103 | 137 | 172 | 206 | 240
Compact Cylindi
LL
40 \ 40 \ LLR
Push Pull B e
35 || Cylinder Force g 105 35 || Cylinder Force 9 3:17
(Push Side) (Pull Side) be
DT
30 H 30 Block Cylinder
DBA/DBC

4090

Centering Vise

105 VAL
FVD
FVC

25

N

090 Control Valve
BZL

075 eee
/ 15 / P BZT
/ BZX/JZG

/
/
: /
v » // v o 2
7 =

—_
(%]

Cylinder Force (Push Side) (kN)
N
o

Cylinder Force (Pull Side) (kN)
N
o

Pallet Clamp

—_
o

VS/VT
Expansion
Locating Pin

/
T L — 8?“53 VFL/VFM
— | 040 VFJ/VFK

055
— 1048

040
—— 036

WAN N

]
—

7
-
/
—

\
\N
\

TN

0
e 3 o 1 2 3 4 s 7 PulswdCamp

Operating Hydraulic Pressure (MPa) Operating Hydraulic Pressure (MPa) Eg

o
—_
(%]
o)
~
—_
o)

Notes : Customized
%1. F:Cylinder Force (kN), P : Operating Hydraulic Pressure (MPa) Spring Cylinder

1. Tables and graphs show the relationship between the cylinder output and the supply hydraulic pressure. _DWA/DWE
2. Cylinder Force F (kN) is the theoretical value. Actual output may decrease because of friction and pressure loss.

846



Linear Cylinder Standard Model (Top Flange) (1/2)

@ External Dimensions

C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
%This drawing shows LL-CP.

DA B
Hydraulic Port (Pull Side): G Thread *© H L
(Option - C only:Speed Control Valve Port) T Chamf
amfer
N\
\Y%
2] <
o 123
Z] =
Jlan)
S
2-G Thread Plug (Included) K 4-pR
(Option -C Only) Spot Facing#Q
Hydraulic Port (Push Side): G Thread *©
(Option -C only: Speed Control Valve Port)
— N
: 2
co| O
- |2 / | AD
> [ png ) =
‘ >
— %In case of 3
LL0650 :12° oAGH =
¥15° — o J§§§|
od Diam. | S
o [ _
i %
< §T L ] "
i JR—
— $D 5
[

AE-AF Bolt*2

Hydraulic Port (Push Side):
O-ring (Included)

(Option -C)

Ny

7

Ny

Hydraulic Port (Pull Side):
O-ring (Included)

(Option -C)

© Piping Method

S Rc Thread Piping Option
% The drawing shows LL-SP.

Notes :

Hydraulic Port (Pull Side):
Rc Thread

@
U

Hydraulic Port (Push Side): fees-
Rc Thread

-

LL0360~0400: Full Stroke 1~50mm

LL0480~1050: Full Stroke 1~75mm

@© Machining Dimensions of Mounting Area

Hydraulic Port
(Pull Side) @ P*5

N

T

m

Nx

N

(Option -C)

4-EA Thread*3

Remove all burrs *5

|

(Option -C) \ @f
Hydraulic Port )
(Push Side) ¢ P*5 -

odel LL

d’ D+8,3
6.35%5 0.6
Il
—— )
R0.4
|

© Tip Shape

Refer to [P] Pin-Hole Option
for unlisted dimensions.

[A]: Female Threaded
Q) &
—
$8B is
= = [

[B]: Female Thread (with Anti-Rotation Pinhole)

[T]: Male Threaded

@

At

o Vs -
| =
s
v H
=
D) &
¢CB cc
=
=
=

Rod Diam.

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S".

% 2. The size and number of AF bolt vary depending on the model.

% 3. EA tapping depth of the mounting bolt should be decided according
to the mounting height referring to dimension 'S'.

3% 4. The depth of the body mounting hole ¢ D should be decided according
to the mounting height referring to dimension 'F'.

% 5. The machining dimension is for -C : Gasket option.

% 6. Speed control valve is not provided. Please refer to P.947.

847



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘l(,,a,.mo?"m,ﬁ!(

e . High-Power
@ Specifications Series
Model No. LL0360-00 | LL0400-000 | LL0480-CJ0] | LL0550-000 | LL0650-0C | LLO750-CJ0] | LL0900-CJC1 | LL1050-C10] Pneumatic Series
Full Stroke Y mm Y:1~50 Y:1~75
Glinder A , | Push Side 4.5 5.3 8.0 9.6 159 238 36.3 50.3
Inaer Area cm
y e e 2.5 2.8 49 5.8 11.0 16.7 26.4 344
Cylinder Force | PushSide,  Px0.45 PX0.53 PX0.80 PX0.96 PX1.59 Px2.38 PX3.63 PX5.03 x;:’rzil ﬁ‘:‘:j"n'i'
(CalclstionFormulg) kN | ettt Px0.25 Px0.28 Px0.49 Px0.58 PX1.10 Px1.67 Px2.64 Px3.44
Cylinder Capacity |PushSide|  Yx0.45 YX0.53 YX0.80 YX0.96 YX1.59 Yx2.38 YX3.63 YX5.03 lanual Operation
ccessories
(Calculaton Formuly) cm® | fin sy, | YX0.25 YX0.28 YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44
Cylinder Inner Diameter mm 024 26 632 35 »45 55 $68 80 Cautions / Others
Rod Diameter mm 16 18 20 $22 25 $30 $35.5 @45
Max. Operating Pressure MPa 7.0
Hole Clamp
Min. Operating Pressure MPa 0.5 T
Withstanding Pressure  MPa 10.5 SFC
Operating Temperature °C 0~70 Swing Clamp
Weight kg| 06~08 | 07~09 | 10~16 | 13~21 | 19~31 28~41 43~6. 59~80 S TyE—
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) LHC
LHS
H H ini H H H 3% In case of Full Stroke Y=1~14mm: the same external dimensions as Stroke = 15mm. LHW
© External Dimensions and Machining Dimensions for Mounting st ok <1 inm:esame sternd L
[P]: Pin-Hole Option LL0360-L1P-030 [ Y=30, A=78, E=63, F=38 ] (o) =
Model No. LL0360-C0P | LLO400-CJP | LL0480-[P | LL0550-0P | LLO650-CP | LLO750-0P | LL0900-CP | LL1050-CP TLB-2
Full Stroke Y 1~14 [15~50 | 1~14 [15~50| 1~14 [15~75 | 1~14 [15~75| 1~14 [15~75| 1~14 [15~75 | 1~14 [15~75| 1~14 [15~75 TLA-1
A 63 | Y+48 | 70 | Y455 | 74 | Y+59 | 80 | Y+65 | 90 | Y475 | 101 | Y486 | 114 | Y+99 | 127 | Y+112 el
B 49 54 61 69 81 92 107 122 cnktamp
C 40 45 51 60 70 80 95 110 LKA
D 36 40 48 55 65 75 90 105 LKC
E 48 | Y433 | 51 [ Y436 | 53 [ Y+38 | 56 | Y441 | 62 [ Y+47 | 68 | Y+53 | 77 | Y+62 | 81 | Y+66 LKW
F 23 | Y+8 | 26 | Y#11 | 25 | Y+10 | 28 | Y413 | 32 | Y#17 | 31 | Y+16 | 37 | Y422 | 36 | Y+2I LJ/LM
G 25 25 28 28 30 37 40 45 TMA-2
H 29 315 355 39 46 52 59.5 67 TMA-1
J 20 225 255 30 35 40 475 55 -
K 314 34 40 47 55 63 75 88 Work Support
L 66 73 83 88 106 16 136 152 LD
M 1 1 12 12 13 16 16 17 LC
Nx 235 26 30 335 395 45 525 60 TNC
Ny 8 9 1 12 15 16 185 225 TC
P 3 3 3 3 5 5 5 5
Q 75 9.5 95 11 1 14 175 20 Air Sensing
R 45 55 55 6.8 6.8 9 11 14 LiftCylinder
S 16 14 155 13 155 175 16.5 17.5 LLw
T 15 19 21 24 28 33 37 46 Linear Cylinder /
U 6 8 10 11 13 16 19 22
v 6 8 9 10 2 14 16 21 T
LL
w 7.5 9.5 10.5 12 14 17 19 23 LLR—
Chamfer Q a3 a3 a3 C4 cs c6 c6 U
AB 12 15 17 19 22 27 32 [
AC 6+0012 8+0015 8+8.015 10+0015 -|2+0018 —|4+00W8 16+0018 20+002W Dp
AD 6 8 9 10 12 14 16 21 DR
AE 5 4 6 4 6 6 8 10 DS
AF (NominalxPitch) M3X0.5 M4x0.7 M4x0.7 M5X0.8 M5x0.8 M6X1 M6X1 M6X1 DT
DA 35 35 35 35 45 45 45 45 Block Cvlinder
DB 14 14 14 14 19 19 22 22 Focktyinder
EA (NominalxPitch) M4X0.7 M5%0.8 M5X0.8 M6X1 M6X1 M8X1.25 MI10X1.5 M12X1.75 _DBA/DBC
Wvdraulicport |OPtion-C G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 Comterina Vi
Yeruierort Toption-S Rcl/8 Rcl/8 Rcl/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 Lentering Vise
O-ting 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 VAL
FVD
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) FVC
Model No. LL0360-CA | LL0400-CJA | LL0480-0A | LLO550-0A | LL0O650-CJA | LLO750-0A | LL0O900-CA |  LL1050-CA Control Val
An 57 | Y442 | 61 | Y+46 | 64 | Y+49 | 68 | Y453 | 75 | Y+60 | 83 | Y+68 | 93 | Y+78 | 99 | y+84 ~onvorvave
Ta 9 10 1 12 13 15 16 18 Bzt
Un 12 13 14 17 19 24 30 36 BZT
Wa 7.5 7.5 8.5 9 10 12 13 15 BZX/JZG
BB 14 15 17 19 22 27 33 ) BZS
BC (NominalxPitchxDepth) | M6X1Xx12 | M8x1.25X16 | M8x1.25X16 | MI10X1.5X20 | MI2X1.75X24 | MI16X2X32 | M20X2.5X40 | M24X3x48 S
allet Clamp
. . . . . VS/VT
[BJ: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) _
Model No. LL0360-0B | LL0O400-0B | LL0O480-0B | LL0550-0B | LL0650-0B | LL0750-0B | LL0900-0B | LL1050-C1B EXPat”_S'Of;_
Ve 2 25 25 25 3 4 5 6 Locatng®n
Ws 5.5 5 6 6.5 7 8.5 9 10.5 _VFL/VEM
_VRIVFK
[T]: Male Threaded Refer to P Pin-Hole Option for for unlisted dimensions. (mm)
Model No. LL0360-0T | LL0400-0T | LL0480-0T | LL0550-0T | LL0650-OT | LLO750-0T | LL0900-OT | LL1o50-0T  PullstudClamp
A 73 | v+58 | 81 [ Y66 | 88 | Y473 | 96 | v#81 | 107 [ Y+92 | 118 [ Y4103 | 139 [ Y+124 | 153 [ Y+138 FP
Tr 25 30 35 40 45 50 62 72 FQ
ur 12 14 17 17 19 24 30 36 Customized
V1 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 T DWA/DWE
cB 14 17 19 21 24 29 345 ) —_—
CC (NominalxPitch) | M10X1.25 M12X1.25 M14X1.5 M16x1.5 M20X1.5 M24X1.5 M30%1.5 M36X1.5

848



Linear Cylinder Standard Model (Top Flange) (2/2)

© External Dimensions
C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option

LL0360~0400: Full Stroke 51~100mm

LL0480~1050 : Full Stroke 76~200mm model L L

@© Machining Dimensions of Mounting Area

Nx
Hydraulic Port

%This drawing shows LL-CP. (Pull Side) ¢ P*5 ‘ ‘
(Option -C) ? P
oA ; ﬂ © &
Hydraulic Port (Pull Side): G Thread *© H L Zﬂ
(Option - C only:Speed Control Valve Port) T 2
Chamfer Z>j
N\ ’
I\ Hydraulic Port ‘ ‘
(Push Side) ¢ P*5 - @
27 P (Option -C)
(B 5 ° N %
o = 4 ® IE > 4-EA Thread3 K
=
Remove all burrs *5 #D*Y3
@g
6.35%5 C0.6
2-G Thread Plug (Included) K 4-$R
(Option -C Only) Spot Facing ¢ Q 77‘_‘
Hydraulic Port (Push Side): G Thread *© —— )
(Option -C only: Speed Control Valve Port)
_ R RO4
. |2 Bl - -
2ol £ ; : ~.
-2 ( \
E‘i ‘Ai)l srR AD
: Refer to [P] Pin-Hole Option
@ Ti p Sha pe for unlisted dimensions.

= % In case of

¢
l&
NE )
LL0650 : 12° oAGH =

e

Sl

AE-AF Bolt*2

Hydraulic Port (Push Side):
O-ring (Included)

(Option -C)

Ny_, Ny
T

Hydraulic Port (Pull Side):
O-ring (Included)

(Option -C)

© Piping Method

S Rc Thread Piping Option
%The drawing shows LL-SP.

[A]: Female Threaded

(o \WIE-

é) ) £°
=

688 BC

A £ [l

[B]: Female Thread (with Anti-Rotation Pinhole)

Ws

./.I.i:'L

[T]: Male Threaded

Width

O &

®CB

CcC

TT
V1

At
Wt

Rod Diam.

Notes :

Hydraulic Port (Pull Side):
Rc Thread

>
U

®

o\

Hydraulic Port (Push Side): forrie-
Rc Thread

A\
&

849

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S".

The size and number of AF bolt vary depending on the model.

EA tapping depth of the mounting bolt should be decided according
to the mounting height referring to dimension 'S'.

The depth of the body mounting hole ¢ D should be decided according
to the mounting height referring to dimension 'F'.

The machining dimension is for -C : Gasket option.

Speed control valve is not provided. Please refer to P.947.

2.
% 3.

% 4.

%5,
6.



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘l(,,a,.mo?"m,ﬁ!(

e . High-Power
@ Specifications Series
Model No. LL0360-0C | LL0400-0C | LL0480-0J0 | LL0550-00C | LL0650-0C | LLO750-CJ0 | LL0900-CJ0 | LL1050-001 Pneumatic Series
Full Stroke Y mm Y:51~100 Y:76 ~200
Clinder A , | Push Side 4.5 5.3 8.0 96 159 2338 36.3 50.3
nader Area cm
v fevact 25 28 49 58 1.0 16.7 26.4 344
Cylinder Force | PushSide|  P<0.45 PX0.53 PX0.80 PX0.96 PX1.59 Px2.38 PX3.63 PX5.03 x;:’rzil Coupter
(CalclstionFormulg) kN | ettt Px0.25 Px0.28 Px0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44
Cylinder Capacity |PushSide| — YX0.45 YX0.53 Y%0.80 YX0.96 YX1.59 YX2.38 YX3.63 YX5.03 ra""a' Opetation
ccessories
(Calculaton Formuly) cm® | fin sy, | YX0.25 YX0.28 YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44
Cylinder Inner Diameter mm 024 26 632 35 »45 55 $68 80 Cautions / Others
Rod Diameter mm ®16 ¢18 920 $22 ¢25 30 ¢35.5 ¢ 45
Max. Operating Pressure MPa 7.0
- - Hole Clamp
Min. Operating Pressure MPa 0.5 T
Withstanding Pressure  MPa 10.5 SFC
Operating Temperature °C 0~70 Swing Clamp
Weight kg| 09~12 | 10~14 | 17~30 | 23~41 | 32~54 | 44~7 65~101 | 90~130 2
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) t:g
@ External Dimensions and Machining Dimensions for Mounting Hwo
LG/LT
[P]: Pin-Hole Option (Ex) LLO360-(1P-070 [ Y=70, A=133, E=118, F=93 ] (mm) TLA-2
Model No. LL0360-00P | LL0O400-0P | LL0O480-0P | LLO550-CP | LL0650-P | LLO750-0P | LL0900-OP | LL1050-CIP TLB-2
Full Stroke Y 51~100 51~100 76~200 76~200 76~200 76~200 76~200 76~200 TLA-1
A Y+63 Y+70 Y+76 Y+81 Y+91 Y+107 Y+121 Y+138 Ll
B 49 54 61 69 81 92 107 122 Lnktlamp
C 40 45 51 60 70 80 95 110 kA
D 36 40 48 55 65 75 90 105 LKC
E Y+48 Y+51 Y+55 Y+57 Y+63 Y+74 Y+84 Y+92 LKW
F Y+23 Y+26 Y+27 Y+29 Y+33 Y+37 Y+44 Y+47 LI/LM
G 25 25 28 28 30 37 40 45 TMA-2
H 29 315 355 39 46 52 59.5 67 TMA-1
J 20 225 255 30 35 40 475 55 —
K 314 34 40 47 55 63 75 88 Work Support
L 66 73 83 88 106 116 136 152 LD
M i 1 12 12 3 16 16 17 LC
Nx 235 26 30 335 395 45 525 60 e
Ny 8 9 1 12 15 16 18.5 225 TC
p 3 3 3 3 5 5 5 5
Q 7.5 95 95 i 1 14 17.5 20 Air Sensing
R 45 55 55 6.8 6.8 9 1 14 LiftCylinder
S 16 14 155 13 155 175 16.5 175 LLW
T 15 19 21 24 28 33 37 46 Linear Cylinder /
U 6 8 10 1 3 16 19 22 Compact Cylind
vV 6 8 9 10 12 14 16 21 -
LL
W 75 95 10.5 12 14 17 19 23 L
Chamfer 2 c3 a3 a3 c4 c5 c6 c6 i
AB 12 15 17 19 22 27 32 )
AC 6+8ml 8+8015 8+g4015 ‘IO+8015 12+8018 '|4+8.0IB 16+g,018 20 +g,02| DP
AD 6 8 9 10 12 14 16 21 DR
AE 5 4 6 4 6 6 8 10 DS
AF (NominalxPitch) M3%0.5 M4x0.7 M4x0.7 M5X0.8 M5%0.8 M6X1 M6X1 M6X 1 DT
DA 35 35 35 35 45 45 45 45 Block Colinger
DB 14 14 14 14 19 19 22 22 Jlocktyinder
EA (NominalxPitch) M4x0.7 M5X0.8 M5%0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 _DBA/DBC
Hvdraulc o 0RO -C G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 R—
4 [Option-S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 (Centering Vise
0O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 FvAa
FVD
:Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) FvC
Model No. LL0360-CA | LL0400-CA | LL0480-CA | LL0O550-0A | LL0O650-CA | LL0O750-0A | LL0900-CA | LL1050-0A Control Va
An Y+57 Y+61 Y+66 Y+69 Y+76 Y+89 Y+100 Y4110 Lontrolvave
Ta 9 10 1 12 13 15 16 18 Bzt
Ua 12 13 14 17 19 24 30 36 BZT
Wa 7.5 75 8.5 9 10 12 3 15 BZX/)ZG
BB 14 15 17 19 22 27 33 ) BZS
BC (NominalxPitchxDepth) | M6X1x12 | M8X1.25X16 | M8X1.25X16 | MI10X1.5%20 | MI2X1.75X24 | MI16X2X32 | M20X2.5X40 | M24x3x48 -
allet Clamp
. . . . VS/VT
[BJ: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) _
Model No. LL0360-0B | LL0400-0B | LL0O480-0B | LL0550-0B | LL0650-0B | LL0750-0B | LL0900-0B | LL1050-01B EXPH”_S'O?)_
Vs 2 25 25 25 3 4 5 6 LocatingPin
We 5.5 5 6 6.5 7 8.5 9 10.5 _VFL/VEM
VFJ/VFK
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)
Model No. LL0360-0T | LL0400-0T | LL0480-0T | LL0550-0T | LL0650-0T | LLO750-0T | LL0900-OT | LL1050-O07  FPullstudClamp
Ar Y+73 Y+81 Y+90 Y+97 Y+108 Y+124 Y+146 Y+164 Fp
T 25 30 35 40 45 50 62 72 FQ
Ur 12 14 17 17 19 24 30 36 Coctomied
Vr 16 20 24 28 32 35 16 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 T DWA/DWE
cB 14 17 19 21 24 29 345 ) AR
CC (NominalxPitch) | M10X1.25 M12X1.25 M14x1.5 M16X1.5 M20X1.5 M24X 1.5 M30X1.5 M36X1.5

850



Linear CyI inder Double EndRod Option for Dog (Top Flange)

@ External Dimensions

C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
%This drawing indicates LL-CPD.

DA B
Hydraulic Port (Pull Side): G Thread *° H )
(Option - C only:Speed Control Valve Port) T Chamf
amfer
N\
&
>
= i gog
ol x S
= =7
/ % iar)
e &
2-G Thread Plug (Included) K 4-¢R
(Option -C Only) Spot Facing#Q
Hydraulic Port (Push Side): G Thread *°
(Option -C only:Speed Control Valve Port)
— 7™
E ah
co|
|2 : AD
z o)
‘ﬁ >
~ %In case of i
LL0650 : 12° oAGH =
w15
o [ .
§T Lf ; o
i JR—
< p—
[,
[V} il
s |
— AE-AF Bolt*2
(9]
" | B B FA
2° &
> =
> "
== oo® il
Hydraulic Port (Push Side): ¢ﬁ
O-ring (Included)
(Option -C) @ @
= G%
A 1 % &)
=z
Hydraulic Port (Pull Side): 1
O-ring (Included) @ L i @ FC
(Option -C)
Width
FB
© Piping Method
S Rc Thread Piping Option
%The drawing shows LL-SPD.
Hydraulic Port (Pull Side): Jzan) Notes :
Rc Thread /_\ P
D)
Hydraulic Port (Push Side): fees- S
Rc Thread &%

851

model LL-D

@© Machining Dimensions of Mounting Area

Nx
Hydraulic Port

(Pull Side) ¢ P*4

(Option -C) \

ﬂ

N

N

Hydraulic Port )
(Push Side) ¢ P4 -

(Option -C)
4-EA Thread*3

dh

Remove all burrs *4

.

K

) D+8.3

6.35%4 C0.6

il
——

© Tip Shape
[A]: Female Threaded

Refer to [P] Pin-Hole Option
for unlisted dimensions.

Width
Ua

()

@
@

@
(@)

1

AV

=

=

EE

< Rod Diam.

[B]: Female Thread (with Anti-Rotation Pinhole)

Ve

@

Ws

[T]: Male Threaded

Jilid

i

=
D) &
¢ CB cc
=
=
< =

Rod Diam.

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S'.

% 2. The size and number of AF bolt vary depending on the model.

% 3. EA tapping depth of the mounting bolt should be decided according
to the mounting height referring to dimension 'S'.

% 4. The machining dimension is for -C : Gasket option.

% 5. Speed control valve is not provided. Please refer to P.947.



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘ l(H‘.’mcgnm,E(!(
e . High-Power
@ Specifications Series
Model No. LL0360-000D | LL0O400-[ICD | LL0480-[J0D | LL0550-[CD | LL0650-CJ0D | LL0750-0JD | LL0900-CCD | LL1050-00D o
Full Stroke Y mm Y:1~50 Yi1~75 ! icseries
Ciinder A | Push Side 3.7 42 6.5 8.1 14.4 21.2 33.8 47.7 varaulle Sen
yinderarea cm™ frevact - 25 28 49 538 1.0 16.7 264 344 VEIRHESEHES
Cylinder Force | PushSide| ~ PX0.37 Px0.42 Px0.65 Px0.81 PXx1.44 Px2.12 Px3.38 Px4.77 Valve / Coupler
(CalclstionFormuly) - kN | fetrect Px0.25 Px0.28 PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44 Hydraulic Unit
Cylinder Capacity | Push Side Yx0.37 Y%0.42 YX0.65 Y%0.81 YX1.44 YX2.12 YX3.38 YX4.77 " lloneration
(CalclationFormulg) cm® | foi, | YX0.25 ¥X0.28 YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44 Accessories
Cylinder Inner Diameter mm b24 $26 632 ¢35 b45 55 $68 80
" Cautions / Others
Rod Diameter mm ¢16 ¢18 $20 ¢22 ¢25 ¢30 $35.5 @45
Max. Operating Pressure MPa 7.0
Min. Operating Pressure MPa 0.5 Hole Clamp
Withstanding Pressure  MPa 10.5 SFA
Operating Temperature °C 0~70 °rc
Weight kg| 06~08 | 07~09 | 10~17 [ 13~22 | 20~32 | 29~43 | 45~64 | 61~83  SwingClamp
LHA
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) LHC
H B e H H H 3% Calculation formula is different between Full Stroke: Y=1-14 mm and Y= 15 mm or more. LHS
© External Dimensions and Machining Dimensions for Mounting (6x) L0360, PD010 [ Y-10, A 835, £48, P23 Lhw
[P]: Pin-Hole Option LL0360-(IPD-030 [ Y=30, A=118.5, E=63, F=38 ] (mm) LG/LT
Model No. LL0360-C1PD | LL0400-CIPD | LL0480-CIPD | LL0550-C1PD | LL0650-CJPD | LL0750-CJPD | LL0900-CIPD | LL1050-CI1PD TLA-2
Full Stroke Y 1~14 | 15~50 | 1~14 [ 15~50 | 1~14 [ 15~75 | 1~14 | 15~75 | 1~14 [ 15~75 | 1~14 [ 15~75 | 1~14 [ 15~75 | 1~14 | 15~75 TLB-2
A Y473.5 |2Y458.5| Y+80.5 |2Y465.5 Y+84.5 |2Y469.5| Y+90.5 |2Y+75.5Y+100.5|2Y+85.5 Y+111.5 |2Y+96.5| Y+124.5 |2Y+109.5| Y+137.5 |2Y+122.5 TLA-1
B 49 54 61 69 81 92 107 122
C 40 45 51 60 70 80 95 110 Link Clamp
D 36 40 48 55 65 75 90 105 LKA
E 48 | v433 | 51 [ Y436 | 53 [ Y438 | 56 | Y441 | 62 [ Y+47 | 68 | Y+53 | 77 | Y+62 | 81 | Y+66 LKC
F 23 | Y+8 | 26 | Y#11 | 25 | Y+10 | 28 | Y413 | 32 | v#17 | 31 | YH6 | 37 | Y422 | 36 | Y421 LKW
G 25 25 28 28 30 37 40 45 LI/LM
H 29 315 355 39 46 52 59.5 67 T™MA-2
J 20 22.5 25.5 30 35 40 475 55 TMACT
K 314 34 40 47 55 63 75 88
L 66 73 83 88 106 116 136 152 Work Support
M 11 1 12 12 13 16 16 17 LD
Nx 235 26 30 335 39.5 45 52.5 60 Lc
Ny 8 9 1 12 15 16 18.5 22,5 NG
P 3 3 3 3 5 5 5 5 Tc
Q 7.5 9.5 9.5 1 11 14 175 20
R 4.5 5.5 5.5 6.8 6.8 9 11 14 Air Sensing
S 16 14 15.5 13 15.5 175 16.5 175 Lift Cylinder
T 15 19 21 24 28 33 37 46 LLW
U 6 8 10 1 13 16 19 22 T
Vv 6 8 9 10 12 14 16 21
W 7.5 9.5 10.5 12 14 17 19 23
Chamfer Q2 a a3 a3 C4 cs5 c6 c6
AB 12 15 17 19 22 27 32 42 LLR
AC 69002 g+001s g+oois 10+5%'s 12+g0% 14,+908 16+90% 2075 LLU
AD 6 8 9 10 12 14 16 21 oP
AE 5 4 6 4 6 6 8 10 DR
AF (NominalxPitch) M3X0.5 M4x0.7 M4x0.7 M5x%0.8 M5%0.8 M6X 1 M6X 1 M6X 1 DS
DA 35 35 35 35 45 45 45 45 DT
DB 14 14 14 14 19 19 22 22 _
EA (NominalxPitch) M4X0.7 M5%0.8 M5%0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 Block Cylinder
FA 10 12 14 14 14 18 18 18 DBA/DBC
FB 8 10 12 12 12 16 16 16
FC (NominalxPitchxDepth) | M5X0.8X12 M6X1X15 | M8x1.25X18 | M8x1.25X18 | M8x1.25X18 | M10X1.5X21 | M10X1.5X21 | M10X1.5%X21 Centering Vise
HydraulicPort [ option-C G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 FVA
| Option-S Rcl/8 Rc1/8 Rc1/8 Rc1/8 Rcl1/4 Rcl/4 Rc3/8 Rc3/8 FVD
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 FVC
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)  Control Valve
Model No. LL0360-CJAD | LL0400-CJAD | LL0480-CJAD | LL0550-CJAD | LL0650-CIAD | LLO750-CJAD | LL0900-CIAD | LL1050-CJAD BZL
An Y+67.5 [2Y+52.5 Y+71.5 [2Y+56.5] Y+74.5 |2Y+59.5 Y+78.5 |2Y+63.5) Y+85.5 [2Y+70.5) Y+93.5 |2Y+78.5 Y+103.5/2Y+88.5Y+109.5/2Y+94.5 2T
Ta 9 10 11 12 13 15 16 18 TBIXZG
Un 12 13 14 17 19 24 30 36 Tars
Wa 75 75 8.5 9 10 12 13 15
BB 14 15 17 19 22 27 33 42 Pallet Clamp
BC (NominalxPitchxDepth) | M6X1X12 | M8X1.25X16 | M8X1.25X16 | M10X1.5X20 | M12X1.75%24 | MI16X2x32 | M20X2.5X40 | M24X3X48 VST
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)  £ypansion
Model No. LL0360-CJBD | LL0400-JBD | LL0480-C1BD | LL0550-CJBD | LL0650-CJBD | LLO750-C1BD | LL0900-CIBD | LL1050-C1BD Locating Pin
Vs 2 25 25 25 3 4 5 6 VEL/VEM
Ws 55 5 6 6.5 7 8.5 9 10.5 I T
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)
Model No. LL0360-CJTD | LL0400-CJTD | LL0480-CJTD | LL0550-CJTD | LL0650-CJTD | LL0750-CJTD | LL0900-CJTD | LL1050-CJTpD  FullStudClamp
A Y+83.5 [2Y+68.5) Y+91.5 |2Y+76.5| Y+98.5 [2Y+83.5| Y+106.5|2Y+91.5| Y+117.5 [2Y4+102.5| Y+128.5 [2Y+113.5| Y+149.5 [2Y+134.5] Y+163.5 [2Y+148.5 FP
Tr 25 30 35 40 45 50 62 72 FQ
ur 12 14 17 17 19 24 30 36 Customised
vt 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 T DWA/DWE
CB 14 17 19 21 24 29 345 Iy —_—
CC (NominalxPitch) | M10x1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

852



Hydraulic Port (Pull Side): G Thread *”

Linear Cylinder Air Sensing Manifold Option (Top Flange)

@ External Dimensions

C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option

% This drawing shows LL-CPM.
DA B

(Option -C only:Speed Control Valve Port)

Chamfer

j?:o

Ny Ny,

2-G Thread Plug (Included) K 4-pR
(Option -C Only) Spot Facing# Q
Hydraulic Port (Push Side): G Thread *7
(Option -C only:Speed Control Valve Port)
.
“ |8 4 )
E { $AB \ srR AD
E 1
ﬁ -
| ¥In case of %
LL0650 :12° SACw =
G — T~
I od Diam.
G) L . <
s| e N
| U
w 1
S #D%
< (N
&
i W |
- : AE-AF Bolt*2
N'r_-:. Extend-end
< Confirmation Port
[y ~ N
NI (Air)
= ==k Retract-end
T 7 ] \_Confirmation Port
o / ol (Air)
o [
[N,
3-O-ring ¢FD Air Vent Port*3
Made by NOK (Included) OFEs
(Air Sensing Area)
Hydraulic Port (Push Side): Nx = 4:FS Bolt

853

O-ring (Included)
(Option -C)

Ny_ Ny
)

Hydraulic Port (Pull Side):
O-ring (Included)

(Option -C)

@© Piping Method

S : Rc Thread Piping Option
%The drawing shows LL-SPM.

(©

Hydraulic Port (Pull Side):
Rc Thread

&,
Sl

Hydraulic Port (Push Side): e @

Rc Thread

model LL-M[]

© Machining Dimensions of Mounting Area

Hydraulic Port
(Pull Side) ¢ P*5
(Option -C)

=
Hydraulic Port

(Push Side) ¢ P*5 AN
(Option -C)
4-EA Thread*4 K

Remove all burrs *5

6.35%5 C0.6 ‘
77”‘ o D‘+8-3
§o —— D' FI‘E .
x 30 @ FEHs s
7 30° Y S| g
i o H o
| - g E
| RO.47 ¥ 2
o v 2
& L Remove all burrs
% (Hole Tolerance Area)
= 30" :
RO.4
o |
5 S \2-04~ 06
€ \
5 L oFF 1 \AirVentPorts3
w
™~ Through Hole Machining | Blind Hole Machining

Notes :

%1

% 2.
% 3.

X 4.

%5
% 6.

% 7.
. Please refer to P.857, P.858 for Air Sensing Chart.

Mounting bolts are not provided. Please prepare them according
to the mounting height referring to dimension 'S".

The size and number of AF bolt vary depending on the model.
Please keep clear condition at the air vent port, and prevent coolant
and chips from entering the port.

EA tapping depth of the mounting bolt should be decided according
to the mounting height referring to dimension 'S'.

. The machining dimension is for -C : Gasket option.

The dimensions indicate those under the flange.
Speed control valve is not provided. Please refer to P.947.

@Tlp Sha pe Referto [P] Pin-Hole Option for unlisted dimensions.

[A]:

T]:

Female Threaded

— BC
¢ BB
= o
= S [T
< RodD|am

Female Thread
(with Anti-Rotation Pinhole)

€

Vs

i €
¥

i

Male Threaded -
] o+
> £-
®CB ., ¢
S
i
< =

Rod Diam.



In
Fea

Linear Cylinder
Digest

dex
tures

App. Examples/
Stroke Chart

Model No.
Indication

Performance
Curve

LL

External Dimensions

LLR

LLU

Cautions
P.913

([ K@SMEK

Harmony in Innovation

. . High-Power
@ Specifications Series
Model No. LL0360-J M | LL0400-C/IMC] | LL0480-CCMC | LL0550-00MC] | LL0650-CIIMC | LLO750-CJ0OMC | LL0900-CIMO | LL1050-CICIML]
Full Stroke Y mm Y:15~50 Y:15~75 P ic Series
) , | Push Side 4.0 48 73 8.8 15.1 22.2 34.8 48.7
linder Area — cm” Fp | Gige 2.5 28 49 58 1.0 16.7 264 344
Cylinder Force KN Push Side Px0.40 Px0.48 Px0.73 Px0.88 PX1.51 Px2.22 Px3.48 Px4.87 Hydraulic Seri
(Calculation Formula) Pull Side Px0.25 PX0.28 PXx0.49 PX0.58 PX1.10 PX1.67 Px2.64 PX3.44
Cylinder Capacity , | Push Side YX0.40 YX0.48 YX0.73 YX0.88 YX1.51 YX2.22 YX3.48 YX4.87
(Calculation Formula) ™" [ Pull Side YX0.25 YX0.28 Yx0.49 Yx0.58 YX1.10 YXx1.67 YX2.64 Yx3.44 Valve / Coupler
Cylinder Inner Diameter mm $24 $26 $32 ¢35 $45 $55 $68 $80 Hydraulic Unit
Rod Diameter mm ®16 ®18 $20 $22 ®25 $30 $35.5 b 45
Air Sensing Area Rod Diameter _mm ®8 ¢10 ¢14 M. | Operation
Max. Operating Pressure  MPa 70 Accessories
Min. Operating Pressure MPa 0.5
Withstanding Pressure MPa 10.5
Rec ded Operating Air Pressure™®MPa 0.2 Cautions / Others
Recommended Air Catch Sensor*® ISA3-G (Made by SMC) / GPS3-E (Made by CKD)
Operating Temperature C 0~70
Weight kg 08~14 | 09~15 | 12~26 | 15~32 | 22~40 | 32~54 | 48~75 |  64~94
Hole Clamp
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) SFA
8. The number of connected cylinders should be no more than 4 per air catch sensor. SFC
Swing Clamp
@ External Dimensions and Machmmg Dimensions for Mountmg 3% Calculation formulas different between Full Stroke: Y=15-24 mmand Y=25mmormore. | ha
[P]: Pin-Hole O (Ex) LLO360-[1PM-020 [ Y=20,A=107.5, FA=39.5, FB= 0, FC=15.7, FJ= 70, FL=14] e
in-Hole Option LL0360-CIPM-040 [ Y=40, A=146.5, FA=34.5, FB=24, FC=107, F}=109, FL=9] (mm)
Model No. LL0360-CPMC | LL0400-0PMC | LL0480-CPMC | LL0550-CPMC LL0650-[1PM[] LL0750-0PM] | LLO900-CIPM] LL1050-C1PMC] LHS
Full Stroke Y 15~24 | 25~50 | 15~24 [ 25~50 | 15~24 [ 25~75 | 15~24 | 25~75 | 15~24 | 25~75 | 15~24 [ 25~75 | 15~24 [ 25~75 | 15~24 [ 25~75 LHW
A 2Y+67.5 | 2Y+66.5 | 2Y+76.5 | 2Y+75.5 | 2Y+80.5 | 2Y+79.5 | 2Y+86.5 | 2Y+85.5 | 2Y+96.5 | 2Y+95.5 | 2Y+107.5 |2Y+106.5 | 2Y+120.5 | 2Y+119.5 [ 2Y+133.5 | 2Y+132.5 LG/LT
B 49 54 61 69 81 92 107 122 TLAD
C 40 45 51 60 70 80 95 110
D 36 40 48 55 65 75 90 105 TLB-2
E Y433 Y+36 Y+38 Y+41 Y+47 Y+53 Y+62 Y+66 TLA-1
F Y+8 Y+11 Y+10 Y+13 Y+17 Y+16 Y422 Y421
G 25 25 28 28 30 37 40 45 Link Clamp
H 29 315 355 39 46 52 59.5 67 LKA
J 20 225 255 30 35 40 475 55
K 314 34 40 47 55 63 75 88 LKC
L 66 73 83 88 106 116 136 152 LKW
M 11 1 12 12 13 16 16 17 /M
Nx 235 26 30 335 395 45 525 60
Ny 8 9 i 2 15 16 185 225 TMA-2
P 3 3 3 3 5 5 5 5 TMA-1
Q 7.5 95 9.5 1 11 14 17.5 20
R 45 55 55 6.8 6.8 9 i 14 Work Support
S 16 14 15.5 13 155 17.5 16.5 175 o
T 15 19 21 24 28 33 37 46
U 6 8 10 i 13 16 19 2 LC
v 6 8 9 10 12 14 16 21 TNC
w 7.5 95 10.5 12 14 17 19 23 TC
Chamfer Q a3 a3 a3 c4 cs c6 C6
AB 12 15 17 19 22 27 32 9 Air Sensing
AC 6 +g.0|2 8+g.015 8+8v015 -lo +g.015 12+g.018 14+8.0|8 16 +8v018 20 +g.021 Llft Cylinder
AD 6 8 9 10 12 14 16 21 W
AE 5 4 6 4 6 6 8 10
AF (Nominal XPitch) M3X0.5 M4X0.7 M4X0.7 M5X0.8 M5X0.8 M6X 1 M6X1 M6X 1 T ETTTT
DA 35 35 35 35 45 45 45 45 Y
DB 14 14 14 14 19 19 22 22
EA (NominalxPitch) M4X0.7 M5%0.8 M5x0.8 M6X1 M6X1 M8x1.25 M10x1.5 M12X1.75
FA Y4195 | 345 | Y215 [ 365 | Y215 [ 365 | Y+21.5 [ 365 | Y+21.5 | 365 | Y4215 | 365 | Y4215 | 365 | Y+215 | 365 LLR
FB 0 Y-16 0 Y-16 0 Y-16 0 Y-16 0 Y-16 0 Y-16 0 Y-16 0 Y-16 LU
FC Y-4.3 10.7 Y-3.3 1.7 Y-3.3 1.7 Y-33 1.7 Y-3.3 1.7 Y33 1.7 Y-33 1.7 Y-3.3 1.7
FD 335 37 44 44 44 52 52 52 bp
FErs 345 %% 38-0%% 45 885 45 8% 4588 53°88% 53-88% 53 -8%% DR
FEHS 345 +g.039 38 +g.039 45 +g.039 45 +8.039 45 +g.039 53 +8.046 3 +0.046 53 +8.04é DS
FF 357 392 46.2 46.2 46.2 542 542 542
FG Y418 Y4214 Y4204 Y4234 Y4274 Y264 Y4324 Y4314 oT
FH Y+33 Y+37.9 Y+36.9 Y+39.9 Y+43.9 Y+42.9 Y+48.9 Y+47.9 )
FJ 2V130 | 2V429 | 2Y+347 | 2V433.7 | 2V433.7 | 2V4327 | 2Y+367 | 2Y4357 | 2Y+40.7 | 2Y4307 | 2V4307 | 2Y4387 | 2Y+457 | 24447 | 2¥+447 | av+437  Block Cylinder
FK Y+8.5 Y+12 Y411 Y+14 Y+18 Y+17 Y423 Y422 DBA/DBC
FL Y6 | 9 Y6 | 9 Y6 | 9 Y6 | 9 Y6 | 9 Y6 | 9 Y6 | 9 Y6 | 9
FP 3 32 3.2 3.2 32 3.2 32 3.2 Centering Vise
FQ 1.7 25 25 25 25 25 25 25
FR 6 7.2 72 7.2 7.2 7.2 7.2 72 FVA
FS (Nominal xPitch) M3X0.5 M4X0.7 M4X0.7 M4X0.7 M4X0.7 M4X0.7 M4X0.7 M4X0.7 FVD
Hydrauli [option-C G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 FVC
ydraulic Port =
|Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8
0-ring (Hydraulic Port Area) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Control Valve
O-ring (Air Sensing Area) | CO0524A(S31.5) C00527A(535) CO0533A(542) C00533A(542) C00533A(542) CO0538A(550) CO0538A(550) CO0538A(550) oL
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) BZT
Model No. LL0360-CAMC] | LLO400-CAMCI | LL0480-CAMC] | LLO550-CAMC | LL0650-JAMC | LLO750-0AMC | LLO900-JAMC | LL1050-CJAMC] BZX/)ZG
An 2Y+61.5 | 2Y460.5 | 2Y+67.5 | 2Y+66.5 2Y+81.5 [ 2Y+80.5 2Y+99.5 [ 2Y+98.5 Bz
Ta 9 10 11 12 13 15 16 18
Un 12 13 14 17 19 24 30 36 Pallet Clamp
Wa 7.5 7.5 8.5 9 10 12 13 15
BB 14 15 17 19 22 27 33 2 VS/VT
BC (NominalxPitchXDepth) M6X1X12 M8X1.25X16 M8X1.25X16 M10X1.5%20 M12X1.75%24 M16X2X32 M20X2.5X40 M24X3X48 Expansion
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)  Locating Pin
Model No. LL0360-0BM] | LL0400-0BMC] | LL0480-0BMC] | LL0550-0BMC] | LL0650-CBMC] | LL0750-0BMC | LL0900-CBMC | LL1050-C1BML] VEL/VFM
Vs 2 25 25 25 3 4 5 6 VFJ/VEK
Ws 55 5 6 6.5 7 8.5 9 10.5 —_—
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)  Pull Stud Clamp
Model No. LL0360-TM[] LL0400-CTM[] LL0480-CTM[ LL0550-CTM[] LL0650-_TML] LL0750-CTM[J LL0900-CTM[ LL1050-CTMC FP
A 2Y+77.5 | 2Y476.5 | 2Y+87.5 | 2Y+86.5 | 2Y+94.5 [ 2Y493.5 | 2Y+102.5 [ 2Y+101.5 | 2Y+113.5 [ 2Y-+112.5 | 2Y+124.5 | 2Y4+123.5 | 2Y+145.5 | 2Y4+144.5 | 2Y+159.5 [ 2Y+158.5 FQ
Tr 25 30 35 40 45 50 62 72
ur 12 14 17 17 19 24 30 36 Customized
V1 16 20 24 28 32 35 46 54 Spring Cylinder
Wt 7.5 7.5 8.5 9 10 12 13 15 A
cB 14 17 19 21 24 29 345 4 DWA/DWB
CC (NominalxPitch) M10x1.25 M12X1.25 M14x1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

854



855

Linear CyI inder Air Sensing Piping Option (Top Flange)

@ External Dimensions

C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
% This drawing shows LL-CPN.

n

<

DA

@ Tip Shape

model LL-N ]

Refer to [P] Pin-Hole Option
for unlisted dimensions.

: Female Threaded

Hydraulic Port (Pull Side): G Thread *©
(Option -C only:Speed Control Valve Port)

Chamfer

K @w

¢

\

&),
D Ua

S
@
o5}

3

Width
U
Ta
§:
/!

Rod Diam.

@ i 2-G Thread Plug (Included) : Female Thread
@ (Option -C Only) Spot Facing ¢ Q (with Anti-Rotation Pinhole)
@ Hyd. Port (Push Side): G Thread *©
= (Option -C only:Speed Control Valve Port) 3
L_MA Sk () BVe .
T S : ! =
>Z / \  sRAD _ =y
Arrow View % of LL0360 > li@_l [
e of J@” g
— % In case o o
LLO650 : 12° BACH = : Male Threaded
< /é :
*15 %‘,{@Diam Lt = 1
(G) i % - } k=] 5
— ET [_'.. & =
= w
é f— $CB
‘ i < — 6D s
L
~ 1 1 i
. = +—
BFC Rc1/8 Thread AE-AF Bolt *2 < =]
Exte_nd-epd ) -
Arrow View % of LL0400 ~ L1050 | Confirmation Port (Air) Rod Diam,
In case of LLO400 : The view of
AF Bolt (3¢2) is diff t. - .. . .
olt (42)is differen @ Machining Dimensions of
Rc1/8 Thread

Bottom of LL0O360

Retract-end Confirmation Port (Air)

Hydraulic Port (Push Side):
0-ring (Included)

Air Vent Port *3

Hydraulic Port
(Pull Side) ¢ P*5
(Option-C)

>

=

Mounting Area

2
ydraulic Port

0-ring (Included)
(Option -C)

(Option -C)
0
2 U
4-M3X0.5 Bolt Z;li[- A
2-FF Thread”3 [
Hydraulic Port (Pull Side):

&

FE

Bottom of LL0400 ~ LL1050

2-FF Thread*3
4-M4X0.7 Bolt

Remove all burrs *5
6.35%5

H
(Push Side) ¢ P*5 /

(Option -C) Q
4-EA Thread*4 K

Refer to the right drawing (LL0400 ~
LL1050) for unlisted dimensions.

@ Push/Pull Confirmation Port Phase s The drawings show LL0400 ~ LL1050.

N:Standard Phase

@ Piping Method
S Rc Thread Piping Option
%The drawing shows LL-SPN.

Hydraulic Port (Pull Side):

Rc Thread

Hydraulic Port (Push Side): 7=

Rc Thread

Y A Ha
(o »»7 dimension 'S".

- %5

l S X6

. The machining dimension is for -C : Gasket option.
. Speed control valve is not provided. Please refer to P.947.
. Please refer to P.857, P.858 for Air Sensing Chart.

. Mounting bolts are not provided. Please prepare them according to the mounting height referring to dimension 'S".
. The size and number of AF bolt vary depending on the model.
. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.
If exposed to coolant, use FF thread and install an attachment to prevent contamination, but do not block
the air vent port.
. EA tapping depth of the mounting bolt should be decided according to the mounting height referring to



Linear Cylinder
Digest

Index
Features

Model No.
Indication

App. Examples/
Stroke Chart

Performance
Curve

LL

External Dimensions

LLR

LLU

Cautions

P.913

(Y xKeSMEK

Harmony in Innovation

. . High-Power
@ Specifications Series
Model No. LL0360-CICNCIC) | LL0400-CIINCI | LL0480-C0NCIC [ LL0550-C0NCIC [ LL0650-0DNCI [ LL0750-00NC | LL0900-CONCI [ LL1050-0CNE. AT
Full Stroke Y mm Y:15~50 Y:15~75
Clinder Area ez | Push Side 40 4.8 73 8.8 15.1 222 348 48.7
Y o e 25 28 49 58 11.0 16.7 264 344 Hydraulic Series
Cylinder Force Push Side PX0.40 PX0.48 PX0.73 PX0.88 PX1.51 PX2.22 PX3.48 PXx4.87
(Calculation Formula) ety S PX0.25 PX0.28 PX0.49 Px0.58 PX1.10 PX1.67 PX2.64 PX3.44 Valve / Coupler
Cylinder Capacity | Push Side YX0.40 Yx0.48 Yx0.73 Yx0.88 YX151 Yx2.22 Yx3.48 Yx4.87 HydrauleUnE
(Calculation Formula) €™ | feifsct, YX0.25 YX0.28 YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44
Cylinder Inner Diameter  mm $24 $26 $32 635 $45 55 $68 $80 M | Operation
Rod Diameter mm ¢16 ¢18 $20 $22 ¢25 30 $35.5 ¢45 Accessories
Air Sensing Area Rod Diameter mm ¢8 @10 P14
Max. Operating Pressure  MPa 7.0 Cautions / Others
Min. Operating Pressure  MPa 0.5
Withstanding Pressure  MPa 10.5
Recommended Operating Air Pressure 7 MPa 0.2 Hole Clamp
Recommended Air Catch Sensor *7 ISA3-G (Made by SMC) / GPS3-E (Made by CKD) SFA
Operating Temperature C 0~70 SFC
Weight kg| 08~14 | 09~15 | 12~26 | 15~32 | 22~40 | 32~54 48~75 6.4~94
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) SwingClamp
%7.The number of connected cylinders should be no more than 4 per air catch sensor. t:é
. . - . . . LHS
@ External Dimensions and Machining Dimensions for Mounting L
o | . LG/LT
[P]: Pin-Hole Option (Ex) LL0360-0PNOT-020 [ Y=20, A=107.5, E=53, F=28, FA=39.5, FB=18.5 ] (mm) LA
Model No. LL0360-CPNCO | LLO400-OPNOD | LL0480-OPNOD | LLO550-OPNCD | LLO650-OPNCO | LLO750-OPNOC | LLO900-OPNCD | LL1050-0PNCC T8
Full Stroke Y 15~50 15~50 15~75 15~75 15~75 15~75 15~75 15~75
A 2Y+67.5 2Y+76.5 2Y+80.5 2Y+86.5 2Y+96.5 2Y+107.5 2Y+1205 2Y+1335 TLA-T
B 49 54 61 69 81 2 107 122 )
C 40 45 51 60 70 80 9% 110 Link Clamp
D 36 40 48 55 65 75 20 105 LKA
E Y433 Y436 Y438 Y+41 Y+47 Y453 Y+62 Y+66 LKC
F Y48 Y411 Y410 Y+13 Y417 Y416 Y422 Y421
G 25 25 28 28 30 37 40 45 LKW
H 29 315 355 39 46 52 595 67 LJ/LM
J 20 225 255 30 35 40 475 55 TMA-2
K 314 34 40 47 55 63 75 88 AL
L 66 73 83 88 106 116 136 152 -
M 11 11 2 12 13 16 16 17 Work s )
Nx 235 26 30 335 395 45 525 60 Workoupport
Ny 8 9 11 12 15 16 185 225 LD
P 3 3 3 3 5 5 5 5 Lc
Q 75 95 95 1 11 14 175 20 e
R 45 55 55 6.8 6.8 9 1 14
S 16 14 15.5 13 15.5 175 16.5 17.5 TC
T 15 19 21 24 28 33 37 46 ) )
U 6 8 10 11 13 16 19 22 Air Sensing
v 6 8 9 10 12 14 16 21 Lift Cylinder
w 75 95 10.5 12 14 17 19 23 LLW
Chamfer Q a a a ca cs5 C6 c6 -
AB 12 15 17 19 22 27 32 42 Linear Cylinder /
AC 6 +8.0|Z 8+8.015 8+g.015 10+g.0|5 12+8.O|5 144—8.018 16 +g.018 2o+gDZ| Compact Cylind
AD 6 8 9 10 2 14 16 21
AE 5 4 6 4 6 6 8 10
AF (Nominal X Pitch) M3X0.5 M4x0.7 M4x0.7 M5%0.8 M5X0.8 M6x1 M6x1 M6X1 LLR
DA 35 35 35 35 45 45 45 45 LLU
DB 14 14 14 14 19 19 22 22 P
EA (NominalXPitch) M4x0.7 M5%0.8 M5x0.8 M6X1 M6X1 M8x1.25 MI10X1.5 MI12x1.75
FA Y4195 Y4215 DR
FB Y-1.5 Y43 DS
FC 355 38 45 45 45 53 53 53 oT
FD 16.5 18 215 215 215 255 255 255
FE 25 29 29 29 29 38 38 38 Block Cylinder
FF (NominalxPitchXDepth) M3X0.5%6 M3X0.5X6 M3X0.5%6 M3X0.5X6 M3X0.5%6 M4X0.7X7 M4X0.7X7 M4xX0.7X7 _——
dchauiic port-0RtioN-C G1/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8 _DBA/DBC
v Option-S Rcl/8 Rcl/8 Rcl/8 Rcl/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8
0-ring 1BP5 1BP5 1BPS 1BP5 1BP7 1BP7 1BP7 18P7 Centering Vise
FVA
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) FVD
Model No. LL0360-0ANCID | LL0400-CANCO | LL0480-0ANCD | LL0550-JANCC | LL0650-DANCD | LLO750-DANCD | LL0900-DANCD | LL1050-0ANCD FVC
AA 2Y+61.5 2Y+67.5 2Y470.5 2Y+74.5 2Y+81.5 2Y+89.5 2Y+99.5 2Y+105.5
Ta 9 10 1 12 13 15 16 18 Control Valve
Ua 12 13 14 17 19 24 30 36 BZL
Wa 75 7.5 8.5 9 10 12 13 15 BZT
BB 14 15 17 19 22 27 33 42 BZX/JZG
BC (NominalxPitchxDepth) | M6X1x12 M8%1.25X16 M8X1.25%X16 M10X1.5X20 | MI2X1.75X24 M16X2x32 M20X2.5X40 M24X3X48 BZS
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) Pallet Clamp
Model No. LL0360-0BNCD | LL0400-0BNDD | LL0480-0BNDD | LL0550-0BNC | LL0650-0BNCCD | LLO750-0BNC | LL0900-CBNCC | LL1050-0BNLI VST
Ve 2 25 25 25 3 4 5 6 Expansion
Ws 5.5 5 6 6.5 7 8.5 9 10.5 Locating Pin
VFL/VEM
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) VFJ/VFK
Model No. LL0360-CTNCC | LL0400-CTNOD | LL0480-OTNOD | LLO550-CTNCC | LL0650-CTNCCD | LLO750-CTNCOD | LLO900-CTNCOD | LL1050-CTNCD
Ar 2Y+77.5 2Y+87.5 2Y+94.5 2Y+102.5 2Y+113.5 2Y+124.5 2Y+145.5 2Y+159.5 Pull Stud Clamp
Tr 25 30 35 40 45 50 62 72 FP
Ur 12 14 17 17 19 24 30 36 FQ
Vr 16 20 24 28 32 35 46 54 _
Wr 75 75 8.5 9 10 12 13 15 gus_mmc'zf_dd
B 14 17 19 2 24 29 345 2 opringtyfinder
CC (Nominal X Pitch) M10X1.25 M12x1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5 _DWA/DWB

856



857

Linear Cylinder Air Sensing Chart model LL-M[]/N[]

@© Air Sensing Option (Action Confirmation Method: - -MJ : Air Sensing Manifold Option / N[ : Air Sensing Piping Option)

g Action Confirmation Method : MC/NCJ

Action confirmation can be conducted by detecting Applicable Model - A M 6
differntial pressure with the air catch sensor connected to LL 048 O - H ? N - 050
push-side confirmation port and pull-side confirmation port. € P D@ [ Full Stroke

Air Sensor Port Phase Symbol Q t Push Side Detection Distance :

Refer to the external dimensions (P.855) Specify the distance in Tmm increments
(Standard Phase : Blank) within the range of 1~6mm.

(Example) : Push Side Detection Distance=Tmm

[6] : Push Side Detection Distance=6mm
[ About Air Catch Sensor

The air catch sensor is necessary to confirm the piston rod action.

Recommended Operating Air Pressure : 0.2 MPa

Recommended Air Catch Sensor

Manufacturer SMC CKD
Name Air Catch Sensor Gap Switch
Model No. ISA3-G GPS3-E

In order to carry out stabilized detection, the number of clamps connected per air catch sensor should be no more than 4.
The air pressure to the air catch sensor should be 0.2MPa.
Refer to the drawing below for the air circuit structure.

Air Catch Sensor

Push-side Confirmation I:l
§ @ S5um

......

Pull-side Confirmation :
B 0.2MPa

(Recommended)

[ Notes for Use and Installation

@ Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.

fE_,....i
D
%

Hi

The air sensor can malfunction if the air vent port is blocked.

@ In case of M[J : Manifold Model, apply adequate amounts of grease on O-ring of the manifold before mounting.
The O-ring can be twisted or damaged when in a dry state. If too much grease is applied, the air catch sensor
can malfunction due to overflow grease blocking the detection port.



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘K.SMEK

Harmony in Innovation

High-Power
[ Air Sensing Chart Series

Number directly connected to clamp: 1 Pneumatic Series

i Hydraulic Series
(Supply Air Pressure)

Valve /Coupler
Air Catch Sensor Set Pressure (ON)*2

P

=2
=)
o

ssure for Detection

_ Hydraulic Unit

Manual Operation
Accessories

‘ Differential Pre:

Cautions / Others

Pressure when

Pull-side Air Pressure Detected (MPa)
Nozzle Opened

. . Hole Clam
Air Sensor L/ Air Sensor P

0 (Push Side) 7~ (Pull Side) SFAL
SFC

O

Pressure when Nozzle Closed

1£05 %1

Swing Clamp
LHA
LHC

T Air Vent Port3 LHS
LHW
¥ et

JAirVentingW A2

Push End Full Stroke Pull End

e -
NN N

—

TLB-2
TLA-1

Push Side Detection Distance £0.5 %1

\—‘ (Supply Air Pressure)

— Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

o
C
w
>

Piston Rod

o
[N}

Air Catch Sensor Set Pressure (ON)*2

Differential Pressure for Detection

Pressure when
Nozzle Opened

Work Support

Push-side Air Pressure Detected (MPa)

Pressure when Nozzle Closed

0 Air Sensing
Lift Cylinder

Notes : LLwW

1. The sensing chart shows the relationship between the cylinder stroke and detection circuit pressure.
2. The detection pressure varies depending on the number of cylinders connected per circuit. (Maximum number of cylinders connected : 4) compact Cylindar
3. The features may vary depending on the air circuit structure. Please contact us for further information.
% 1. There is certain tolerance with regard to the position where the pressure for fully closing the detection nozzle is reached depending on
the cylinder structure. (Refer to the sensing chart.)
%2. The location of a signal from air sensor output varies depending on the sensor setting.
%3. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.

Block Cylinder

DBA/DBC
Number directly connected to cylinder : 4 (for reference)
Centering Vise

FVA

Pull side (Supply Air Pressure) Push side (Supply Air Pressure) AL
/— /—

FVC
0.2 0.2

Control Valve
BZL
BZT
BZX/JZG

BZS

Air Catch Sensor Set Pressure (ON)*2 Air Catch Sensor Set Pressure (ON)*2

Pallet Clamp
VS/VT

Pull-side Air Pressure Detected (MPa)
Push-side Air Pressure Detected (MPa)

Expansion
Locating Pin

%05 %1 Push Side Detection Distance 05 *1 _VFL/VIM
VFJ/VFK

o
o

Full Stroke Full Stroke

Pull Stud Clamp
Push End Pull End Push End Pull End —
FQ

Customized
Spring Cylinder
DWA/DWB

858



Air Sensing Manifold Option for Retract End

Linear Cylinder  (topFiange (112)

@ External Dimensions

C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
% This drawing shows LL-CPRM.

DA B
Hydraulic Port (Pull Side): G Thread *7 H J

(Option -C only:Speed Control Valve Port) T Chamfer

>] N < -

o o 2 ) 183
> ) £>
= 4

2-G Thread Plug (Included) K @w

(Option -C Only) Spot Facing#Q
Hydraulic Port (Push Side): G Thread *7
(Option -C only:Speed Control Valve Port)
= P
8.8 (i)
> & ) L o
3 oAB)
= T
ﬁ -
— % In case of b
LLO650 : 12° EL’ A =,
% ~=
B L' Rod Diam,| *:-r+*
O =
<| w
; -01
w $D g
dlﬁ'u 'Ib,, \_AE-AF Bolt:2
5 Zf | =5\ Retract-end
- = Confirmation Port

859

(Air)

i %3
BFEr” 885 Air Vent Port

q~
2-O-ring

Made by NOK (Included)
(Air Sensing Area)

Hydraulic Port (Push Side): Nx_ 4FS Bolt

O-ring (Included)
(Option -C)

3}
i

F

.
}

Nyq‘Ny

Hydraulic Port (Pull Side):
O-ring (Included)

(Option -C)

© Piping Method

S Rc Thread Piping Option
% The drawing shows LL-SPRM.

Notes :

Hydraulic Port (Pull Side):
Rc Thread

&i‘;:@

\
Y

(
\&

Rc Thread

Hydraulic Port (Push Side):?l:f@

LL0360~0400: Full Stroke 15~50mm

LL0480~1050: Full Stroke 15~75mm

Hydraulic Port
(Pull Side) ¢ P*5
(Option -C)

Hydraulic Port =

(Push Side) ¢ P*5
(Option -C)
4-EA Thread*4

model

LL-RM

@ Machining Dimensions of Mounting Area

K
Remove all burrs *5
6.35%5 C06 ‘
d) D‘+8.3
X +0.039 51
;; 30 ¢ FEHg I e
30° %| ©
[Ny
7o) /l FJ‘( Remove all burrs %
0 RO.4 or less A (Hole Tolerance Area)
[e)} _— ¥
RO.45
g 30° & =\ 04~06
1S g \ A .
5 @ FF Air Vent Port *3
~
Through Hole Machining | Blind Hole Machining

Aa

Rod Diam.

8

[T]: Male Threaded

=
i
=
S S
) s>

Tr
V1

At
B

Rod Diam,

% 5. The machining dimension is for -C : Gasket option.

% 6. The dimensions indicate those under the flange.

% 7. Speed control valve is not provided. Please refer to P.947.
1. Please refer to P.867, P.868 for Air Sensing Chart.

© Tip Shape Referto [P] Pin-Hole Option for unlisted dimensions.
[A]: Female Threaded

[B]: Female Thread (with Anti-Rotation Pinhole)

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S'.

% 2. The size and number of AF bolt vary depending on the model.

% 3. Please keep clear condition at the air vent port, and prevent coolant and
chips from entering the port.

% 4. EA tapping depth of the mounting bolt should be decided according to
the mounting height referring to dimension 'S".



External Dimensions
LLR

Model No.
Indication

Cautions
P.913

Performance
Curve

Index
Features

Linear Cylinder
Digest

App. Examples/
Stroke Chart

([ K@SMEK

Harmony in Innovation

LL LLU

o . High-Power
@ Specifications Series
Model No. LL0360-0CRM | LL0400-CCRM | LL0480-CCRM | LL0550-00RM | LLO650-CCRM | LLO750-00RM | LLO900-CCRM | LL1050-CCRM o ic Series
Full Stroke Y mm Y:15~50 Y:15~75 )
Cylinder Area  cm2 Eii?ide 4.5 53 8.0 9.6 15.9 23.8 36.3 50.3 -
mh) Side 2.5 2.8 49 5.8 11.0 16.7 26.4 344 Hydraulic Seri
Cylinder Force Push Side PXx0.45 PX0.53 PX0.80 PXx0.96 PX1.59 PXx2.38 PX3.63 PX5.03
(Calculation Formula) XN e e PX0.25 PX0.28 PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44 Vel @
Cylinder Capacity Push Side Yx0.45 Yx0.53 Y%0.80 Yx0.96 Yx1.59 Yx2.38 Yx3.63 YX5.03 Hydraulic Unit
(Calculation Formula) ™ [etect Yx0.25 Yx0.28 Yx0.49 Y%0.58 YX1.10 YX1.67 Y%2.64 Yx3.44
Cylinder Inner Diameter mm 624 $26 $32 ¢35 $45 55 668 680 M | Operation
Rod Diameter mm 16 $18 $20 $22 ¢25 $30 $35.5 945 Accessories
Air Sensing Area Rod Diameter mm o4
Max. Operating Pressure ~ MPa 7.0 Cautions / Others
Min. Operating Pressure MPa 1.0
Withstanding Pressure MPa 10.5
Recommended Operating Air Pressure MPa 0.2 Hole Clamp
Recommended Air Catch Sensor ISA3-G (Made by SMC) / GPS3-E (Made by CKD) SFA
Operating Temperature C 0~70
Weight kg, 07~09 | 08~10 | 12~18 | 15~23 | 21~33 | 30~43 | 45~63 | 61~82 SFe
P Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) Swing Clamp
LHA
LHC
@ External Dimensions and Machining Dimensions for Mounting LHS
LHW
[P]: Pin-Hole Option (Ex) LL0360-PRM-020 [ Y=20, A=88, E=53, F=28, FH=38.5, F}=50, FK=28.5] (mm) LOLT
Model No. LL0360-CPRM | LLO400-CIPRM | LL0480-CIPRM | LLO550-CJPRM | LL0650-CJPRM | LLO750-LIPRM | LL0900-CIPRM | LL1050-CIPRM TLA-2
Full Stroke Y 15~50 15~50 15~75 15~75 15~75 15~75 15~75 15~75 TLB-2
A Y+68 Y+75 Y+79 Y+85 Y+95 Y+106 Y+119 Y+132 TLA
B 49 54 61 69 81 92 107 122
C 40 45 51 60 70 80 95 110 Link Clamp
D 36 40 48 55 65 75 90 105
E Y433 Y+36 Y438 Y+41 Y+47 Y453 Y+62 Y+66 LKA
F Y+8 Y+11 Y+10 Y+13 Y+17 Y+16 Y+22 Y+21 LKC
G 25 25 28 28 30 37 40 45 LKW
H 29 315 355 39 46 52 59.5 67
] 20 225 25.5 30 35 40 475 55 LJ/LM
K 314 34 40 47 55 63 75 88 TMA-2
L 66 73 83 88 106 116 136 152 TMA-1
M n 1 12 12 13 16 16 17
Nx 235 26 30 335 395 45 525 60 Work Support
Ny 8 9 1 12 15 16 18.5 22.5 Ll)i
P 3 3 3 3 5 5 5 5
Q 7.5 9.5 9.5 11 1 14 17.5 20 LC
R 45 55 55 6.8 6.8 9 11 14 NG
S 16 14 15.5 13 15.5 17.5 16.5 17.5 TC
T 15 19 21 24 28 33 37 46
U 6 8 10 11 13 16 19 22 . .
v 6 8 9 10 12 14 16 21 fi'f’tscey';;zgr
w 7.5 95 10.5 12 14 17 19 23
Chamfer Q [&] a a3 4 cs5 c6 c6 LLW
AB 12 15 17 19 22 27 32 42
AC 63072 g+201s 8+2015 1090 123018 jl4500E 16+30%8 207397 Linear Cylinder /
AD 6 8 9 10 12 14 16 21
AE 5 4 6 4 6 6 8 10
AF (Nominal X Pitch) M3X0.5 M4x0.7 M4x0.7 M5X%0.8 M5X%0.8 M6X1 M6X1 M6X1 LLR
DA 35 35 35 35 45 45 45 45
DB 14 14 14 14 19 19 22 22 LLU
EA (Nominal X Pitch) M4x0.7 M5X%0.8 M5X%0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 DP
FE 345 345 45 45 45 45 45 45 DR
[HF 35.7 35.7 46.2 46.2 46.2 46.2 46.2 46.2
FH Y+18.5 Y4215 Y420.5 Y4235 Y+27.5 Y4265 Y4325 Y431.5 DS
B Y+30 Y+33 Y+32 Y+35 Y+39 Y+38 Y+44 Y+43 DT
FK Y+8.5 Y+11.5 Y+10.5 Y+13.5 Y+17.5 Y+16.5 Y+22.5 Y+21.5
FS (Nominal X Pitch) M3X0.5 M3X0.5 M4X0.7 M4X0.7 M4X0.7 M4X0.7 M4x0.7 M4X0.7 Block Cylinder
Hydraulicport |-0Pton-C G1/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8 DBA/DBC
| Option-S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl1/4 Rc3/8 Rc3/8 -
O-r?ng (H)./draulic.PortArea) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Centering Vise
O-ring (Air Sensing Area) CO0524A(S31.5) CO0524A(S31.5) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542)
FVA
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) FVD
Model No. LL0360-CJARM LL0400-[JARM LL0480-[JARM LLO550-[JARM LL0650-[JARM LLO750-[JARM LL0900-[JARM LL1050-[JARM Fve
Aa Y+62 Y+66 Y+69 Y473 Y+80 Y+88 Y+98 Y+104 Control Valve
Ta 9 10 n 12 13 15 16 18 BZL
Ua 12 13 14 17 19 24 30 36 BZT
Wa 7.5 75 8.5 9 10 12 13 15 TBIXZG
BB 14 15 17 19 22 27 33 42 —
BC (NominalXPitchX Depth) M6X1X12 M8X1.25X16 M8X1.25X16 M10X1.5X20 M12X1.75X24 M16X2X32 M20X2.5X40 M24X3X48 825
Pallet Clamp
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) VS/VT
Model No. LL0360-C1BRM | LLO400-[1BRM | LL0480-CBRM | LL0550-C/BRM | LL0650-C1BRM | LLO750-C1BRM | LL0900-CIBRM | LL1050-C1BRM Expansion
Ve 2 25 2.5 25 3 4 5 6 Locating Pin
Ws 55 5 6 6.5 7 8.5 9 10.5 VEL/VEM
VFJ/VFK
5 Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) pull Stud Clam
Model No. LL0360-CJTRM | LLO400-LITRM | LL0480-LJTRM | LLO550-LJTRM | LL0650-L]TRM | LLO750-CJTRM | LL0900-CITRM | LL1050-CJTRM Fpip
Ar Y+78 Y+86 Y+93 Y+101 Y4112 Y4123 Y+144 Y4158
T 25 30 35 40 45 50 62 72 FQ
Ur 12 14 17 17 19 24 30 36 Customized
Vr 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 DWA/DWB
CB 14 17 19 21 24 29 345 42 -
CC (NominalxPitch) M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

860



Linear Cylinder  (topFiange) 212

@ External Dimensions

C: Gasket Option (with G Thread Plug) [P]: Pin-Hole Option

% This drawing indicates LL-CPRM.

Air Sensing Manifold Option for Retract End

DA B
Hydraulic Port (Pull Side): G Thread *7 H o)
(Option -C only:Speed Control Valve Port) T Chamfer
¢
u@@ @)
5] S 2\ -
o oz o ® léo
> ey )/ % = =
Zi/Ei» PN
o9 | @

e M
2-G Thread Plug (Included) K 4-¢pR

(Option -C Only)

Hydraulic Port (Push Side): G Thread *7

(Option -C only:Speed Control Valve Port)

861

Spot Facing Q

= .
E S an
T3 ) L\ sap
= ¢ AB \
g |
[ * In case of i
LL0650 :12° pACw
*15° L-_ Rod D|am i
U] ? X
U ;
< L) PR |
—5| ol
w e
?’It'__d'ﬁ!\ AE-AF Bolt2
S ZK | =3\ Retract-end
[ oo Confirmation Port

S
2-O-ring

(Air)
Air Vent Port*3

¢ FE§0%
Made by NOK (Included)
(Air Sensing Area)
Nx 4-FS Bolt

Hydraulic Port (Push Side):
O-ring (Included)

(Option -C)

3}
i

F

Nyq‘Ny

Hydraulic Port (Pull Side):
O-ring (Included)

(Option -C)

.
}

© Piping Method

S Rc Thread Piping Option
%The drawing shows LL-SPRM.

Hydraulic Port (Pull Side):

&f‘;:@@ﬁ

Rc Thread L
@) T NNy
Y\ ¥

(&

Rc Thread

Hydraulic Port (Push Sid )'7TE: @¥ ®
ydraullC For us 1ae). L—.—A—-@ @

Notes :
¥ 1.

LL0360~0400: Full Stroke 51~100mm

LL0480~1050: Full Stroke 76~200mm

Hydraulic Port
(Pull Side) ¢ P*5
(Option -C)

Hydraulic Port =

Remove all burrs *5

(Push Side) ¢ P*5
(Option -C)
4-EA Thread*4 K

model

LL-RM

@ Machining Dimensions of Mounting Area

6.35%5 C06 ‘
l
d) D+8.3
T il g
;’- . & FEngt0039 % g
' 30° %] &
[Ny
7o) /l FJ‘( Remove all burrs %
0 RO.4 or less A (Hole Tolerance Area)
[e)} _— ¥
R0.45]
g 30° & =\ 04~06
€ g \ A .
5 @ FF Air Vent Port *3
~
Through Hole Machining | Blind Hole Machining

© Tip Shape Referto [P] Pin-Hole Option for unlisted dimensions.

[A]: Female Threaded

Aa

Rod Diam.

[B]: Female Thread (with Anti-Rotation Pinhole)

[T]: Male Threaded

8

=

?”

Ut

&

Width

¢ CB

At
Tr

V1

W

Rod Diam.

the mounting height referring to dimension 'S'.

2.
% 3.

from entering the port.

% 4.

The size and number of AF bolt vary depending on the model.
Please keep clear condition at the air vent port, and prevent coolant and chips

the mounting height referring to dimension 'S".

% 5.
% 6.
x7.

The machining dimension is for -C : Gasket option.
The dimensions indicate those under the flange.
Speed control valve is not provided. Please refer to P.947.

1. Please refer to P.867, P.868 for Air Sensing Chart.

Mounting bolts are not provided. Please prepare them according to

EA tapping depth of the mounting bolt should be decided according to



External Dimensions
LLR

Model No.
Indication

Cautions
P.913

Performance
Curve

Index
Features

Linear Cylinder
Digest

App. Examples/
Stroke Chart

([ K@SMEK

Harmony in Innovation

LL LLU

o . High-Power
@ Specifications Series
Model No. LL0360-[IC/RM ‘ LL0400-[/[/RM | LL0480-[][IRM ‘ LLO550-C/CIRM ‘ LL0650-[ICJRM ‘ LL0750-[][JRM | LL0O900-[ICIRM ‘ LL1050-(]CIRM o ic Series
Full Stroke Y mm Y:51~100 Y:76 ~ 200 g
Cylinder Area  cm2 I;ush Side 4.5 53 8.0 9.6 15.9 23.8 36.3 50.3
Fali Side 2.5 2.8 49 5.8 11.0 16.7 26.4 344 Hydraulic Seri
Cylinder Force Push Side PX0.45 PX0.53 Px0.80 PX0.96 PX1.59 PXx2.38 PX3.63 PX5.03
(Calculation Formula) XN e e PX0.25 PX0.28 Px0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44 VAl e) (connier
Cylinder Capacity Push Side Yx0.45 YX0.53 Y%0.80 Yx0.96 Yx1.59 YX2.38 YX3.63 YX5.03 Hydraulic Unit
(Calculation Formula) ™ [Btiact Yx0.25 Yx0.28 Yx0.49 Y%0.58 YX1.10 YX1.67 Yx2.64 Yx3.44
Cylinder Inner Diameter mm 624 $26 $32 ¢35 $45 55 668 680 M | Operation
Rod Diameter mm ¢16 18 $20 $22 $25 $30 $35.5 b 45 Accessories
Air Sensing Area Rod Diameter mm o4
Max. Operating Pressure ~ MPa 7.0 Cautions / Others
Min. Operating Pressure MPa 1.0
Withstanding Pressure MPa 10.5
Recommended Operating Air Pressure MPa 0.2 Hole Clamp
Recommended Air Catch Sensor ISA3-G (Made by SMC) / GPS3-E (Made by CKD) SFA
Operating Temperature C 0~70
Weight kg 10~13 | 11~15 | 19~32 [ 25~43 | 34~56 | 46~73 | 67~103 | 92~132 SFe
P Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) Swing Clamp
LHA
LHC
@ External Dimensions and Machining Dimensions for Mounting LHS
LHW
[P]: Pin-Hole Option (Ex) LLO360-CPRM-070 [ Y=70, A=153, E=118, F=93, FH=103.5, FJ=115, FK=935 ] (mm) LG/LT
Model No. LL0360-[]PRM LL0400-[JPRM LL0480-[]PRM LL0550-C]PRM LL0650-[]PRM LL0750-(JPRM LL0900-[JPRM LL1050-CJPRM TLA-2
Full Stroke Y 51~100 51~100 76~200 76~200 76~200 76~200 76~200 76~200 TLB-2
A Y+83 Y+90 Y+96 Y+101 Y+111 Y+127 Y+141 Y+158 TLAA
B 49 54 61 69 81 2 107 122
c 40 45 51 60 70 80 95 110 Link Clamp
D 36 40 48 55 65 75 90 105
E Y+48 Y451 Y+55 Y457 Y+63 Y+74 Y+84 Y+92 LKA
F Y+23 Y+26 Y+27 Y+29 Y+33 Y+37 Y+44 Y+47 LKC
G 25 25 28 28 30 37 40 45 LKW
H 29 31.5 35.5 39 46 52 59.5 67 e
J 20 25 255 30 35 40 475 55 _unm
K 314 34 40 47 55 63 75 88 TMA-2
L 66 73 83 88 106 116 136 152 TMA-1
M 1 1 12 12 13 16 16 17
Nx 23.5 26 30 33.5 39.5 45 52.5 60 Work Support
Ny 8 9 1 12 15 16 18.5 225 0
P 3 3 3 3 5 5 5 5
Q 7.5 9.5 9.5 11 11 14 17.5 20 LC
R 4.5 5.5 5.5 6.8 6.8 9 1 14 TNC
S 16 14 15.5 13 15.5 17.5 16.5 17.5 TC
T 15 19 21 24 28 33 37 46
v : 5 5 10 » 14 16 n AirSensing
w 75 95 105 12 14 17 19 23 Lift Cylinder
Chamfer Q a a a c4 cs c6 c6 LLW
AB 12 15 17 19 22 27 32 42
AC 6 +g.olz 8+8.0|5 8+g.ol5 10 +g.ms 12 +g.ms 14 +8.ma 16+g.ms 20 +g.02| Linear Cylinder /
AD 6 8 9 10 12 14 16 21
AE 5 4 6 4 6 6 8 10
AF (Nominal X Pitch) M3x0.5 M4x0.7 M4x0.7 M5%0.8 M5%0.8 M6X1 M6X1 M6X1 LLR
DA 3.5 3.5 3.5 35 4.5 4.5 4.5 4.5
DB 14 14 14 14 19 19 2 22 LLU
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5X0.8 M6X1 M6X1 M8x1.25 M10X1.5 M12X1.75 DP
FE 34.5 34.5 45 45 45 45 45 45 DR
[HF 35.7 357 46.2 46.2 46.2 46.2 46.2 46.2
FH Y4335 Y+36.5 Y+37.5 Y+39.5 Y+43.5 Y+47.5 Y+54.5 Y+57.5 DS
FJ Y+45 Y+48 Y+49 Y+51 Y+55 Y+59 Y+66 Y+69 DT
FK Y423.5 Y+26.5 Y+27.5 Y429.5 Y+33.5 Y+37.5 Y+44.5 Y+47.5
FS (Nominal X Pitch) M3X0.5 M3X0.5 M4X0.7 M4X0.7 M4X0.7 M4x0.7 M4X0.7 M4X0.7 Block Cylinder
Hydraulic Port \ OptionfC G1/8 G1/8 G1/8 G1/8 G1/4 Gl1/4 G3/8 G3/8 DBA/DBC
| Option-S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 —
O-ring (Hydraulic Port Area) 1BPS 1BP5 1BPS 1BPS 1BP7 18P7 1BP7 1BP7 Centering Vise
O-ring (Air Sensing Area) CO0524A(S31.5) CO0524A(S31.5) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542) CO0533A(542)
FVA
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) FVD
Model No. LL0360-JARM LL0400-CJARM LL0480-[JARM LLO550-CJARM LL0650-JARM LLO750-CJARM LL0900-CJARM LL1050-CJARM Fve
A Y477 Y+81 Y+86 Y+89 Y+96 Y+109 Y+120 Y+130 Control Valve
Ta 9 10 n 12 13 15 16 18 BZL
Un 12 13 14 17 19 24 30 36 BZT
Wa 7.5 7.5 8.5 9 10 12 13 15 W
BB 14 15 17 19 22 27 33 2 —
BC (Nominal XPitch X Depth) M6X1X12 M8%1.25%X16 M8%1.25%16 M10X1.5%20 M12X1.75X 24 M16X2x32 M20%2.5X40 M24X3X48 BZ5
Pallet Clamp
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) VS/VT
Model No. LL0360-CJBRM | LL0400-CJBRM | LL0480-CJBRM | LL0550-CJBRM | LL0650-CJBRM | LLO750-CJBRM | LL0900-CJBRM | LL1050-CJBRM Expansion
Ve 2 25 25 25 3 4 5 6 Locating Pin
Ws 55 5 6 6.5 7 8.5 9 10.5 VEL/VEM
VFJ/VFK
5 Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) pull Stud Clam
Model No. LL0360-CJTRM | LLO400-CTRM | LL0480-CJTRM | LLO550-CJTRM | LL0650-CJTRM | LLO750-CJTRM | LL0900-CJTRM | LL1050-CJTRM Fpip
At Y+93 Y+101 Y+110 Y4117 Y+128 Y+144 Y+166 Y+184
Tr 25 30 35 40 45 50 62 72 FQ
Ut 12 14 17 17 19 24 30 36 Customized
Vr 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 DWA/DWB
CB 14 17 19 21 24 29 345 ) -
CC (NominalxPitch) M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20x1.5 M24x1.5 M30%1.5 M36x1.5

862



. . Air Sensing Piping Option for Retract End LL0360~0400: Full Stroke 15~50mm
Linear Cyllnder (Top Flange) (1/2) LL0480-1050:Full stroke 15-75mm ~ model LL-RN

@© External Dimensions @© Machining Dimensions of Mounting Area
C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option Nx
%This drawing shows LL-CPRN. I(-l%(?{g?ldh;) ngxs
DA B (Option -C) @ 3
Hydraulic Port (Pull Side): G Thread *© H e J
(Option -C only:Speed Control Valve Port) T Chamfer =

dh

=
@ Hydraulic Port
(Push Side) @ P*5 ) : v
(Option-C)
4-EA Thread*4 K

2-G Thread Plug (Included) K 4-¢R Remove all burrs %5
(Option -C Only) Spot Facing ¢ Q 6.35%5 \ 06

==

0
U-01

Width

Ny_ Ny_

Hydraulic Port (Push Side): G Thread *® il
(Option -C only:Speed Control Valve Port) N i ¢D *8'3
o) R |
ge% ] |
>|Z { \ seAD !
S ¢ AB
= ﬁﬁ -
> H Refer to [P] Pin-Hole Option
— % In case of Jj% & ACHr ;7 ©T|p Shape for unlisted dimensions.
LL0650 :12° V
5] _— = [A]: Female Threaded
r:,_.?k Rod Diam, | -4-+ —
© ; 5 (8 35
S ; :
< e =
s _ $BB BC
. — #D%) _ 1
B =S
- 1 < Rod Diam.
~ = AE-AF Bolt *2
o
\ Egh [B]: Female Thread (with Anti-Rotation Pinhole)

Rc1/8 Thread Air Vent Port #3
o FC Retract-end @3
Confirmation Port (Air)
¢V

Arrow View %

In case of LL0O360/LL0400 :
The view of AF Bolt (3¢2) is different. Nx . 4-FS Bolt

<L1 2-M3X0.5 Thread Depth 63

Hydraulic Port (Push Side): O-ring (Included) :

(Option -C)
[T]: Male Threaded
Z>\ ey
g% o an g.:)_
Hydraulic Port (Pull Side): O-ring (Included)
A 9 8B,

(Option -C)
@ Push/Pull Confirmation Port Phase sn case of LL0360 / LL0400: Standard Phase Only. =
=

RN:Standard Phase RNR £
Rod Diam.
© Piping Method Notes :
. - X % 1. Mounting bolts are not provided.
S * RcThread P|pmg opt|0n Please prepare them according to the mounting height referring to dimension 'S".
*The drawing shows LL-SPRN. % 2. The size and number of AF bolt vary depending on the model.

% 3. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.
If exposed to coolant, use M3 X 0.5 thread and install an attachment to prevent contamination, but do
not block the air vent port.

% 4. EA tapping depth of the mounting bolt should be decided according to the mounting height
referring to dimension 'S'.

% 5. The machining dimension is for -C : Gasket option.

% 6. Speed control valve is not provided. Please refer to P.947.

1. Please refer to P.867, P.868 for Air Sensing Chart.

Hydraulic Port (Pull Side):
Rc Thread

Hydraulic Port (Push Side):
Rc Thread

863



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘ l(H‘.’mcgnm,E(!(
o . High-Power
@ Specifications Series
Model No. LL0360-CJ0RN | LL0400-0CRN | LL0480-CIORN | LL0550-CI0RN | LL0O650-0CRN | LLO750-0CRN | LL0900-CICIRN | LL1050-C0RN
Full Stroke Y mm Y:15~50 Y:15~75 EneumaticSeries
GylinderArea  cme P Sice 45 53 8 26 15.9 23.8 36.3 50.3
(Pulh ide 25 28 49 5.8 11 16.7 264 344
Cylinder Force Push Side PX0.45 Px0.53 PX0.80 PX0.96 PX1.59 PX2.38 PX3.63 PX5.03
(Calculation Formula) KN [t Px0.25 Px0.28 PX0.49 Px0.58 PX1.10 PX1.67 PX2.64 PX3.44
Gylinder Capacity PushSide | Yx0.45 YX0.53 Y0.80 Y%0.96 YX1.59 Yx2.38 YX3.63 YX5.03 LIy
(Calculation Formula) <™ [fEact Yx0.25 Yx0.28 Yx0.49 Y%0.58 Yx1.10 Yx1.67 YX2.64 Yx3.44 prer U
Cylinder Inner Diameter  mm ¢24 $26 $32 ¢35 ¢45 $55 $68 ¢80 M 1 Operation
Rod Diameter mm 616 618 $20 622 625 630 $35.5 645 -
Air Sensing Area Rod Diameter mm ¢4
Max. Operating Pressure  MPa 7.0 Cautions / Others
Min. Operating Pressure  MPa 1.0
Withstanding Pressure MPa 10.5
Recommended Operating Air Pressure MPa 0.2 Hole Clam
Recommended Air Catch Sensor ISA3-G (Made by SMC) / GPS3-E (Made by CKD) L
Operating Temperature °C 0~70 SFA
Weight kg| 07~09 | o08~10 | 12~18 | 15~23 | 21~33 | 30~43 | 45~63 | 61~82 SFC
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) Swing Clamp
LHA
@ External Dimensions and Machining Dimensions for Mounting e
[P]: Pin-Hole Option (Ex.) LLO360-0PRN-020 [ Y=20, A=88, E=53, F=281 (mm) LHS
Model No. LL0360-CIPRN | LL0400-[IPRN | LL0480-CIPRN | LL0550-C1PRN | LL0650-CIPRN | LLO750-JPRN | LL0900-CIPRN | LL1050-C1PRN LHW
Full Stroke Y 15 ~ 50 15 ~50 15~75 15 ~ 75 15~75 15~75 15 ~75 15~75 LG/LT
A Y+68 Y+75 Y+79 Y+85 Y495 Y+106 Y+119 Y+132 TLA-2
B 49 54 61 69 81 92 107 122 TLB-2
C 40 45 51 60 70 80 95 110 TLA-1
D 36 40 48 55 65 75 90 105 _
E Y433 Y436 Y438 Y+41 Y+47 Y453 Y+62 Y+66 Link Clamp
F Y+8 Y+11 Y+10 Y+13 Y417 Y+16 Y+22 Y421 LKA
G 25 25 28 28 30 37 40 45 LKC
H 29 31.5 35.5 39 46 52 59.5 67 LKW
J 20 225 255 30 35 40 475 55 LI/LM
K 314 34 40 47 55 63 75 88 TMA-2
L 66 73 83 88 106 116 136 152 TMA-1
M 1 1 12 12 13 16 16 17
Nx 235 26 30 335 395 45 52,5 60 Work Support
Ny 8 9 1 12 15 16 18.5 22.5 LD
P 3 3 3 3 5 5 5 5 LC
Q 7.5 9.5 95 n 11 14 175 20 NG
R 45 5.5 55 6.8 6.8 9 1 14 TC
S 16 14 15.5 13 15.5 175 16.5 175
T 15 19 21 24 28 33 37 46 Air Sensing
U 6 8 10 11 13 16 19 22 Lift Cylinder
Vv 6 8 9 10 12 14 16 21 LLW
W 75 9.5 10.5 12 14 17 19 23 Linear Cylinder
Chamfer (@) a a3 a3 C4 cs5 6 c6
AB 12 15 17 19 22 27 32 42
AC 6 +8.01Z 8+8.015 8+8,015 10 +g.015 12+8.018 14+8018 16+g.018 20+8021
AD 6 8 9 10 12 14 16 21 LLR
AE 5 4 6 4 6 6 8 10 LLU
AF (Nominal X Pitch) M3x0.5 M4x0.7 M4x0.7 M5x0.8 M5x%0.8 M6X 1 M6X 1 M6X 1 oP
DA 35 35 35 3.5 4.5 45 45 45 DR
DB 14 14 14 14 19 19 22 22 DS
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5%0.8 M6X 1 M6X 1 M8x1.25 M10X1.5 M12X1.75 DT
FC 355 35.5 45 45 45 45 45 45 _
FD 165 16.5 215 215 215 215 215 215 Block Cylinder
FE 25 25 29 29 29 29 29 29 _DBA/DBC
FS (Nominal X Pitch) M3x0.5 M3%0.5 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7 o
Hydraulic Port | Option-C G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 Centering Vise
| Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 FVA
0O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 FVD
FVC
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (MM)  ontrol Valve
Model No. LL0360-CJARN | LL0400-CJARN | LL0480-CJARN | LL0550-C]ARN | LL0O650-CJARN | LLO750-CJARN | LL0900-CJARN | LL1050-CJARN 7L
An Y+62 Y+66 Y+69 Y473 Y+80 Y+88 Y+98 Y+104 e
Ta 9 10 11 12 13 15 16 18 T
Ua 12 13 14 17 19 24 30 36 Riuls
Wa 7.5 75 8.5 9 10 12 13 15 BZ5
BB 14 15 17 19 22 27 33 42 Pallet Clamp
BC (NominalXPitchxDepth) | M6X1x12 | M8x1.25X16 | M8X1.25x16 | M10X1.5X20 | M12X1.75X24 | M16X2X32 | M20X2.5X40 | M24x3x48 VT
(BJ: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)  Expansion
Model No. LL0360-C1BRN | LL0400-[IBRN | LL0480-C1BRN | LL0550-C1BRN | LL0650-CIBRN | LL0750-CIBRN | LL0900-CIBRN | LL1050-CIBRN  Locating Pin
Vs 2 2.5 2.5 2.5 3 4 5 6 VEL/VFM
Ws 55 5 6 6.5 7 8.5 9 10.5 TVEIVFK
5 Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) pull stud Clam
Model No. LL0360-CITRN | LL0400-CJTRN | LL0480-CITRN | LL0O550-CITRN | LL0650-CJTRN | LL0750-CJTRN | LL0O900-CITRN | LL1050-CITRN Fpip
At Y+78 Y+86 Y+93 Y+101 Y+112 Y+123 Y+144 Y+158
Tr 25 30 35 40 45 50 62 72 FQ
Ur 12 14 17 17 19 24 30 36 Customized
V1 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 75 7.5 8.5 9 10 12 13 15 T DWA/DWB
(B 14 17 19 21 24 29 345 42 .
CC (Nominal X Pitch) | M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

864



Air Sensing Piping Option for Retract End LL0360~0400: Full Stroke 51~100mm
model LL-RN

Linear CY| inder (Top Flange) (2/2) LL0480~1050: Full Stroke 76~200mm
© External Dimensions @© Machining Dimensions of Mounting Area
C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option Nx
%This drawing shows LL-CPRN. I{éﬁ{g?’dlg ngxs
DA B (Option -C) @ @ 3
Hydraulic Port (Pull Side): G Thread ¢ H e
(Option - C only:Speed Control Valve Port) T Chamfer Z o
=
Hydraulic Port
2 (Push Side) @ P*5 ) @ v
= So5 (Option -C)
Ul x $ 25 .
= = 4-EA Thread*4 K

2-G Thread Plug (Included) K 4-6R Remove all burrs %5
(Gption -C Only) Spot Facing¢Q 63555 \ 06

Hydraulic Port (Push Side): G Thread *©

(Option - C only:Speed Control Valve Port) e ‘ ‘ ‘ ® D+8.3
g 4 B |
g4 B
~|2 / ‘ AD
= i AB ) s \
= %‘*ﬂ
> . )
. \ H Refer to [P] Pin-Hole Option
- & anLéZSS%O:f] 5 J]% dACH = @ Ti P Sha pe for unlisted dimensions.
w15 _/%j VLA : Female Threaded
o [T el .
1N % s J
217 L | n € -é:)
77‘ ‘ P B—B/ BC
<« W« — #D0!
-02
L - < <$ 1=
™ [ —— sm— '_I = I #
< Rod Diam.
Eil AE-AFBolt*2 [B]: Female Thread (with Anti-Rotation Pinhole)
O+ |7

o FC Rc1/8 Thread Air Vent Port *3 @3
¢V

Retract-end

Arrow View % Confirmation Port (Air)
In case of LL0360/LL0400 : Nx 4-FS Bolt
The view of AF Bolt (3%2) is different. D = M3 X 0.5 Thread Depth 653
<—;l - .5 Thread Depth 6%
Hydraulic Port (Push Side): O-ring (Included) :
(Option -C) —iVa
: Male Threaded
>
=
e [ N &5
=

Hydraulic Port (Pull Side): O-ring (Included)

‘ ¢ CB
(Option -C) CC
@ Push/Pull Confirmation Port Phase sn case of LL0360 / LL0400: Standard Phase Only. g .
=

Vr

RN:Standard Phase RNR £
|
Rod Diam.
Piping Method Notes -
@ .p 9 o . % 1. Mounting bolts are not provided.
S : Rc Thread Piping Option Please prepare them according to the mounting height referring to dimension 'S'.
%The drawing shows LL-SPRN. % 2. The size and number of AF bolt vary depending on the model.

% 3. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.
If exposed to coolant, use M3X 0.5 thread and install an attachment to prevent contamination, but do
not block the air vent port.

% 4. EA tapping depth of the mounting bolt should be decided according to the mounting height
referring to dimension 'S".

% 5. The machining dimension is for -C : Gasket option.

% 6. Speed control valve is not provided. Please refer to P.947.

1. Please refer to P.867, P.868 for Air Sensing Chart.

Hydraulic Port (Pull Side):
Rc Thread

Hydraulic Port (Push Side):
Rc Thread

865



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ ‘ l(H‘.’mcgnm,E(!(
o . High-Power
@ Specifications e
Model No. LL0360-00RN | LL0400-C0RN | LL0480-0CRN | LL0550-C0RN | LL0650-00RN | LLO750-00RN | LL0900-0CRN | LL1050-C0RN
Full Stroke Y mm Y:51~ 100 Y76 ~ 200 Pneumatic Series
GylinderArea  cme P Sice 45 53 8 926 15.9 23.8 36.3 50.3
{oui e 2.5 2.8 49 5.8 11 16.7 26.4 344
Cylinder Force Push Side PX0.45 Px0.53 PX0.80 PX0.96 PX1.59 Px2.38 PX3.63 PX5.03
(Calculation Formula) KN [t PX0.25 PX0.28 PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44
Gylinder Capacity PushSide | Yx0.45 YX0.53 Y0.80 Y%0.96 YX1.59 Yx2.38 YX3.63 YX5.03 LIy
(Calculation Formula) <™ [fEact Yx0.25 Yx0.28 Yx0.49 Y%0.58 Yx1.10 Yx1.67 YX2.64 Yx3.44 prer U
Cylinder Inner Diameter  mm ¢24 $26 $32 ¢35 ®45 $55 $68 ¢80 M 1 Operation
Rod Diameter mm 616 618 $20 622 625 630 $35.5 645 -
Air Sensing Area Rod Diameter mm ¢4
Max. Operating Pressure  MPa 7.0 Cautions / Others
Min. Operating Pressure  MPa 1.0
Withstanding Pressure MPa 10.5
Recommended Operating Air Pressure MPa 0.2 Hole Clam
Recommended Air Catch Sensor ISA3-G (Made by SMC) / GPS3-E (Made by CKD) L
Operating Temperature °C 0~70 SFA
Weight kg| 10~13 | 11~15 | 19~32 | 25~43 | 34~56 | 46~73 | 67~103 | 92~132 SFC
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) Swing Clamp
LHA
@ External Dimensions and Machining Dimensions for Mounting e
[P]: Pin-Hole Option (Ex) LLO360-TPRN-070 [ Y=70, A=153, E=118, F=03 ] (mm) LHS
Model No. LL0360-CIPRN | LL0400-[IPRN | LL0480-CIPRN | LL0550-C1PRN | LL0650-CIPRN | LL0750-JPRN | LL0900-CIPRN | LL1050-C1PRN LHW
Full Stroke Y 51~100 51~100 76~200 76~200 76~200 76~200 76 ~200 76~200 LG/LT
A Y+83 Y+90 Y+96 Y4101 Y4111 Y+127 Y4141 Y4158 TLA-2
B 49 54 61 69 81 92 107 122 TLB-2
C 40 45 51 60 70 80 95 110 TLA-1
D 36 40 48 55 65 75 90 105 _
E Y+48 Y451 Y455 Y457 Y+63 Y+74 Y+84 Y+92 Link Clamp
F Y423 Y+26 Y427 Y429 Y433 Y+37 Y+44 Y+47 LKA
G 25 25 28 28 30 37 40 45 LKC
H 29 31.5 35.5 39 46 52 59.5 67 LKW
J 20 225 25.5 30 35 40 475 55 LI/LM
K 314 34 40 47 55 63 75 88 TMA-2
L 66 73 83 88 106 116 136 152 TMA-1
M 1 11 12 12 13 16 16 17
Nx 235 26 30 335 395 45 52.5 60 Work Support
Ny 8 9 11 12 15 16 18.5 22.5 LD
P 3 3 3 3 5 5 5 5 LC
Q 7.5 9.5 95 n 11 14 175 20 NG
R 45 55 55 6.8 6.8 9 i 14 TC
S 16 14 15.5 13 15.5 175 16.5 175
T 15 19 21 24 28 33 37 46 Air Sensing
U 6 8 10 11 13 16 19 22 Lift Cylinder
v 6 8 9 10 12 14 16 21 LLW
w 75 9.5 10.5 12 14 17 19 23 \ingar Cylindex)
Chamfer (@) a a3 a3 C4 cs5 c6 C6
AB 12 15 17 19 22 27 32 42
AC 6 +8.012 8+8.015 8+8.015 1 0+8.0W5 12 +g.018 14 +8.018 16 +8.018 20 +8.021
AD 6 8 9 10 12 14 16 21 LLR
AE 5 4 6 4 6 6 8 10 LLU
AF (Nominal X Pitch) M3x0.5 M4x0.7 M4x0.7 M5%0.8 M5x0.8 M6X 1 M6X 1 M6X 1 DP
DA 35 35 35 35 45 45 45 45 DR
DB 14 14 14 14 19 19 22 22 DS
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5x0.8 M6X 1 M6X 1 M8x1.25 M10X1.5 M12X1.75 DT
FC 355 355 45 45 45 45 45 45 _
FD 16.5 16.5 215 215 215 215 215 215 Block Cylinder
FE 25 25 29 29 29 29 29 29 _DBA/DBC
FS (Nominal X Pitch) M3x0.5 M3%0.5 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7 o
Hydraulic Port | Option-C G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 Centering Vise
| Option -S Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 FVA
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 FVD
FVC
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (MM)  ontrol Valve
Model No. LL0360-C1ARN | LL0400-CJARN | LL0480-CJARN | LL0550-CJARN | LL0650-CJARN | LLO750-CJARN | LL0O900-CIARN | LL1050-CJARN B7L
An Y477 Y+81 Y+86 Y+89 Y+96 Y4109 Y4120 Y+130 =
Ta 9 10 11 12 13 15 16 18 T
Ua 12 13 14 17 19 24 30 36 Riuls
Wa 7.5 7.5 8.5 9 10 12 13 15 BZ5
BB 14 15 17 19 22 27 33 42 Pallet Clamp
BC (NominalXPitchxDepth) | M6X1X12 | M8X1.25X16 | M8X1.25X16 | MI10X1.5X20 | M12X1.75X24 | M16X2X32 | M20X2.5X40 | M24X3x48 VT
(BJ: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)  Expansion
Model No. LL0360-CJBRN | LL0400-[JBRN | LL0480-CJBRN | LL0550-C1BRN | LL0650-CJBRN | LLO750-CJBRN | LL0900-CIBRN | LL1050-CJBRN  Locating Pin
Ve 2 2.5 2.5 2.5 3 4 5 6 VEL/VEM
Ws 55 5 6 6.5 7 8.5 9 10.5 TVEIVFK
5 Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) pull stud Clam
Model No. LL0360-CITRN | LL0O400-CJTRN | LL0480-CITRN | LL0550-CITRN | LL0650-CITRN | LL0750-CITRN | LLO900-CITRN | LL1050-CITRN Fpip
At Y+93 Y+101 Y+110 Y+117 Y+128 Y+144 Y+166 Y+184
Tr 25 30 35 40 45 50 62 72 FQ
Ur 12 14 17 17 19 24 30 36 Customized
Vr 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 75 75 85 9 10 12 13 15 T DWA/DWB
CB 14 17 19 21 24 29 345 Py) E—
CC (Nominal X Pitch) | M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X 1.5 M24X1.5 M30X1.5 M36X1.5

866



Linear Cylinder AirSensing Chart model LL-RM/RN
T

@© Air Sensing Option (Action Confirmation Method- - -RM : Air Sensing Manifold Option for Retract End / RN : Air Sensing Piping Option for Retract End)

. RM
Action confirmation of pull side can be conducted by Applicable Model - - [A1} o
detecting differntial pressure with the air catch sensor LL 048 O - BIIRNC - 050
. . gl T/ RNL
connected to pull-side confirmation port. Pl RNR Full Stroke

é Action Confirmation Method
: RM/RN/RNC/RNL/RNR

[ About Air Catch Sensor

The air catch sensor is necessary to confirm the piston rod action.

Recommended Operating Air Pressure : 0.2 MPa

Recommended Air Catch Sensor

Manufacturer SMC CKD
Name Air Catch Sensor Gap Switch
Model No. ISA3-G GPS3-E

The air pressure to the air catch sensor should be 0.2MPa.
Refer to the drawing below for the air circuit structure.

Air Catch Sensor

Pull-side Confirmation ] ! IEP 5”:m
) ) it <> """ ©
0.2MPa
(Recommended)

[ Notes for Use and Installation

@ Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port.
The air sensor can malfunction if the air vent port is blocked.

e pbled  pbied

Hi HA. H

@ Before mounting RM : Retract-end Manifold Option, apply adequate amounts of grease on O-ring of the manifold.
The O-ring can be twisted or damaged when in a dry state. If too much grease is applied, the air catch sensor
can malfunction due to overflow grease blocking the detection port.

867



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions

Digest Features Stroke Chart | Indication Curve LL LLR LLU P.913 ‘ {‘ K.SMEK

Harmony in Innovation

High-Power
[ Air Sensing Chart Series
Number directly connected to clamp: 1 EneumaticSeries
; Hydraulic Seri
Pull side (Supply Air Pressure)
g 0.2 v _ Valve / Coupler
E g 3 Hydraulic Unit
< @ S .
D y IS ] Manual Operation
é Air Catch Sensor Set Pressure (ON)#2 2 é Accessori:s
2 N
A e s T 2| = .
= 5 p s Cautions / Others
= & Q _g
2 S5 § e
= =R B 2 Hole CI
N é =1 § L/ Air Sensor N — Sa;?\p
0 Sy &~ Y~ (Pull Side)
SFC
+0.5%1
0.5%05 Swing Clamp
Full Strok LHA
Push End ull Stroke
. LHC
1/ T Air Vent Port3 LHS
- // alln — LHW
g /] i LG/LT
\/¥ 7/ M Il Alilrtentin #3 L —
// 9 TLB-2
TLA-1
Air sensor for retract position option LinkClamp
. : LKA
is detected on pull side only. Piston Rod ke
LKW
LJ/LM
Notes : TMA-2
1. The sensing chart shows the relationship between the cylinder stroke and detection circuit pressure. TMA-1

2. The features may vary depending on the air circuit structure. Please contact us for further information. Work Support
% 1. There is certain tolerance with regard to the position where the pressure for fully closing the detection nozzle is reached depending on T
the cylinder structure. (Refer to the sensing chart.) LC
%2. The location of a signal from air sensor output varies depending on the sensor setting. TNC
%3. Please keep clear condition at the air vent port, and prevent coolant and chips from entering the port. TC

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact C

LLR
LLU

[ (Reference) Outline Dimension Comparison of Air Sensing Option DR

/ Manifold dimension depends on full stroke. Block Cylinder

DBA/DBC
/ Manifold dimension is the same.

Centering Vise

FVA
*This drawing shows manifold option with air sensor. FVD
Stroke : Short Stroke : Long Stroke : Short Stroke : Long e

Control Valve

BZL
© O BT
BZX/JZG
© I @g I Bzs
> - Pallet Clamp
VS/VT
Expansion
Locating Pin
VFL/VEM
€ € VFJ/VFK
£ £
I - | S I - S LT 11
&5 s} Pull Stud Clamp
- e e © E ° E T
° o o
?‘g he) s = FQ
] L < <
= = =
= S Customized
= Spring Cylinder
DWA/DWB

868



Linear Cylinder Standard Model (Bottom Flange) (1/2)

@ External Dimensions

C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
%This drawing shows LLR-CP.

DA B
Hydraulic Port (Pull Side) : H J
0O-ring (Included) N
(Option -C) X Chamf
N amfer
1 © D
ZJQ I8% f\ .
Ol o [[awER\N 15
N \eamw/ ) E
= A o> %%
_( & 4-¢R
Hydraulic Port (Push Side) : Through Hole*1
0-ring (Included) K
(Option -C)
T 7
5|2 .
{|w Diameterof ;| |
~ E Mating Fit fs 7/ ¢ AB \ sRAD
~ B { >
FOBEl =y 30 f
=8~ —a AC
o= m 7 [9) H7 37
= [— :"jf.* Rod Diam. _
O ; %
2 1 «
<
w
#D %)
AE-AF Bolt*2

Hydraulic Port (Push Side): G Thread *©
(Option -C only:Speed Control Valve Port) @

&

Ny Ny

@4
D

2-G Thread Plug (Included)
(Option -C Only)

Hydraulic Port (Pull Side): G Thread *©
(Option -C only: Speed Control Valve Port)

© Piping Method

S : Rc Thread Piping Option
%The drawing shows LLR-SP.

Hydraulic Port (Pull Side):

Notes :
Rc Thread \ e @

©

Hydraulic Port (Push Side): o=
Rc Thread

©Tip Shape
[A]: Female Threaded

LLR0360~0400 : Full Stroke 1~50mm
LLR0480~1050 : Full Stroke 1~75mm

model LLR

@© Machining Dimensions of Mounting Area

6.35%4 C0.6
Remove all burrs *4

4-EA Thread*3 «
Hydraulic Port
(Push Side) ¢ P*4

A

I

@,

=l
Hydraulic Port
(Pull Side) ¢ P4
(Option -C)

A

- -

&

Refer to |E| Pin-Hole Option
for unlisted dimensions.

far)

D)
—

Anis

i
Rod Diam.

¢ Vs

[B]: Female Thread (with Anti-Rotation Pinhole)

[T]: Male Threaded

£
S - o =
s )
$CB cc
7
=
2 >
" [
< =
f ]
Rod Diam.

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S.
% 2. The size and number of AF bolt vary depending on the model.
% 3. EA tapping depth of the mounting bolt should be decided according to
the mounting height referring to dimension 'S'.
@ 3% 4. The machining dimension is for - C : Gasket option.
% 5. The drawing shows when offset is Omm.

[Dimensions of 35| = External Dimensions in the Table|+[Offset Size

(Ex.) LLRO360-JP-030-05

[ Offset Size=5, Y=30, A=78+5=83, T=15+5=20]

% 6. Speed control valve is not provided. Please refer to P.947.

869



Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLU P.913 ‘ ‘ l(H‘.’mcgnm,E(!(
o . High-Power
@ Specifications e
Model No. LLR0360-0C | LLR0400-000 | LLR0480-00 | LLR0550-00 | LLRO650-00 | LLR0750-0C | LLR0O900-00 | LLR1050-00 - e Series
Full Stroke Y mm Y:1~50 Y:1~75
linder A | Push Side 45 53 8 96 15.9 23.8 36.3 50.3 S
Inaer Area cm
4 e e 2.5 2.8 49 5.8 1.0 16.7 26.4 344
Cylinder Force  |PushSide| ~ Px0.45 Px0.53 PX0.80 Px0.96 PX1.59 Px2.38 Px3.63 PX5.03 Valve / Coupler
(Calcuation Formul) kN | finie | PX0.25 PX0.28 PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44 eleie Wil
Cylinder Capacity | Push Side YX0.45 Y%0.53 Y%0.80 Y%X0.96 YX1.59 YX2.38 YX3.63 YX5.03 M | Operation
(Calculaton Formuld) cm? | ety | Y%0.25 YX0.28 Y%0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44 Accessories
Cylinder Inner Diameter  mm ¢24 $26 $32 ¢35 ¢ 45 ®55 $68 ®80 R .
Rod Diameter mm @16 618 $20 $22 ¢25 »30 $35.5 @45
Max. Operating Pressure MPa 7.0
Min. Operating Pressure MPa 0.5 Hole Clamp
Withstanding Pressure  MPa 10.5 ;Eé
Operating Temperature °C 0~70
Weight kg| 06~08 | 07~09 | 10~16 | 13~21 | 19~31 28~41 43~61 59~80  SwnoClemp
LHA
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) LHC
i i ini i i H 3% Calculation formula is different between Full Stroke: Y=1-14 mm and Y= 15 mm or more. LHS
© External Dimensions and Machining Dimensions for Mounting @« fomiob ifeeribetesfuicke 1114 i
[P]: Pin-Hole Option LLR0360-[1P-030 [ Y=30, A=78, E=63, F=38] (mm) LG/LT
Model No. LLR0360-C1P | LLR0400-CIP | LLR0480-CIP | LLR0550-C1P | LLR0650-1P | LLRO750-C1P | LLR0900-CIP | LLR1050-C1P Itg;
Full Stroke Y 1~14 [15~50| 1~14 [15~50| 1~14 [15~75 1~14 [15~75| 1~14 [ 15~75| 1~14 [15~75 | 1~14 [15~75| 1~14 | 15~75 .
A5 63 | Y+48 | 70 | Y455 | 74 | Y+59 | 80 | Y465 | 90 | Y+75 | 101 | Y+86 | 114 | Y+99 | 127 | Y+112 TLA-1
B 49 55 62 69 81 923 108 122 Link Clamp
C 40 47 53 60 70 82 97 110 KA
D 36 40 48 55 65 75 90 105 ke
E 48 | Y433 | 51 [ v#36 | 53 [ Y+38 | 56 | Y+41 | 62 [ Y+47 | 68 | Y+53 | 77 [ Y+62 | 81 | Y+66
F 23 | Y+8 26 | Y1 25 | Y+10 | 28 | Y+13 | 32 | Y417 | 31 | YH6 | 37 | Y422 | 36 | Y421 LKW
G 25 25 28 28 30 37 40 45 LI/LM
H 29 315 35.5 39 46 52 59.5 67 TMA-2
J 20 235 26.5 30 35 4 485 55 TMA-1
K 314 36 4 47 55 64 76 88 Work Supoort
L 66 73 83 88 106 116 136 152 Jrorkoupport
M 11 11 12 12 13 16 16 17 LD
Nx 235 26 30 33,5 39.5 45 52.5 60 LC
Ny 8 9 1 12 15 16 18.5 225 TNC
P 3 3 3 3 5 5 5 5 TC
R 45 5.5 5.5 6.8 6.8 9 1 14 A Senin
s 21 21 2% 2% 2 32 35 39 Lift Cylinder
The Diameter of Mating Fit 237688 257888 287568 32 8% 38805 442885 50656 60-607% W
The Length of Mating Fit 4 4 4 4 4 5 5 6 —
T s 15 19 21 24 28 33 37 46 Linear Cylinder /
U 6 8 10 11 13 16 19 22 Compact Cylinder
v 6 8 9 10 12 14 16 21 LL
w 75 9.5 10.5 12 14 17 19 23 LLR
Chamfer Q Q a a c4 cs c6 c6 LU
AB 12 15 17 19 22 27 32 42 op
AC 6 +g,012 8 +8.0‘IS 8 +8,0‘IS 10+8.015 —|2+801B 14+301B 16+8.013 20+SDZ‘I DR
AD 6 8 9 10 12 14 16 21 s
AE 5 4 6 4 6 6 8 10
AF (Nominal X Pitch)|  M3X0.5 M4x0.7 M4x0.7 M5x0.8 M5%0.8 M6X 1 M6X 1 M6X 1 ot
DA 35 3.5 3.5 35 45 45 45 45 Block Cylinder
DB 14 14 14 14 19 19 22 22 T DBA/DBC
EA (Nominal X Pitch)|  M4x0.7 M5x0.8 M5%0.8 M6X 1 M6X 1 M8x1.25 M10X1.5 M12X1.75 R
vdraulic Port [ Option-C G1/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8 Centering Vise
/ | Option-S Rcl/8 Rcl/8 Rc1/8 Rcl/8 Rcl1/4 Rcl1/4 Rc3/8 Rc3/8 VA
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 o
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) Fvc
Model No. LLR0360-CJA | LLR0400-CJA | LLR0480-CJA | LLRO550-CJA | LLR0650-CJA | LLRO750-CJA | LLRO900-CIA | LLR1050-CIA -
A 57 | Y+42 | 61 | Y+46 | 64 | Y+49 | 68 | Y+53 | 75 | Y460 | 83 | Y+68 | 93 | Y478 | 99 | Y+84 =
Tas 9 10 11 12 13 15 16 18 B
Un 12 13 14 17 19 24 30 36 _BzT
Wa 75 75 8.5 9 10 12 13 15 BZX/)ZG
BB 14 15 17 19 22 27 33 42 BZS
BC (NominalxPitchxDepth) | M6X1X12 | M8X1.25X16 | M8X1.25X16 | MI0X1.5X20 | MI2X1.75X24 | M16X2x32 | M20X2.5x40 | M24X3x48 Pallet Clamp
. . ) . VS/VT
[BJ: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) _
Model No. LLR0360-C1B | LLR0400-C1B | LLR0480-C1B | LLR0550-C1B | LLR0650-C1B | LLR0750-C1B | LLR0900-C1B | LLR1050-C1B Egg:{;;“’gm
Ve 2 25 25 25 3 4 5 6 9
Ws 55 5 6 6.5 7 8.5 9 10.5 _VEL/VEM
VFJ/VFK
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) pull Stud C|
Model No. LLR0360-C1T | LLRO400-CJT | LLR0480-CJT | LLRO550-C0T | LLR0650-CIT | LLRO750-C0T | LLRO900-CIT | LLR1050-CIT . >eslamp
AT 73 | v+58 | 81 | v+66 | 88 | Y473 | 96 | v+81 | 107 | Y492 | 118 | Y4103 | 139 | V4124 | 153 | Y4138 Fp
Trs 25 30 35 40 45 50 62 72 FQ
ur 12 14 17 17 19 24 30 36 Customized
Vr 16 20 24 28 32 35 46 54 Spring Cylinder
Wr 75 7.5 8.5 9 10 12 13 15 T DWA/DWB
CB 14 17 19 21 24 29 345 42 —
CC (Nominal X Pitch) | M10x1.25 M12Xx1.25 M14X1.5 M16X1.5 M20X1.5 M24x1.5 M30X1.5 M36X1.5

870



Linear Cylinder Standard Model (Bottom Flange) (2/2)

@ External Dimen

C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option

sions

% This drawing shows LLR-CP.

LLR0480~1050 : Full Stroke 76~150mm model L L R

@© Machining Dimensions of Mounting Area

871

DA B
Hydraulic Port (Pull Side) : H J
0-ring (Included) Nx 6.35%4 0.6
(Option -C) Chamfer Remove all burrs *4
e
] @ @ @ @ 4-EA Thread*3
8E ‘ Hydraulic Port fiK ]
T ydraulic Por
S ////"\\\\ Ve £ - (Push Side) ¢ P4
Ul x i i & B 25 N a @
> — AZAN\ ) IANZ I e (Option -C) ‘ ‘
= m N %4 /\
=
=0 ® 1 ® “
4-¢R J
Hydraulic Port (Push Side) : Through Hole*1 Hydraulic Port
0-ring (Included) K p)[mrg:ldlec ¢c,)[>><4 @
(Option -C) N (Option -C) :
£ ()
§° § J L @ Tio Shape Refer to [P] Pin-Hole Option
= ,l\DAiar_netelB:r_ of ‘ ‘ sRAD p p for unlisted dimensions.
[y ating Fits AB .
Mg fte o8B [A]: Female Threaded
n| BE | >
=3 = e N ) i £
=] —" AC P ©
sE —1t L © > g3
= [— e Rod Diam _ BC
v E ¢ BB
jima
<
w %}
¢D8} E i
W Rod Diam.
i [B]: Female Thread (with Anti-Rotation Pinhole)
AE-AF Bolt*2 {
d Vs
Hydraulic Port (Push Side): G Thread *©
(Option - C only:Speed Control Valve Port))( G} @
% oy
> & [T]: Male Threaded
ol =
2-G Thread Plug (Included) T( @ @ )D g 5
(Option -C Only)
Hydraulic Port (Pull Side): G Thread *¢
(Option -C only:Speed Control Valve Port) ¢ CB CcC
Y
ol =
© Piping Method ol ¥
. . < £
S : Rc Thread Piping Option =
%The drawing shows LLR-SP. [ 1
Rod Diam.

Hydraulic Port (Pull Side):

Rc Thread \ S

Hydraulic Port (Push Side): /feest

Rc Thread

Notes :
% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S.
% 2. The size and number of AF bolt vary depending on the model.

D

AEZT/A

o ©

% 3. EA tapping depth of the mounting bolt should be decided according to
the mounting height referring to dimension 'S'.

3% 4. The machining dimension is for - C : Gasket option.

% 5. The drawing shows when offset is Omm.

[Dimensions of 35| = External Dimensions in the Table|+[Offset Size
(Ex.) LLRO480-[1P-100-05
[ Offset Size=5, Y=100, A=176+5=181, T=21+5=26 ]
% 6. Speed control valve is not provided. Please refer to P.947.




Linear Cylinder Index App. Examples/ | Model No. | Performance External Dimensions Cautions {
Digest Features Stroke Chart | Indication Curve LL LLU P.913 ‘ ‘ l(H‘.’mcgnm,Eol"(
e . High-Power
@ Specifications Series
Model No. LLR0480-[][] LLRO550-[1[] LLR0650-[1] LLR0O750-[1[] LLR0900-[][] LLR1050-[] Pneumatic Series
Full Stroke Y mm Y:76 ~ 150
Cylinder A ) Push Side 8.0 9.6 15.9 23.8 36.3 50.3
R 49 58 110 16.7 264 344
Cylinder Force __ |PushSide PX0.80 PX0.96 PX1.59 Px2.38 PX3.63 PX5.03 :a';'e f ﬁm:jp'i'
ydraulic Uni
(CalculationFormul) | o e PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44
Cylinder Capacity ~__ Pushsice Yx0.80 Yx0.96 YX1.59 Yx2.38 Yx3.63 Yx5.03 ranua' Operation
ccessories
(Calculation Formula) | (uige YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44
Cylinder Inner Diameter ~ mm ®32 ¢35 b45 55 $68 80 Cautions / Others
Rod Diameter mm $20 922 25 $30 $35.5 @45
i 7.0
Max. Operating Pressure MPa Hole Clamp
Min. Operating Pressure MPa 0.5 SFA
Withstanding Pressure  MPa 10.5 SFC
Operating Temperature  °C 0~70 Swing Clamp
Weight kg 17~23 | 23~31 |  32~41 |  44~53 65~76 90~98 A
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) LHC
LHS
. . .. . . . LHW
@ External Dimensions and Machining Dimensions for Mounting LG/LT
) . TLA-2
[P]: Pin-Hole Option (Ex.) LLRO480-CIP-100 [ Y=100, A=176, E=155, F=127 ] (mm) TLB-2
Model No. LLR0480-[1P LLRO550-[JP LLR0650-[]P LLR0750-(]P LLR0900-[1P LLR1050-(1P TLA
Full Stroke Y 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150
A Y476 Y+81 Y491 Y4107 Y+121 Y+138 Link Clamp
B 62 69 81 93 108 122 LKA
C 53 60 70 82 97 110 LKC
D 48 55 65 75 90 105 LKW
E Y455 Y+57 Y+63 Y474 Y+84 Y+92 O
F Y+27 Y+29 Y+33 Y+37 Y+44 Y+47 TMA-2
G 28 28 30 37 40 45 TMACT
H 35.5 39 46 52 59.5 67
J 265 30 35 4 485 55 Work Support
K 41 47 55 64 76 88 T S
L 83 88 106 116 136 152 Lc
M 12 12 13 16 16 17 NG
Nx 30 33.5 39.5 45 52.5 60 Tc
Ny 11 12 15 16 18.5 22.5
P 3 3 5 5 5 5 Air Sensing
R 5.5 6.8 6.8 9 n 14 Lift Cylinder
S 24 24 26 32 35 39 LLW
The Diameter of Mating Fit 287868 32 8% 38 86 44 885 50 “88 60 ~66%
The Length of Mating Fit 4 4 4 5 5 6
T#s 21 24 28 33 37 46 Compact Cylinder
u 10 1 13 16 19 22 LL
\ 9 10 12 14 16 21 LLR
W 10.5 12 14 17 19 23 LLU
Chamfer a3 a3 c4 [} c6 c6 DP
AB 17 19 22 27 32 42 DR
AC 8+8015 104-8015 12 +8m8 ]44—8018 16 +8018 204—8021 DS
AD 9 10 12 14 16 21 DT
AE 6 4 6 6 8 10
AF (Nominal X Pitch) M4x0.7 M5X0.8 M5x0.8 M6X1 M6X1 M6X1 Block Cylinder
DA 35 3.5 4.5 4.5 4.5 4.5 DBA/DBC
DB 14 14 19 19 22 22
EA (Nominal X Pitch) M5X0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 Centering Vise
. ‘ Option-C G1/8 G1/8 Gl1/4 Gl1/4 G3/8 G3/8 FVA
HydraulicPort a ion-s Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 VD
0-ring 1BP5 1BP5 18P7 1BP7 1BP7 18P7 Ve
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)  Control Valve
Model No. LLR0480-[JA LLR0550-C1A LLR0650-[JA LLR0750-C]A LLR0900-[]A LLR1050-(]A BZL
An #5 Y+66 Y+69 Y+76 Y+89 Y+100 Y+110 BZT
Ta * 1L 12 13 15 16 18 TBZX/JZG
Ua 14 17 19 24 30 36 “Bzs
Wa 8.5 9 10 12 13 15
BB 17 19 22 27 33 42 Pallet Clamp
BC (NominalXPitchXDepth) M8X1.25X16 M10X1.5X20 M12X1.75X24 M16X2X32 M20X2.5X40 M24X3X48 VS/VT
. : : o D E i
' Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) Léﬁ:ﬂ?ggm
Model No. LLR0480-(1B LLRO550-[B LLR0650-[1B LLR0750-[B LLR0900-[]B LLR1050-(1B VEL/VEM
Ve 25 25 3 4 5 6 VOV
Ws 6 6.5 7 8.5 9 10.5 .
. Pull Stud Clamp
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) e
Model No. LLR0480-1T LLRO550-C1T LLR0650-]T LLR0O750-1T LLR0900-(IT LLR1050-1T
AT #5 Y+90 Y+97 Y+108 Y+124 Y+146 Y+164 Fo
Tr %5 35 40 45 50 62 72 Customized
uUr 17 17 19 24 30 36 Spring Cylinder
Vr 24 28 32 35 46 54 DWA/DWB
Wr 8.5 9 10 12 13 15
CB 19 21 24 29 34.5 42
CC (Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

872



Compa ct Cylinder Double End Rod Option for Dog (Bottom Flange) model LLR-D

© External Dimensions @ Machining Dimensions of Mounting Area
C : Gasket Option (with G Thread Plug) [P]: Pin-Hole Option
% This drawing shows LLR-CPD. L }
DA B [ it
Hydraulic Port (Pull Side) : H J
O-ring (Included) Nx 6.35%4 C0.6
(Option -C) Chamfer Remove all burrs *4
V4
@ @ 4-EA Thread*3

o ] K
b DSE | / Hydraulic Port r‘—j
/ _ - i
Ihi (I I S5 (Push Side) ¢ P4 3

g > (Option -C) 4
T /1)
=

o S =
X 4-¢R \J
Hydraulic Port (Push Side) : K Through Hole*1 Hydraulic Port
0-ring (Included) (Pull Side) ¢ P4 o Eo3
(Option -C) (Option -C) ‘ N :
X

]
_—

Ny_ Ny

G 7™
e Loy
3ol 8 ‘ ‘ ‘ . Refer to [P] Pin-Hole Option
. ) Diameter of / i “\ sRAD ©T|p Shape for unlisted dimensions.
2 Mating Fitfs ~2AE [A]: Female Threaded
n| BE | >
B = 30 i £
28| — @ ACH7 D)
55— " = Q > gs
[ e .
S| e Rod Diam,
v [ i X ®BB s
$D5) 3 |
W Rod Diam.
i [B]: Female Thread (with Anti-Rotation Pinhole)
)
= |
- %2
P AE-AF Bolt €,
a _§ dFA
L2 dVs
> "
w co$ il
Hydraulic Port (Push Side): G Thread ¢
(Option -C only:Speed Control Valve Port) G} @ M
- - : Male Threaded
becencin <
=7 ) N —+M TS5
] N \, =
= oo
S 7 =] : FC
2-G Thread Plug (Included) < O | O = 6CB
(Option -C Only)
. Y
Hydraulic Port (Pull Side): G Thread *© Width IS
(Option -C only:Speed Control Valve Port) FB N =
- < =
© Piping Method

S Rc Thread Piping Option Rod Diam.
*The drawing shows LLR-SPD.

Notes :

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'S'.

% 2. The size and number of AF bolt vary depending on the model.

% 3. EA tapping depth of the mounting bolt should be decided according to
the mounting height referring to dimension 'S'.

3 4. The machining dimension is for -C : Gasket option.

% 5. The drawing shows when offset is Omm.
[Dimensions of 35| =[ External Dimensions in the Table|-+[Offset Size]
(Ex.) LLRO360-JPD-030-05

[ Offset Size=5, Y=30, A=118.5+5=123.5, T=15+5=20]
% 6. Speed control valve is not provided. Please refer to P.947.

Hydraulic Port (Pull Side):

Rc Thread \

Hydraulic Port (Push Side): fee-
Rc Thread

873



Linear Cylinder
Digest

Index
Features

App. Examples/
Stroke Chart

Model No.
Indication

Performance
Curve

LL

External Dimensions

LLU

P.913

Cautions

(Y xKeSMEK

Harmony in Innovation

e . High-Power
@ Specifications Series
Model No. LLR0360-000D | LLR0400-00D | LLR0480-00D | LLRO550-00D | LLRO650-000D | LLRO750-000D | LLRO900-CCD [ LLR1050-00D N
Full Stroke Y mm Y:1~50 Y:1~75
Gylinder Area  cm? Push ice 37 42 6.5 8.1 144 212 33.8 477 -
R e 25 2.8 49 5.8 11.0 16.7 26.4 344 Hydraulic Series
Cylinder Force Push Side PX0.37 PX0.42 PX0.65 PXx0.81 PXx1.44 Px2.12 Px3.38 Px4.77
(Calculation Formula) (ol Side PX0.25 Px0.28 PXx0.49 PXx0.58 PXx1.10 PX1.67 PXx2.64 Px3.44 Valve / Coupler
Cylinder Capacity Push Side YX0.37 YX0.42 YX0.65 YX0.81 YX1.44 YX2.12 YX3.38 YX4.77 Hydraulic Unit
(Calculation Formula) ™ | fitia<ty, Yx0.25 Yx0.28 YX0.49 Yx0.58 Yx1.10 YX1.67 Yx2.64 Yx3.44
Cylinder Inner Diameter  mm $24 $26 $32 ¢35 $45 $55 $68 $80 M | Operation
Rod Diameter mm 16 ¢18 $20 $22 $25 30 $35.5 45 Accessories
Max. Operating Pressure  MPa 7.0
Min. Operating Pressure  MPa 0.5 Cautions / Others
Withstanding Pressure MPa 10.5
Operating Temperature ~ °C 0~70
Weight kg 06~08 | 07~09 | 10~17 | 13~22 | 20~32 | 29~43 | 45~64 | 61~83 Hole Clamp
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) SFA
SFC
Swing Clamp
LHA
© External Dimensions and Machining Dimensions for Mounting s caicuition formuais ifferent between Full troke: Y=1-14 mm and Y= 15 mm or more, LHC
(Ex) LLR0360-LIPD-010[ Y=10, A=83.5, E=48, F=23 ] LHS
[PJ: Pin-Hole Option LLR0360-CIPD-030 [ Y=30, A=118.5, E=63, F=38] (mm) LHW
Model No. LLR0360-0PD | LLR0400-0PD | LLR0480-OPD | LLR0550-0PD | LLR0650-0PD | LLRO750-0PD | LLRO900-UPD | LLR1050-0PD LG/LT
Full Stroke Y 1~14 [ 15~50 | 1~14 | 15~50 | 1~14 [15~75 | 1~14 | 15~75 | 1~14 | 15~75 | 1~14 [15~75 | 1~14 [ 15~75 | 1~14 | 15~75 TLA-2
A Y4735 | 2Y458.5 | Y+80.5 | 2Y+65.5 | Y+84.5 | 2Y+69.5 | Y+90.5 | 2Y+75.5 | Y+100.5 | 2Y+85.5 | Y-+111.5 | 2Y+96.5 | Y-+124.5 | 2Y+109.5| Y+1375 |2Y+122.5 TLB-2
B 49 55 62 69 81 923 108 122 TLA-1
C 40 47 53 60 70 82 97 110 _
D 36 40 48 55 65 75 92 105 Link Clamp
E 48 [ v+33 | 51 | v436 | 53 | Y438 | 56 | Y+4l 62 | Y+47 | 68 | Y453 | 77 | v+62 | 81 | Y466 LKA
F 23 | v+8 26 | Y411 25 | v#0 | 28 | v#13 | 32 | vki7 | 31 | va6 | 37 | w422 | 36 | ve21 LKC
G 25 25 28 28 30 37 40 45 LKW
H 29 315 35.5 39 46 52 59.5 67 LI/LM
J 20 235 265 30 35 4 485 55 TMA-2
K 314 36 41 47 55 64 76 88 TMA-1
L 66 73 83 88 106 116 136 152
M 11 11 12 12 13 16 16 17 Work Support
NX 235 26 30 335 395 45 525 60 LD
Ny 8 9 11 12 15 16 18.5 225 LC
P 3 3 3 3 5 5 5 5 TNC
R 45 5.5 55 6.8 6.8 9 11 14 TC
S 21 21 24 24 26 32 35 39
The Diameter of Mate Fit 237098 252592 28998 32788 3820%% 447002 50 0% 609630 Air Sensing
The Length of Mate Fit 4 4 4 4 4 5 5 6 Lift Cylinder
T#S 15 19 21 24 28 33 37 46 LLW
U 6 8 10 1 13 16 19 22 Linear Cylinder /
v 6 8 9 10 12 14 16 21
w 75 95 10.5 12 14 17 19 23 TR
Chamfer Q Q a a c4 [ 6 6 LLR
AB 12 15 17 19 22 27 32 42
AC 6 +g.012 8 +8.015 8 +g.015 10 +g.015 12 +8.0TE 14 +8.01B 16 +8.018 20 +8.0ZW LLU
AD 6 8 9 10 12 14 16 21 op
AE 5 4 6 4 6 6 8 10 DR
AF (Nominal X Pitch) M3%0.5 M4x0.7 M4x0.7 M5x0.8 M5x0.8 M6X1 M6X1 M6X1 DS
DA 35 35 35 35 45 45 45 45 DT
DB 14 14 14 14 19 19 22 22 _
EA (Nominal X Pitch) M4x0.7 M5x0.8 M5xX0.8 M6X 1 M6X1 M8X1.25 M10X1.5 MI12X1.75 Block Gylinder
FA 10 12 14 14 14 18 18 18 _DBA/DBC
FB 8 10 12 12 12 16 16 16 Centering Vise
FC (NominalXPitchxDepth) | M5x0.8x 12 M6X1x15 M8x1.25X18 | M8x1.25x18 | M8x1.25%18 | MI10X15%21 M10X1.5X21 M10X1.5X21
HydraulcPort | Option -C G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 FVA
| Option -S Rc1/8 Rc1/8 Rcl/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 FVD
0-ring 1BPS 1BP5 1BP5 1BPS 1BP7 1BP7 1BP7 1BP7 FvC
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm)  Control Valve
Model No. LLR0360-TAD | LLR0400-CAD | LLR0480-JAD | LLR0550-TJAD | LLR0650-TJAD | LLRO750-TAD | LLR0900-DAD | LLR1050-CAD BZL
Anis Y4675 | 2Y452.5 | Y4715 | 2Y45655 | Y+74.5 | 24595 | Y+78.5 |2Y+63.5| Y+85.5 | 2Y470.5 | Y+93.5 | 2Y+78.5 | Y+103.5 | 2¥+88.5 | Y+109.5 | 2¥+94.5 BZT
Ta*> 9 10 1 12 13 15 16 18 BZX/JZG
Un 12 13 14 17 19 24 30 36 8zs
Wa 75 75 85 9 10 12 13 15
BB 14 15 17 19 22 27 33 2 Pallet Clamp
BC (NominalxPitchxDepth) | M6X1x12 M8X1.25X16 | M8X1.25x16 | MI0X1.5X20 | MI2X1.75X24 M16X2x32 M20X2.5X40 M24X3X48 VS/VT
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)  Expansion
Model No. LLR0360-0BD | LLR0400-BD | LLR0480-0BD | LLR0550-0BD | LLR0650-0BD | LLR0750-0BD | LLR0900-0JBD | LLR1050-[1BD Locating Pin
Ve 2 25 2.5 2.5 3 4 5 6 VFL/VEM
Ws 55 5 6 6.5 7 8.5 9 10.5 VFJ/VFK
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) by stud Clamp
Model No. LLR0360-1TD | LLRO400-0TD | LLR0480-0TD | LLRO550-0TD | LLR0650-0TD | LLRO750-0TD | LLR0900-OTD | LLR1050-0TD .,
Ar#s Y+83.5 [2Y468.5 Y+915 | 2Y476.5 | Y+98.5 |2Y+83.5| Y+106.5 | 2Y+91.5 | Y+117.5 [2Y4102.5| Y+128.5 [ 2Y4113.5 | Y+1495 [2V4134.5 V41635 [2Y4148.5 o
TS 25 30 35 40 45 50 62 72
Ur 12 14 17 17 19 24 30 36 Customized
vr 16 20 2% 28 32 35 46 54 Spring Cylinder
Wr 7.5 7.5 8.5 9 10 12 13 15 DWA/DWB
cB 14 17 19 21 24 29 345 Iy
CC (Nominal X Pitch) M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

874



. . LLU0360~0400: Full Stroke 1~50mm
Linear Cyl | nder Standard Model (Bottom Flange (Compact)) (1/2) LLU0480~1050 : Full Stroke 1~75mm model LLU

@© External Dimensions @© Machining Dimensions of Mounting Area

G : Gasket Option [P]: Pin-Hole Option
% This drawing shows LLU-GP.

Hydraulic Port (Pull Side) : 77% P—
0-ring (Included)

635 C0.6

Remove all burrs

Hydraulic Port
(Pull Side) ¢ P

Ny
I § ! 4-EA Drill Through

>
e

Hydraulic Port (Push Side
O-ring (Included)

):

>
=

Hydraulic Port -

p= 7™ (Push Side) P '
v ! i N
3|3 ] ] S
2 A AD
E [ ops )
- |
2 > : Refer to [P] Pin-Hole Option
e —— OAC 37 ©T|p Shape for unlisted dimensions.
J— i H7 .
JL = [A]: Female Threaded
|
Rod Diam. li
o |7 Ly % Q)- £ <
E PL-o2 = §D
w BC
BB
éD (—de
- o« << -
H S
1 & s B
<
<
Rod Diam.

AE-AF Bolt*2
: Female Thread (with Anti-Rotation Pinhole)

(,

¢ Vs

Ws

%

i

[T]: Male Threaded

=
8B
7
—
2 =
o =
ol
<<
Rod Diam.

Notes :
% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'Q".
% 2. The size and number of AF bolt vary depending on the model.
% 3. The drawing shows when offset is Omm.
[Dimensions of %3] =|External Dimensions in the Table|+[Offset Size]
(Ex.) LLU0360-GP-030-05 [ Offset Size=5, Y=30, A=78+5=83, T=15+5=201

875



i i External Dimensions i
st | Features | Suoke Chart | maication || cove | LL wo | Sen | ((YK@SMEK
@ Specifications e
Model No. LLU0360-G[] | LLU0400-G[] | LLU0480-G[] | LLU0550-G[] | LLU0650-G[] | LLU0750-G[] | LLU0900-G[] | LLU1050-G[] . NP
Full Stroke Y mm Y:1~50 Y:1~75
‘ Push Side 45 53 80 96 159 238 36.3 50.3
Cylinder Area cm? getract Hydraulic Series
et e 25 28 49 58 10 16.7 264 344
Cylinder Force Push Side PX0.45 PX0.53 PX0.80 PX0.96 PX1.59 PXx2.38 PX3.63 PX5.03 Valve / Coupler
(Calculation Formula) | Fetia<t PX0.25 PX0.28 PX0.49 PX0.58 PX1.10 PX167 PX2.64 PX344 Hydraulic Unit
Ginder Capacty | PushSide | Yx045 YX0.53 Y080 Yx096 ¥YX1.59 Yx2.38 Y363 YX5.03 Manual Operation
Clebtionfornul) | et Yx025 Yx0.28 YX049 YX0.58 YX110 YX1.67 YX2.64 YX3.44 Accessories
Cylinder Inner Diameter  mm $24 026 032 35 b45 55 $68 $80
" Cautions / Others
Rod Diameter mm 016 ¢18 620 ¢22 @25 630 $35.5 45
Max. Operating Pressure MPa 7.0
Min. Operating Pressure MPa 0.5 Hole Clamp
Withstanding Pressure  MPa 10.5 SFA
Operating Temperature °C 0~70 o
Weight kg| 06~08 | 07~09 | 10~16 | 13~21 | 19~31 28~41 43~61 59~80  SwingClamp
P Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) t:é
@ External Dimensions and Machining Dimensions for Mounting % Calculation formula is different between Full Stroke: Y=1-14 mm and Y= 15 mm or more. t:sv
(Ex) LLU0360-GP-010 [ Y=10, A=63, E=48, F=23 ]
[P]: Pin-Hole Option LLU0360-GP-030  Y=30, A=78, E=63, F=38] (mm) LG/LT
Model No. LLU0360-GP | LLU0400-GP | LLU0480-GP | LLU0550-GP | LLU0650-GP | LLU0750-GP | LLU0900-GP | LLU1050-GP Rg;
Full Stroke Y 1~14 |15~50 1~14 [15~50| 1~14 [15~75| 1~14 [15~75| 1~14 |15~75| 1~14 |[15~75| 1~14 |15~75| 1~14 |15~75 TLA-1
A*3 63 Y+48 70 Y+55 74 Y+59 80 Y+65 90 Y+75 101 Y+86 114 | Y+99 127 | Y+112 Link Clamp
D 36 40 48 55 65 75 90 105 e
E 48 Y+33 51 Y+36 53 Y+38 56 Y+41 62 Y+47 68 Y+53 77 Y+62 81 Y+66 LKC
F 23 Y+8 26 Y+11 25 Y+10 28 Y+13 32 Y+17 31 Y+16 37 Y+22 36 Y+21 LKW
G 25 25 28 28 30 37 40 45 LJ/LM
Kx 23 2 27 30 36 42 54 65 o
Ky 30 32 36 40 48 56 64 65 -
L 45 48 53 60 70 83 100 116 %
N 17 18 20 22.5 27.5 325 39.5 46 c
P 3 3 3 3 5 5 5 5 TNC
Q (NominalXPitchxDepth) |  M4X0.7X8 M5X0.8X10 | M5X0.8X10 M6X1X12 M6X1X12 M8X1.25X16 | M10X1.5X20 | M12X1.75X24 TC
T*3 15 19 21 24 28 33 37 46 Air Sensing
U 6 8 10 11 13 16 19 22 Lift Cylinder
v 6 8 9 10 12 14 16 2 e
W 75 95 105 12 14 17 19 23
Compact Cylinder
AB 12 15 17 19 22 27 32 42 T
AC 6+9012 8:+0015 8+0015 10+001s 12+0018 1440018 16+0018 20+9021 LLR
AD 6 8 9 10 12 14 16 21 LLU
AE 5 4 6 4 6 6 8 10 op
AF (Nominal X Pitch) | M3X0.5 M4x0.7 M4x0.7 M5x0.8 M5x0.8 M6x1 M6x1 M6x1 o
EA 4.5 5.5 5.5 6.8 6.8 9 1 14 DT
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Block Cylinder
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) DBA/DBC
Model No. LLU0360-GA | LLU0400-GA | LLU0480-GA | LLU0550-GA | LLUO650-GA | LLUO750-GA | LLUO900-GA | LLUT050-GA . ... ..
A3 57 | v#42 | 61 | Y446 64 | Y449 | 68 | Y453 | 75 | Y460 | 83 | Y468 93 | Y478 | 99 | Y+84 FVA
Ta %3 9 10 1 12 13 15 16 18 FVD
Ua 12 13 14 17 19 24 30 36 Fve
Wa 75 7.5 8.5 9 10 12 13 15 Control Valve
BB 14 15 17 19 22 27 33 42 BZL
BC (NominalxPitchxDepth) | M6X1X12 M8X1.25X16 | M8X1.25X16 | M10X1.5X20 | M12X1.75X24 | M16X2X32 | M20X2.5X40 | M24X3X48 EEI(T
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) 825
Model No. LLU0360-GB | LLU0400-GB | LLU0480-GB | LLU0550-GB | LLU0650-GB | LLU0750-GB | LLU0900-GB | LLU1050-GB Pallet Clamp
Ve 2 2.5 2.5 2.5 3 4 5 6 VS/VT
Ws 55 5 6 6.5 7 8.5 9 10.5 Expansion
Locating Pin
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) VFL/VFM
Model No. LLU0360-GT | LLU0400-GT | LLU0480-GT | LLU0550-GT | LLU0650-GT | LLU0750-GT | LLU0900-GT | LLU1050-GT VFJ/VFK
Ar#3 73 Y+58 81 Y+66 88 Y+73 96 Y+81 107 | Y+92 118 | Y+103 | 139 |Y+124| 153 | Y+138 pull Stud Clamp
Tr %3 25 30 35 40 45 50 62 72 I
Ur 12 14 17 17 19 24 30 36 FQ
vr 16 20 24 28 32 35 46 54 Customized
Wr 7.5 7.5 8.5 9 10 12 13 15 Spring Cylinder
B 14 17 19 21 24 29 345 42 _DWA/DWB
CC (Nominal X Pitch) M10X1.25 M12X%1.25 M14X1.5 M16X1.5 M20X%1.5 M24X%1.5 M30X%1.5 M36X%1.5

876



Linear CY| inder  standard Model (Bottom Flange (Compact)) (2/2) LLU0480~1050: Full stroke 76~150mm  model LLU

@© External Dimensions @© Machining Dimensions of Mounting Area

G : Gasket Option [P]: Pin-Hole Option
% This drawing shows LLU-GP.

Hydraulic Port (Pull Side) : iiﬁ —
0-ring (Included) H ‘ l

N N 635 06

Remove all burrs

Hydraulic Port
(Pull Side) ¢ P

>
e

>
N\ o5
{«Fﬁ»@_} I g 3 4-EA Drill Through

&
> 4-6Q¥!

Hydraulic Port (Push Side
O-ring (Included)

):

>
=

. Hydraulic Port -~ : @
3 7™ (Push Side) P
[ ] ] R
>1Z / i \ sRAD
2 ®AB

> @Tip Shape Refer to [P] Pin-Hole Option

OACH = for unlisted dimensions.

[A]: Female Threaded
e @

" 6D 2

Rod Diam.

T3
|

i
Width
Ua

A3
> 1\
@
(@)

iy

F
\
|
|
\

ra

An¥3

: Female Thread (with Anti-Rotation Pinhole)

(,

AE-AF Bolt*2

¢ Vs

Ws

%

i

[T]: Male Threaded

=
8B

7
~ —
2 >

= =

< =

Rod Diam.

Notes :
% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'Q".
% 2. The size and number of AF bolt vary depending on the model.
% 3. The drawing shows when offset is Omm.
[Dimensions of %3] =|External Dimensions in the Table|+[Offset Size]
(Ex.) LLU0480-GP-100-05 [ Offset size=5, Y=100, A=176+5=181, T=21+5=26]

877



i i External Dimensions i
st | Features | Suoke Chart | maication || cove | LL wo | Sen | ((YK@SMEK
@ Specifications e
Model No. LLU0480-G[ LLU0550-G[] LLU0650-GL[] LLU0750-G[] LLU0900-G[] LLU1050-G[] ’ e Series
Full Stroke Y mm Y:76 ~150
. Push Side 8.0 9.6 15.9 23.8 36.3 50.3 . .
Gylinder Area cm* FReract 49 58 1.0 167 264 344
Cylinder Force Push Side Px0.80 PXx0.96 PX1.59 Px2.38 PXx3.63 Px5.03 Valve / Coupler
(CalculaionFormule) | feniat PX0.49 PX0.58 PX1.10 PX1.67 PX2.64 PX3.44 Hydraulic Unit
Gyinder Capacty | Push e Yx0.80 YX0.96 YX1.59 Yx2.38 Yx3.63 Yx5.03 e —
(CalculationFormule) | friat Y%0.49 Y%0.58 Yx1.10 YX1.67 Y%2.64 Yx3.44 Accessories
Cylinder Inner Diameter  mm ¢32 ¢35 @45 $55 $68 $80
" Cautions / Others
Rod Diameter mm ¢20 ¢22 ®25 $30 $35.5 ¢ 45
Max. Operating Pressure MPa 70
Min. Operating Pressure MPa 0.5 Hole Clamp
Withstanding Pressure  MPa 10.5 SFA
Operating Temperature °C 0~70 °Fe
Weight kg 17~23 | 23~31 | 32~41 |  44~53 6.5~76 9.0~938 Swing Clamp
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) t:é
@ External Dimensions and Machining Dimensions for Mounting t:iv
[P]: Pin-Hole Option (Ex) LLUO480-CP-100[ Y=100, A=176, E=155, F=127] (mm) LG/LT
Model No. LLU0480-GP LLU0550-GP LLU0650-GP LLU0750-GP LLU0900-GP LLU1050-GP Itg;
Full Stroke Y 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150 76 ~ 150 LA
A 3 Y+76 Y+81 Y+91 Y+107 Y+121 Y+138 Link Clamp
D 48 55 65 75 90 105 o
E Y+55 Y+57 Y+63 Y+74 Y+84 Y+92 LKC
F Y+27 Y+29 Y+33 Y+37 Y+44 Y+47 LKW
G 28 28 30 37 40 45 LJ/LM
Kx 27 30 36 0 54 65 o
Ky 36 40 48 56 64 65 -
L 53 60 70 83 100 116 %
N 20 22.5 275 325 39.5 46 c
P 3 3 5 5 5 5 TNC
Q (NominalXPitchXDepth) M5X0.8X10 M6X1X12 M6X1X12 M8X1.25X16 M10X1.5X20 M12X1.75X24 TC
T %3 21 24 28 33 37 46 Air Sensing
U 10 11 13 16 19 22 Lift Cylinder
v 9 10 12 14 16 21 e
W 10.5 12 14 17 19 23
Compact Cylinder
AB 17 19 22 27 32 42 T
AC g+00'5 1070075 1243018 14+0018 163018 207407 (R
AD 9 10 12 14 16 21 LLU
AE 6 4 6 6 8 10 op
AF (Nominal X Pitch) M4x0.7 M5x0.8 M5x0.8 M6X1 M6x1 M6 X1 o
EA 5.5 6.8 6.8 9 1 14 DT
O-ring 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Block Cylinder
: Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) DBA/DBC
Model No. LLU0480-GA LLU0550-GA LLU0650-GA LLU0750-GA LLU0900-GA LLU1050-GA Centering Vise
An 3 Y+66 Y469 Y+76 Y+89 Y4100 Y4110 FVA
T %3 11 12 13 15 16 18 FVD
Un 14 17 19 24 30 36 Fve
Wa 8.5 9 10 12 13 15 Control Valve
BB 17 19 22 27 33 42 BzL
BC (NominalxPitchxDepth) |  M8X1.25X16 M10X1.5%20 MI12X1.75% 24 M16X2x32 M20X2.5X40 M24X3%48 EELT
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm) 825
Model No. LLU0480-GB LLU0550-GB LLU0650-GB LLUO0750-GB LLU0900-GB LLU1050-GB Pallet Clamp
Ve 2.5 2.5 3 4 5 6 VST
Ws 6 6.5 7 8.5 9 10.5 Expansion
Locating Pin
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) VFL/VFM
Model No. LLU0480-GT LLU0550-GT LLU0650-GT LLUO750-GT LLU0900-GT LLU1050-GT VFJ/VFK
Ar #3 Y+90 Y+97 Y+108 Y+124 Y+146 Y+164 pull Stud Clamp
Tr #3 35 40 45 50 62 72 e
Ur 17 17 19 24 30 36 FQ
Vr 2% 28 32 35 46 54 Customized
Wr 8.5 9 10 12 13 15 Spring Cylinder
(] 19 21 24 29 345 42 _DWA/DWE
CC (Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

878



Linear CyI inder DoubleEndRod Option for Dog (Bottom Flange (Compact)) model LLU-D

© External Dimensions @ Machining Dimensions of Mounting Area

G : Gasket Option [P]: Pin-Hole Option
% This drawing shows LLU-GPD.

Hydraulic Port (Pull Side) : 77% P
0-ring (Included)

635 C0.6
Remove all burrs
Hydraulic Port
(Pull Side) ¢ P
,—SOS
2 I z5 4-EA Drill Through
=
Hydraulic Port (Push §ide) :
0O-ring (Included) 4-p Q1
>
=
/T\ Hydraulic Port - : @
- | (Push Side) ¢P
M | R
~|a P
3 / SAB ) sRAD
| - ’ )
f Refer to [P] Pin-Hole Option
e :;P | &ACH7 37 ©T|p Shape for unlisted dimensions.
/e [A]: Female Threaded
|
Rod Diam. li
© Y £
bL 0o (’/ - g:
1l BC
Z éD ®BB
i 2 = B
-
<
2 ‘ | Rod Diam,
= AE-AF Bolt2
X
3o § e : Female Thread (with Anti-Rotation Pinhole)
> | =
£ o R @
Vs
| =
Jj‘ -0
| 15}
fan) B P
\Y J
‘ [T]: Male Threaded
i FC
=
S - k=) 5
Width =
FB
$CB cc
Y
2 =
o =
<
Rod Diam.
Notes :

% 1. Mounting bolts are not provided. Please prepare them according to
the mounting height referring to dimension 'Q".
% 2. The size and number of AF bolt vary depending on the model.
% 3. The drawing shows when offset is Omm.
[Dimensions of %3] =|External Dimensions in the Table|+[Offset Size]
(Ex.) LLU0360-GPD-030-05 [ Offset Size=5, Y=30, A=118.5+5=123.5, T=15+5=201]

879



Linear Cylinder
Digest

Features

Index

App. Examples/
Stroke Chart

Model No.
Indication

Perform

Curve

ance
LL

External Dimensions

LLU

Cautions
P.913

(Y xKeSMEK

Harmony in Innovation

e . High-Power
@ Specifications Series
Model No. LLU0360-G[ID | LLU0400-G[D | LLU0480-G[ID | LLU0550-GLID | LLU0650-GLID | LLU0750-GLID | LLU0900-G[ID | LLU1050-GLID P e Qe
Full Stroke Y mm Y:1~50 Y:1~75
Push Side 37 4.2 6.5 8.1 144 21.2 338 477 i i
Cylinder Area cm? gepant Hydraulic Series
e e 25 2.8 49 5.8 1.0 16.7 264 344
Cylinder Force Push Side Px0.37 Px0.42 Px0.65 Px0.81 PXx1.44 Px2.12 Px3.38 Px4.77 Valve/Coupler
. Hydraulic Unit
(Calculaion Formule et e PX025 PX0.28 PX0.49 PX0.58 PX110 PX1.67 PX2.64 PX344 pe e e
Cylinder Capacity om? Push Side YX0.37 YX0.42 YX0.65 Yx0.81 YX144 YX2.12 YX3.38 YX4.77 Manual Operation
. n .
(Calclation Formle) Side|  YX025 YX0.28 YX0.49 YX0.58 YX1.10 YX1.67 YX2.64 YX3.44 ccessories
Cylinder Inner Diameter mm $24 26 32 #35 @45 55 ®68 $80 Cautions / Others
Rod Diameter mm b16 ¢18 $20 $22 $25 #30 #35.5 @45
Max. Operating Pressure MPa 70
; ; Hole CI
Min. Operating Pressure MPa 0.5 oe :Fr:lp
Withstanding Pressure  MPa 10.5 SFC
Operating Temperature °C 0~70
" Swing Clamp
Weight kg| 06~08 | 07~09 | 10~17 [ 13~22 | 20-~32 29~43 45~64 61~83
P : Supply Hydraulic Pressure (MPa), Y : Full Stroke (mm) LHC
LHS
. . . . . . . LHW
® External Dimensions and Machining Dimensions for Mounting s cicsion formuiis iferent between Full Stroke:Y=1-14mm and Y= 15 mm o more. o
X . (Ex.) LLUO360-GPD-010 [ Y=10, A=83.5, E=48, F=23 ] /
[P]: Pin-Hole Option LLUO360-GPD-030  Y=30, A=118.5, E=63, F=38 ] (mm) TLA-2
Model No. LLU0360-GPD | LLU0400-GPD | LLU0480-GPD | LLU0550-GPD | LLU0650-GPD | LLU0750-GPD | LLU0900-GPD | LLU1050-GPD TLB-2
Full Stroke Y 1~14 [15~50 | 1~14 | 15~50 | 1~14 | 15~75 | 1~14 [ 15~75 | 1~14 | 15~75 | 1~14 | 15~75 | 1~14 [ 15~75 | 1~14 | 15~75 TLA-1
A Y4735 | 2V458.5 | Y+80.5 | 2V+65.5| Y+84.5 | 2V+60.5 Y+90.5 |2¥475.5 | Y+100.5 | 2V+85.5 | Y+111.5 [2¥+96.5 | Y+1245 [2¥41095| Y+1375 [2¥41225 |1k Clamp
D 36 40 48 55 65 75 920 105 KA
E 48 | v433 | 51 | w436 | 53 | v438 | 56 | v44l 62 | Y+47 | 68 | Y453 | 77 | Y462 | 81 | Y466 ke
F 23 | v+8 26 | Y+ 25 | v#i0 | 28 | v413 32 | v417 31 | v+16 37 | v+22 | 36 | Y421
G 25 25 28 28 30 37 40 45 LKW
Kx 23 24 27 30 36 42 54 65 LJ/LM
Ky 30 32 36 40 48 56 64 65 TMA-2
L 45 48 53 60 70 83 100 116 TMA-1
N 17 18 20 225 275 325 395 46 Work Suonort
P 3 3 3 3 5 5 5 5 Joreoupport
Q (NominalxPitchxDepth) | M4x0.7x8 M5%0.8X10 M5%0.8X10 M6X1X12 M6X1x12 M8X125X16 | MI0X15x20 | MI12x1.75X24 LD
T = 15 19 21 24 28 33 37 46 LC
u 6 8 10 1 13 16 19 22 TNC
v 6 8 9 10 12 14 16 21 TC
w 75 9.5 105 12 14 17 19 23 Ai Sensing
AB 12 15 17 19 22 27 32 2 Lift Cylinder
AC 6+8012 8+8015 8+8015 nlofgmi 12+8,018 ]4+g4015 16+8018 20+g‘021 LLW
AD 6 8 9 10 12 14 16 21 —_
AE 5 4 6 4 6 6 8 10 Linear Cylinder /
AF (Nominal X Pitch) M3X%0.5 M4x0.7 M4x0.7 M5x%0.8 M5%0.8 M6X1 M6X1 M6X1 Compact Cylinder
EA 45 5.5 55 6.8 6.8 9 11 14 LL
FA 10 12 14 14 14 18 18 18 LLR
FB 8 10 12 12 12 16 16 16 i
FC (Nominal XPitchxDepth) | M5x0.8% 12 M6X1X15 M8xX125x18 | M8x125x18 | M8xX125X18 | MI0X1.5%21 M10X1.5x21 | M10X1.5X21 op
0-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 18P7 1BP7 oR
:Female Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) DS
Model No. LLU0360-GAD | LLU0400-GAD | LLU0480-GAD | LLU0550-GAD | LLU0650-GAD | LLU0750-GAD | LLU0900-GAD | LLU1050-GAD DT
An 53 Y+67.5 |2Y452.5| Y+71.5 | 2Y+56.5 | Y+74.5 | 2¥459.5 | Y+78.5 |2Y+63.5| Y+85.5 | 2Y+70.5| Y+93.5 | 2¥478.5 | Y+103.5 | 2Y+88.5| Y-+109.5 | 2Y+94.5 Block Colinder
Ta 3 9 10 n 12 13 15 16 18 SocRLyaneer
Un 12 13 14 17 19 24 30 36 _DBA/DBC
Wa 75 75 85 9 10 12 13 15 Contering Viee
BB 14 15 17 19 22 27 33 2 9
BC (Nominal XPitchxDepth) | M6X1x12 M8X1.25%X16 | M8X1.25X16 | MI0X15X20 | MI12X1.75X24 | M16X2x32 M20X2.5X40 M24X3X48 FVA
FVD
) ) - FVC
[B]: Female Thread with Anti-Rotation Pinhole Refer to P Pin-Hole Option / A Female Thread Option for unlisted dimensions. (mm)
Model No. LLU0360-GBD | LLU0400-GBD | LLU0480-GBD | LLU0550-GBD | LLU0650-GBD | LLU0750-GBD | LLU0900-GBD | LLU1050-GBD  Control Valve
Vs 2 25 25 25 3 4 5 6 BZL
Ws 55 5 6 65 7 85 9 105 BZT
BZX/JZG
[T]: Male Threaded Refer to P Pin-Hole Option for unlisted dimensions. (mm) BZ5
Model No. LLU0360-GTD | LLU0400-GTD | LLU0480-GTD | LLU0550-GTD | LLU0650-GTD | LLU0750-GTD | LLU0900-GTD | LLU1050-GTD Pallet Clamp
Ari3 Y+83.5 |2Y468.5 | Y+91.5 | 2Y476.5 | Y+98.5 | 2Y+83.5 | Y+106.5 | 2Y+91.5 | Y+117.5 [2Y+102.5) Y+128.5 |2Y4+113.5| Y+149.5 [2Y4134.5 Y+163.5 [2Y+148.5 VST
Tr%3 25 30 35 40 45 50 62 72
Ur 12 14 17 17 19 24 30 36 Expansion
Vr 16 20 24 28 32 35 46 54 Locating Pin
Wr 75 7.5 8.5 9 10 12 13 15 VFL/VEM
[ 14 17 19 21 24 29 345 2 VFJ/VFK
CC (Nominal X Pitch) M10x1.25 M12x1.25 M14X1.5 MI16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

880



Hydraulic Linear/Compact Cylinder cautions

model LL/LLR/LLU/DP/DR/DS/DT

913

@ Cautions

@ Notes for Design

For LL/LLR/LLU/DP/DR/DS/DT

1) Check Specifications
@ Please use each product according to the specifications.

2) Notes for Circuit Design

@ Please read "Notes on Hydraulic Cylinder Speed Control Unit" for
proper hydraulic circuit design. Improper circuit design may lead
to malfunctions and damages. (Refer to P.1356)

@ Ensure there is no possibility of supplying hydraulic pressure to
the push side and the pull side simultaneously.

3) Notes for Pipe Design

® Itis recommended to select as large diameter pipes as possible.
The back pressure is proportional to the pipe size, so if the pipes
are small the release and lock times will be longer. Please note
that the single-acting models in particular are largely affected by
the number of cylinders, the pipe length and the inner diameter
of pipes and hoses.

4) Protect the exposed area of the piston rod when using on
a welding fixture.

@ [f spatter attaches to the sliding surface it could lead to malfunction
and fluid leakage.

5) The Load Direction Given to the Piston Rod

@ Make sure no force is applied to the piston rod except from the axial
direction. Usage like the one shown in the figure below will apply
a large bending stress to the piston rod and must be avoided.

In case a load is applied except from the axial direction

S

O

When clamping workpieces of different heights

e

N
|
|

With Spherical Washer

O

Without Spherical Washer

A Combination with Link Mechanism

6) When Clamping on a Sloped Surface of a Workpiece

® When clamping an inclined surface, make sure that the clamping
area is level when looking from the cylinder side. The clamping
surface and the cylinder mounting surface should be parallel.
A workpiece may move and a piston rod may slip when a cylinder
is used on an inclined surface. (When the workpiece is a casting,
it is recommended that a spiked attachment be used for a cylinder
on draft angle.)

When clamping an inclined surface

DP-A
Shape of Piston Tip : Female Thread Model

X

DP-P
Shape of Piston Tip : Oscillating Pad Model

LL-A/B
Female Threaded  f 2

LL-T
Male Threaded

f 5

7) LLR/LLU : Offset Size

® The exterior dimension of LLR/LLU on this catalog are
when offset dimension is Omm. When setting offset size,
please check the notes on each page.

8) DP/DR/DS/DT : Considerations for Attachments

® Whenever possible, use lightweight attachments.
Using attachments that weigh more than the release spring
force will result in releasing failures.



Linear Cylinder / Compact Cylinder CAEORS ‘{‘ KOSMEK

Digest P.835 Harmony in Innovation

High-Power
Series
@ Installation Notes | For LL/LLR/LLU Predmatic Series
1) Check the Usable Fluid 4) Speed Adjustment
@ Please use the appropriate fluid by referring to the Hydraulic Fluid @ Adjust the rod operating speed less than 100mm/sec both the
. ) Valve / Coupler
List (P.1355). push and pull operation. HydraulicUnit

If the cylinder operates too fast the parts will be worn out leading
Manual Operation

2) Installation of the Cylinder to premature damage and ultimately complete equipment failure. -
® When mounting the cylinder, use four hexagonal socket bolts @ Please make sure to release air from the circuit before adjusting
(with tensile strength of 12.9) and tighten them with the torque speed. It will be difficult to adjust the speed accurately with air Cautions / Others
shown in the table below. Tightening with greater torque than mixed in the circuit.
recommended can dent the seating surface or break the bolt. @ Turn the speed control valve gradually from the low-speed side Hole Clamp
; ) . SFA
TR i Tghtening Torque (N (small flow) to the high-speed side (large flow) to adjust the speed. e
LL/LLR/LLU0360 M4x0.7 3.2 .
LL/LLR/LLU0400 M5x0.8 63 5) Notes on dual rod option (-D) for dog application. %
LL/LLR/LLU0480 M5X%0.8 6.3 . . P
LL/LLR/LLU0550 VEXT 0 ® When attaching dog, set up the piston so that it will not turn around. LHC
LL/LLR/LLU0650 M6X 1 10 Please secure the dog or cam and prevent any rotation or torque on LHS
LL/LLR/LLU0750 M8X1.25 25 the piston rod. Tightening torque of mounting screw is shown in LHW
LL/LLR/LLU0900 M10X1.5 50 LG/LT
the table below. e
LL/LLR/LLU1050 M12Xx1.75 80 TLA-2
TLB-2
3) Installation / Removal of Attachment TLA-T
® When installing or removing an attachment, always use a wrench Link Clamp
on the piston rod to keep it from turning, and tighten it with LKA
LKC
the torque shown below. Low
Attachment (Contact Bolt) LI/LM
TMA-2
TMA-1
Work Support
LD
LC
Female Threaded TNC
Model No. Thread Size Tightening Torque (N*m) TC
LL/LLR/LLU0360-ICD M5x0.8 6.3
LL/LLR/LLU0400-JCID M6X 1 10 Air Sensing
LL/LLR/LLUO-CIA/B : Female Threaded LL/LLR/LLU0480-[1(ID M8x1.25 25 Lift Cylinder
Model No. Thread Size Tightening Torque (N-m) LL/LLR/LLU0550-(](1D M8X 1.25 25 we
LL/LLR/LLU0360-CJA/B M6X 1 10 LL/LLR/LLU0650-[1D M8X 1.25 25 Linear Cylinder /
LL/LLR/LLU0400-[1A/B M8X1.25 16 LL/LLR/LLU0750-CICID M10X1.5 50 Compact Cylinder
LL/LLR/LLU0480-CJA/B M8x1.25 16 LL/LLR/LLU0900-[ICID M10X 1.5 50
LL/LLR/LLU0550-(JA/B M10X 1.5 40 LL/LLR/LLU1050-]CD M10X1.5 50
LL/LLR/LLU0650-CJA/B M12X1.75 63
LL/LLR/LLU0750-1A/B M16X2 100 _
LL/LLR/LLU0900-JA/B M20X2.5 125 (bR
LL/LLR/LLU1050-1A/B M24X3 250 _
Attachment (Contact Bolt) Block Cylinder
DBA/DBC
Centering Vise
FVA
FVD
FVC
Control Valve
Male Threaded BZL
BZT
LL/LLR/LLUCI-CIT : Male Threaded BZX/)zG
Model No. Thread Size Tightening Torque (N-m) _BZS
LL/LLR/LLU0360-CJT M10X1.25 40 Pallet Clamp
LL/LLR/LLU0400-CTT M12X1.25 63 vt
LL/LLR/LLU0480-[T M14X1.5 80
LL/LLR/LLU0550-L]T M16x15 100 Exparysior;) _
LL/LLR/LLU0650-(]T M20X 1.5 125 ocating Pin
LL/LLR/LLUO750-T M24X1.5 250 _VFL/VIM
LL/LLR/LLU0900-CTT M30x1.5 315 _VEIVFK
— X1.
LL/LLR/LLU1050-CT M36X 1.5 400 pull Stud Clamp
FP
FQ
Customized
. . o . . B Spring Cylinder
. . * Installation Notes  + Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit _—
% Please refer to P.1355 for common cautions. / y / P DWA/DWB

* Notes on Handling  * Maintenance/Inspection  * Warranty

914



Hydraulic Linear/Compact Cylinder cautions

model LL/LLR/LLU/DP/DR/DS/DT

915

@ Cautions

@ Notes for Design and Installation

1) Be careful not to damage the O-ring.

® When mounting to a fixture, be careful not to damage
the O-ring on the bottom mounting surface.
Apply an appropriate amount of grease to the O-ring.
(O-ring may be damaged without grease.)

2) Be careful not to let the piston fall out.

@ |[f the piston falls out of the cylinder during assembly, make sure to
attach the O-ring to the bottom after inserting the piston into the
cylinder. If the O-ring is inserted first it could get crushed and severed.

3) Installation of the Cylinder
® When mounting the cylinder, tighten it with the torque shown

in the table below.

Model No. Thread Size Tightening Torque (N*m)
DP0160 M16X 1.5 16
DP0221 M22X1.5 40
DP0241 M24X1.5 63
DP0301 M30X 1.5 100
DP0361 M36X% 1.5 250
DP0451 M45X 1.5 400
DP0551 M55X2 630
DP0651 M65x2 %1000
DP0801 M80 X2 #1600

(It shows the tightening torque when using the product with max. operating pressure.)
% The torque is large, so use an impact tightening tool or a locking device.

4) Installation of the Contact Bolt
@ When installing or removing the contact bolt always use a wrench

on the piston rod to keep it from turning.

Contact Bolt

(2 When mounting the contact bolt, tighten it with the torque shown in the table below.

Model No. Thread Size Tightening Torque (N+m)

DP0160 M5X%0.8 4.0
DP0221 M6X1 5.0
DP0241 M6X1 8.0
DP0301 M8 % 1.25 16

DP0361 M8X1.25 25

DP0451 M10X1.5 50

DP0551 M12X1.75 100
DP0651 M16X2 200
DP0801 M20x2.5 400

(It shows the tightening torque when using the product with max. operating pressure.)

(3 The DP-Q type has a thread hole at the end for attachments.
When removing an attachment or attaching it to the end, make sure
that no cutting oil or other contaminants get inside through the thread
hole and perform the work in a clean environment.
Do not use the cylinder without the attachment in place.

5) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid
List (P.1355).

@ Notes for Design and Installation

1) Be careful not to damage the O-ring.

® When mounting to a fixture, be careful not to damage
the O-ring on the bottom mounting surface.
Apply an appropriate amount of grease to the O-ring.
(O-ring may be damaged without grease.)

2) Installation of the Cylinder
@® When mounting the cylinder, tighten it with the torque shown

in the table below.

Model No. Thread size Tightening Torque (N+m)
DR0221 M22X1.5 20
DR0241 M24X%1.5 32
DR0301 M30X1.5 63
DR0361 M36X 1.5 125
DR0451 M45Xx1.5 250
DR0551 M55X2 400
DR0651 M65 X2 3800
DR0801 MB80 X2 #1600

(It shows the tightening torque when using the product with max. operating pressure.)
% The torque is large, so use an impact tightening tool or a locking device.

3) Installation of Attachment
@ When installing or removing an attachment, always use
a wrench on the piston rod to keep it from turning.
Attachment

(2 When mounting an attachment, tighten it with the torque shown in the table below.

Model No. Thread Size Tightening Torque (N+m)
DR0221 M6 X1 4.0
DR0241 M6 X1 6.3
DR0301 M8x1.25 12.5
DR0361 M8x1.25 25
DR0451 M10X1.5 50
DR0551 M12X1.75 100
DR0651 M16X2 200
DR0801 M20X2.5 400

(It shows the tightening torque when using the product with max. operating pressure.)

4) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid
List (P.1355).

5) Appropriate Measures for the Vent Port
@ There is an air vent at the bottom of the cylinder. Consider the
environment and avoid cutting fluid, coolant or any contaminants.

@ If using it without air vent port, it will not function properly.

<t
{‘\
O X

% Please refer to P.1355 for common cautions.

+ Installation Notes
+ Notes on Handling

+ Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit

* Maintenance/Inspection  * Warranty




Linear Cylinder / Compact Cylinder
Digest P.835

Cautions

® Notes for Design and Installation

1) There is an air vent at the bottom of the cylinder. Consider the

environment and avoid cutting fluid, coolant or any contaminants.

AN

(Y xKeSMEK

Harmony in Innovation

@ Notes for Design and Installation

1) There is an air vent at the bottom of the cylinder. Consider the

environment and avoid cutting fluid, coolant or any contaminants.

%\\
O

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

O 4/ X 4/ X Cautions / Others
Hole Clamp
2) Installation of the Cylinder 2) Installation of the Cylinder zié
® When mounting, tighten it with the torque shown in the table below. ® When mounting, tighten it with the torque shown in the table below.
(@ When Mounting the Cylinder with External Thread @ When Mounting the Cylinder with External Thread %
Model No. Thread Size Tightening Torque (N+m) Model No. Thread Size Tightening Torque (N-m) LHC
DS0221 M22X1.5 20 DT0361 M36X1.5 125 LHS
DS0241 M24X1.5 32 DT0451 M45X1.5 250 LHW
DS0301 M30X1.5 63 DT0551 M55X2 400 LG/LT
DS0361 M36X1.5 125 DT0651 M65X2 %800 TLA-2
DS0451 M45Xx1.5 250 DT0801 M80 X2 %1600 TLB-2
DS0551 MoSR% f‘oo (It shows the tightening torque when using the product with max. operating pressure.) TLA-
DS0651 M65x2 800 % The torque is large, so use an impact tightening tool or a locking device. Link CI
DS0801 M80x 2 %1600 ink £lamp
LKA
(It shows the tightening torque when using the product with max. operating pressure.) . . . LKC
% The torque is large, so use an impact tightening tool or a locking device. @ When Mounting the Cylinder with Bolts Lk
Use four bolts (Strength Grade : 12.9) and tighten them with
@ When Mounting the Cylinder with Bolts ; L
9 Yy the torque shown in the table below. TMA-2
Use four bolts (Strength Grade : 12.9) and tighten them with TMA-1
the t h in the table bel Model No. Thread Size Tightening Torque (N+-m)
e torque shown in the table below. DT0361 M5X08 63 Work Support
Model No. Thread Size Tightening Torque (N-m) DT0451 M6 X1 16 LD
DS0221 M4x0.7 40 DT0551 M6 X1 16 LC
DS0241 M4X0.7 40 DT0651 M8X1.25 25 TNC
DS0301 M5x0.8 63 DT0801 M8x1.25 » TC
DS0361 M5X0.8 6.3 A.ir Sen;ing
Ds0451 M6 X1 16 3) Installation of Attachment Lift Cylinder
DS0551 M6 X1 16 . . L . LLW
DS0651 M8X 125 % (1 When mounting an attachment, tighten it with the torque shown in the table below. e
Linear Cylinder /
X
DS0801 M8x1.25 2 Model No. Thread Size Tightening Torque (N-m)
i DT0361 M8 X1.25($8.5) 30
3) Installation of Attachment DT0451 M10X15 (¢10.5) 50
@ When installing or removing an attachment, always use a wrench DT0551 M12X1.75(¢ 12.5) 100
on the piston rod to keep it from turning. DI0GST Milox2 (B1ES 200 [op
DT0801 M20x2.5 (¢20.5) 400 _
Attachment . ) . . . pe
(It shows the tightening torque when using the product with max. operating pressure.) _
Values in () shows the size of the through hole in the cylinder center.
Block Cylinder
DBA/DBC

(2 When mounting an attachment, tighten it with the torque shown in the table below.

Model No. Thread Size Tightening Torque (N+m)
DS0221 M6 X1 6.3
DS0241 M6 X1 8.0
DS0301 M8X1.25 16
DS0361 M8X1.25 30
DS0451 M10X 1.5 50
DS0551 M12X1.75 100
DS0651 M16X2 200
DS0801 M20X%2.5 400

(It shows the tightening torque when using the product with max. operating pressure.)

4) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid
List (P.1355).

4) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid
List (P.1355).

% Please refer to P.1355 for common cautions.

+ Installation Notes
+ Notes on Handling

+ Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit
* Maintenance/Inspection  * Warranty

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

916



1355

Cautions

@ Cautions

@ Installation Notes (For Hydraulic Series)

1) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid List.

2) Procedure before Piping

@ The pipeline, piping connector and fixture circuits should be cleaned
by thorough flushing.

@ The dust and cutting chips in the circuit may lead to fluid leakage
and malfunction.

@ There is no filter provided with Kosmek’s product except for a part
of valves which prevents foreign materials and contaminants from
getting into the circuit.

3) Applying Sealing Tape

® Wrap with tape 1 to 2 times following the screw direction.

@ Pieces of the sealing tape can lead to oil leakage and malfunction.

@ Please implement piping construction in a clear environment to
prevent anything getting in products.

4) Air Bleeding of the Hydraulic Circuit

@ [f the hydraulic circuit has excessive air, the action time may become
very long. If air enters the circuit after connecting the hydraulic port
or under the condition of no air in the oil tank, please perform
the following steps.

(D Reduce hydraulic pressure to less than 2MPa.
@ Loosen the cap nut of pipe fitting closest to the clamp by one full turn.
(3 Shake the pipeline to loosen the outlet of pipe fitting.

Hydraulic fluid mixed with air comes out.

@ Tighten the cap nut after bleeding.
® Itis more effective to release air at the highest point inside
the circuit or at the end of the circuit.

(Set an air bleeding valve at the highest point inside the circuit.)

5) Checking Looseness and Retightening
@ At the beginning of the machine installation, the bolt and nut may
be tightened lightly. Check the looseness and re-tighten as required.

® Hydraulic Fluid List

1SO Viscosity Grade ISO-VG-32

Maker Anti-Wear Hydraulic Oil | Multi-Purpose Hydraulic Oil
Showa Shell Sekiyu Tellus S2 M 32 Morlina S2 B 32
Idemitsu Kosan Daphne Hydraulic Fluid 32 | Daphne Super Multi Oil 32
JX Nippon Oil & Energy Super Hyrando 32 Super Mulpus DX 32
Cosmo Ol Cosmo Hydro AW32 | Cosmo New Mighty Super 32
ExxonMobil Mobil DTE 24 Mobil DTE 24 Light
Matsumura Oil Hydol AW-32
Castrol Hyspin AWS 32

Note : Please contact manufacturers when customers require products in the list above.



Installation Notes : Y Notes on Hydraulic Cylinder . . . {
(For Hydraulic Series) Hydraulic Fluid List Sl o A Notes on Handling | Maintenance/Inspection Warranty ‘ l KHOSMEIK

Harmony in Innovation

High-Power
Series
® Notes on Hydraulic Cylinder Speed Control Unit Pneumatic Series
é Please pay attention to the cautions below. Design the hydraulic circuit for controlling the action speed of hydraulic cylinder. Hydraulic Series
Improper circuit design may lead to malfunctions and damages. Please review the circuit design in advance.

Valve /Coupler
Hydraulic Unit

® Flow Control Circuit for Single Acting Cylinder In the case of meter-out circuit, the hydraulic circuit should e @
For spring return single acting cylinders, restricting flow be designed with the following points. Accessories
during release can extremely slow down or disrupt release action. (@ Single acting components should not be used in the same
The preferred method is to control the flow during the lock action flow control circuit as the double acting components.
using a valve that has free-flow in the release direction. The release action of the single acting cylinders may become
Itis also preferred to provide a flow control valve at each actuator. erratic or very slow.

N on
l_o—l B :":I évéﬁl:l
L FTETE—
=~

~] @ I Hydraulic Fluid List

= S S

Notes on Hydra der
Speed Control

Notes on Handling

Maintenance/
Accelerated clamping speed by excessive hydraulic flow to |Z| X | }\/\/ Inspection
the cylinder may sustain damage. In this case add flow control to @L-' Warranty
regulate flow. (Please add flow control to release flow if the
lever weight is put on at the time of release action when using Refer to the following circuit when both the single acting Company Profile
swing clamps.) cylinder and double acting cylinder are used together. Company Profile
O Separate the control circuit. Our Products

Flow Control at the Release Side

-------- / History
EatieSUIE =N 2 o
= o ok 4

A X} A X} I

N

Sales Offices

|

L L
® Flow Control Circuit for Double Acting Cylinder ®
Flow control circuit for double acting cylinder should have meter-out
circuits for both the lock and release sides. Meter-in control can O Reduce the influence of double acting cylinder control unit.
have adverse effect by presence of air in the system. However, due to the back pressure in tank line, single action
However, in the case of controlling LKE, TMA, TLA, both lock side cylinder is activated after double action cylinder works.

and release side should be meter-in circuit.

Refer to P.75 for speed adjustment of LKE. :":| Aﬁéﬁz

For TMA and TLA, if meter-out circuit is used, abnormal high

pressure is created, which causes oil leakage and damage. E(, E(, E

[Meter-out Circuit] (Except LKE/TMA/TLA)
X

-~

I | @ In the case of meter-out circuit, the inner circuit pressure may
increase during the cylinder action because of the fluid supply.
E(' Ek The increase of the inner circuit pressure can be prevented by
reducing the supplied fluid beforehand via the flow control valve.
II X | }‘N Especially when using sequence valve or pressure switches for
@L-' clamping detection. If the back pressure is more than the set

pressure then the system will not work as it is designed to.

[Meter-in Circuit] (LKE/TMA/TLA must be controlled with meter-in.)
:":I :":I E2N

X Sequence Valve

Flow Control Valve
(Any location is OK)

1356



1357

Cautions
=

@ Cautions

@ Notes on Handling

1) It should be operated by qualified personnel.
@ The hydraulic machine and air compressor should be operated
and maintained by qualified personnel.

2) Do not operate or remove the product unless the safety protocols
are ensured.

@ The machine and equipment can only be inspected or prepared
when it is confirmed that the safety devices are in place.

(2 Before the product is removed, make sure that the above-mentioned
safety devices are in place. Shut off the pressure and power source,
and make sure no pressure exists in the air and hydraulic circuits.

(3 After stopping the product, do not remove until the temperature
drops.

@ Make sure there is no abnormality in the bolts and respective parts
before restarting the machine or equipment.

3) Do not touch a clamp (cylinder) while it is working.
Otherwise, your hands may be injured due to clinching.

X th

4) Do not disassemble or modify.
@ [f the equipment is taken apart or modified, the warranty will be
voided even within the warranty period.

@® Maintenance and Inspection

1) Removal of the Machine and Shut-off of Pressure Source

® Before the machine is removed, make sure that safety devices
and preventive devices are in place. Shut off the pressure and
power source, and make sure no pressure exists in the air and
hydraulic circuits.

@ Make sure there is no abnormality in the bolts and respective
parts before restarting.

2) Regularly clean the area around the piston rod and plunger.
® Ifitis used when the surface is contaminated with dirt, it may lead
to packing seal damage, malfunctioning and fluid leakage.

3) Please clean out the reference surfaces on a regular basis (taper
reference surface and seating surface) of the locating products.
(VS/VT/VEL/VEM/VEJ/NEK/WVS/VWM/VWK/VX/VXE/VXF)

® The locating products, except VX/VXE/VXF model, can remove
contaminants with cleaning functions. However, hardened cutting
chips, adhesive coolant and others may not be removed. Make sure
there are no contaminants before installing a workpiece/pallet.

@ Continuous use with contaminant on components will lead to
locating accuracy failure, malfunction and fluid leakage.

211

D

1t
NI

X @)

4) If disconnecting by couplers, air bleeding should be carried out
on a regular basis to avoid air mixed in the circuit.

5) Regularly tighten nut, bolt, pin, cylinder, pipe line and others to
ensure proper use.

6) Make sure the hydraulic fluid has not deteriorated.
7) Make sure there is a smooth action without an irregular noise.
® Especially when it is restarted after left unused for a long period,

make sure it can be operated correctly.

8) The products should be stored in the cool and dark place
without direct sunshine or moisture.

9) Please contact us for overhaul and repair.



Installation Notes Notes on Hydraulic Cylinder
(For Hydraulic Series)

Hydraulic Fluid List

Speed Control Circuit Notes on Handling |Maintenance/Inspection Warranty ‘ {l KHOSMEIK

Harmony in Innovation

® Warranty

1) Warranty Period
@ The product warranty period is 18 months from shipment from

our factory or 12 months from initial use, whichever is earlier.

2) Warranty Scope

@ If the product is damaged or malfunctions during the warranty
period due to faulty design, materials or workmanship, we will
replace or repair the defective part at our expense.
Defects or failures caused by the following are not covered.

@ If the stipulated maintenance and inspection are not carried out.

@ If the product is used while it is not suitable for use based on
the operator’s judgment, resulting in defect.

@ Ifitis used or operated in an inappropriate way by the operator.
(Including damage caused by the misconduct of the third party.)

@ If the defect is caused by reasons other than our responsibility.

® If repair or modifications are carried out by anyone other than Kosmek,
or without our approval and confirmation, it will void warranty.

® Other caused by natural disasters or calamities not attributable to
our company.

@ Parts or replacement expenses due to parts consumption and
deterioration.

(Such as rubber, plastic, seal material and some electric components.)

Damages excluding from direct result of a product defect shall be
excluded from the warranty.

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Installation Notes
(For Hydraulic Series)

Hydraulic Fluid List

Notes on Hydraulic Cylinder
Speed Control Circuit

Notes on Handling
Maintenance/
Inspection

Company Profile
Company Profile
Our Products

History

Index

Search by
Alphabetical Order

Sales Offices

1358



Control Valve

Model BZL
Model BZT
Model BZX
Model JZG
Model BZS

Directly-Attached Speed Control Valve,
Air Bleed Valve, G-Thread Plug and Sequence Valve

947

® Directly Attached to Clamps

Control Valves :
Speed control valve, air bleed valve, G-thread plug and sequence valve
attached directly into Kosmek hydraulic clamp G-thread piping option.

G Thread Plug

)
N——

Adjusting Screw Lock Nut

Speed Control Valve

Speed Control Valve Air Bleed Valve G Thread Plug Direct-Mount Sequence Valve
Model BZL
Model BZX Model JZG Model BZS
Model BZT




Control Valve
Digest

(Y xKeSMEK

Operating
Pressure Range

Action Description

Speed Control Valve
(For Low Pressure)

Model B Z L

— P.949

7MPa or less

Speed Control Valve
(For High Pressure)

Model BZT

— P.953

35MPa or less

Adjust the flow rate with a wrench.

Able to adjust the clamping speed individually.

Clamp

3

&
i

=

Air bleeding in the circuit is possible

by loosening the speed control valve.

Flow Control

Air Bleed Valve

Model BZX

— P.955

25MPa or less

Air bleeding in the circuit is possible by wrench.

-

<

G Thread Plug

Model JZG

— P.957

35MPa or less

Air bleeding in the circuit is possible

by loosening the G thread plug.

&

ufl

Direct-Mount
Sequence Valve

Model BZS

— P.959

7MPa or less

Sequence Valve directly attaches to KOSMEK
hydraulic clamp’s G-thread piping option.
Controls the operating sequence of each actuator.

Hydraulic Clamp

Direct-Mount
Sequence Valve

e alve

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact Cylinder

LL
LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZX/JZG
Pallet Clamp

VS/VT
Expansion
Locating Pin

VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

948



949

Control Valve speed Control Valve (For Low Pressure) model BZL
© Model No. Indication (Speed Control Valve for Low Pressure)
1
G Thread Size
10 : Thread Part G1/8A Thread
20 : Thread Part G1/4A Thread
Thread Part
30 : Thread Part G3/8A Thread
Design No.
1 : Revision Number
Control Method
A : Meter-in A B
B : Meter-out Circuit Symbol : Meter-in Circuit Symbol : Meter-out
P1 Port P1 Port
Hyd. Pressure P2 Port Hyd. Pressure P2 Port
Supply Side Clamp Side Supply Side Clamp Side
© Specifications
Model No. BZL0101-A BZL0201-A BZL0301-A BZL0101-B BZL0201-B BZL0301-B
Max. Operating Pressure MPa 7
Withstanding Pressure MPa 10.5
Control Method Meter-in Meter-out
G Thread Size GIBA | GIAA | G3/8A GisA | GiaA | G3A
Cracking Pressure MPa 0.04 0.12
Max. Passage Area mm? 26 ‘ 5.0 ‘ 11.6 26 ‘ 5.0 ‘ 10.2
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 25 35 10 25 35
Weight g 12 26 48 12 26 48

Notes: 1. It must be mounted with recommended torque. Because of the structure of the metal seal,
if mounting torque is insufficient, the flow control valve may not be able to adjust the flow rate.
2. Do not attach a used BZL to other clamps.

Flow control will not be made because the bottom depth difference of G thread makes metal seal insufficient.

@ Applicable Products

DBA (Double Action) | DBC (Double Action)

FVA (Double Action) | FVC (Double Action)

FVD (Double Action) | LC (Single Action)

LCW (Single Action)

el . Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support
(DBA0250-CC) | (DBC0250-CT)) | (FVA0401) (FVC0630) (FVD1600) | LC0263-CO-0 | LCW0363-C
(DBA0320-CLJ) | (DBC0320-C0)) | (FVA0631) (FVD2500) |LC0303-COC-O| LCW0403-CCI

(FVA1001) LC0363-COO-| LCW0483-C

BZL0101-A LC0403-COO0| LCW0553-CC
LC0483-CO0-0| LCW0653-C

LC0553-CO00
LC0653-COOO

DBA0250-C | DBC0250-CC FVA0401 FVC0630 FVD1600
BZL0101-B | DBA0320-CL] | DBC0320-CLI FVA0631 FVD2500
FVA1001
BZL0201-A (DBA0400-CL) | (DBCO400-CL) (FVC1000) (FVD4000) |LC0753-CO00
(DBA0500-CLJ) | (DBC0500-CLJ) (FVC1600) LC0903-COC-0
DBA0400-CL] | DBC0400-CC FvC1000 FVD4000
BzL0201-8 DBA0500-CL] | DBC0500-CC FVC1600




Control Valve Model No. : . Applicable External {
Digest Indication Spediesdizms Flow Rate Graph [ 4 KOSMEK

Products Dimensions

Harmony in Innovation

@ Applicable Products S
LHA (Double Action) | LHC (Double Action) | LHD (Double Action) | LHE (Double Action) | LHS (Double Action) | LHV (Double Action) | LHW (Double Action) | LT (Single Action) | LG (Single Action) Pneumatic Series
Hedelie Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
(LHA0360-C -0 (LHCO360-C00-0) | (LHD0400-CC-0) (LHS0360-CTIT1) (LHVO400-CTTE-TT) (LAWO401CTmT) | LT0301-C0-0 | LGO301-CTI-0
(LHA0400-C JCJ-0J) | (LHC0400-C CJ-01) | (LHDO480-CI-CJ) (LHS0400-COC-0J) | (LHV0480-CLIE-C1) | (LHW0481-COC-0)| LT0361-CO-0 | LG0361-CO-0
BZLO101-A |(LHA0480-CICI-C1) | (LHC0480-CIC-0) | (LHDOS50-CCI-00) (LHS0480-COC-0) | (LHV0550-CCIE-0J) | (LHWO0551-CO00) | LTO401-C-0 | LG0401-C-00  Valve/Coupler
(LHAOS50-C YD) (LHC0550-CCI-0) (LHS0550-C00-0) LT0481-C-0] | LGO481-C-0  Hydraulic Unit
LTO551-C-00 | LGO551-C-0J Manual Operation
LHA0360-CCICI-C1 | LHC0360-CCIC-CI | LHDO400-CLJ-CJ | LHE0300-CL] | LHS0360-COC-CJ| LHV0400-CLIE-C0 | LHWO0401-CO0-0 ceaolie
LHA0400-CJ0J-00 | LHC0400-COC-0J | LHD0480-CLI-J | LHE0360-C[J | LHS0400-CC- | LHV0480-CLIE-C] | LHW0481-COC-0 Cautions / Others
BZL0101-B | LHA0480-CICJ-] | LHC0480-COICI-1 | LHDO550-CCI-00 | LHE0400-C[ | LHS0480-CO0-01| LHV0550-COIE-C) | LHWO0551-COC-0
LHA0550-CICI-01 | LHC0550-CO0C-00 LHE0480-C[] | LHS0550-CO0-0
LHE0550-C[] HoleClamp
BZL0201-A (LHA0650-COC-J) | (LHC0650-C OO-00) (LHS0650-COC-) | (LHV0650-CLIE-(J) | (LHWO0651-COC-0) | LT0651-C -0 | LG0651-C -0 zié
(LHA0750-COOC-00) (LHS0750-COC-0) | (LHV0750-COIE-C0) | (LHWO751-COC-0) | LTO751-CO-0 | LGO751-CO-00 )
oz o LHA0650-CICI-1 | LHC0650-COICI-00 LHS0650-COC-0 | LHV0650-CCIE-C] | LHWO0651-CO0-0 %
LHA0750-CICI-00 LHS0750-COC-0 | LHV0750-CIE-C] | LHWO751-CO0-0 Lk
BZL0301-A (LHA0900-CICI-00) (LHS0900-CCHD) LG0901-C-00 LHS
(LHA1050-COO0-00) (LHS1050-COC-0) LG1051-CO-00 LHW
LHA0900-CIC-I LHS0900-COC-0 JLent
BZL0301-B TLA-2
LHA1050-CO0-00 LHS1050-CO0-0 o
TLA-1
Model No. LGV.(SingIe Action) LKA (Double Action) LK.C (Double Action) | LKE (Double Action) LK!((DoubIe Action) LKY (Double Action) LKW (Double Action) LM (Single Action) | LJ (Single Action) Link Clamp
Swing Clamp | Link Clamp | Link Clamp | High-PowerLinkClamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp LKA
LGV0400-C ] |(LKA0360-COC-0) | (LKC0400-C-0)|  LKE0300-CO | (LKK0360-C-CJ) | (LKV0400-CCIE-CD) | (LKW0401-COC-0) | LM0300-C | LJ0302-CLJ LKC
LGV0480-C ] |(LKA0400-COC-0) | (LKC0480-C-0)|  LKE0360-CO | (LKKO400-C-CJ) | (LKV0480-CLIE-CD) | (LKW0481-COC-0) | LM0360-C | LJ0362-C[J LKW
BZL0101-A |LGV0550-CLICT |(LKA0480-CLI-0) (LKC0550-C-0)|  LKE0400-CLJ | (LKKO0480-C-[J) | (LKV0550-COE-CJ) | (LKW0551-COC-0) | LMO0400-C | LJ0402-CO #:\2 ;Mz
(LKA0550-C ) LKE0480-C | (LKK0550-C-[1) LM0480-CL0 | LJ0482-CO IMAT
LKE0550-C[] LM0550-C0 | LJ0552-CO) D
LKA0360-CIC-0 | LKC0400-CI-0 LKK0360-C-[ | LKV0400-CLIE-[] | LKW0401-COC-O0 %
BZL0101-8 LKA0400-CL-0 | LKC0480-CL-0 LKK0400-C-[ | LKV0480-CLIE-[] | LKW0481-COC-0 i
LKA0480-CLI-0 | LKC0550-CL-0 LKK0480-C-[1 | LKV0550-CLIE-[] | LKW0551-COC-0 TNC
LKA0550-COC-0 LKK0550-C-(] LS
BZL0201-A LGV0650-CIT |(LKA0650-COC-0) (LKC0650-C ) (LKK0650-C-[J) | (LKV0650-CLIE-CD) | (LKW0651-COC-0) | LM0650-CLI | LJ0652-COI ﬁifrt SCenrsi zg
LGV0750-C 00 |(LKAO750-C0C-0) (LKVO750-CE-C) | (LKWO751-CO00) | LMO750-CO | LJ0752-CO0 #
LKA0650-CLI- | LKC0650-CL-O0 LKK0650-C-1 | LKV0650-CLIE-[T | LKW0651-COC-0
BZL0201-B Linear Cylinder /
LKA0750-CC-0 LKV0750-CCIE-(] | LKWO751-CO0-0 Compa({ Cylinder
BZL0301-A (LKA0900-C ) LJ0902-C[] T
(LKA1050-COC-0) LJ1052-CJ LLR
BZL0301-6 LKA0900-CI-0 LDLPU
LKA1050-COC-0 oR
DS
Model No. LJV (Single Action) | LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV (Double Action) | LLW (Double Action) DT
Link Clamp | Link Clamp | Link Clamp | Side Clamp | High-PowerSideClamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder Block Cylinder
LJV0400-COC | (LFWO0480-COJ) | (LFA0480-COD)) | (LSA0360-C-(J)| LSE0360-C-J | (LL0360-C-CJ) |(LLRO360-COC-O-0)| (LLV0360-CCIE-CD) | (LLWO361-COC-D)  — pga/DBC
LJV0480-CO0 | (LFW0550-CC1J) | (LFA0550-CO0) (LL0400-COO-C1) |(LLRO400-COT-0-0)| (LLV0400-CIE-DI) | (LLW0401CCIC-0)
BZL0101-A Centering Vise
LJvo550-CO0 (LL0480-COT-0I) |(LLRO480-CCO-C-0) | (LLV0480-CTIE-0J) | (LLW0481-CO-D) VA
(LL0550-C-0) |(LLROSS0-CCC-O0) o
LFW0480-C[1J | LFA0480-COI0 | LSA0360-C-[J LL0360-CO0-0 |LLR0360-COC-C| LLV0360-CLIE-CT | LLW0361-COD-0 FVC
G LFW0550-C00J | LFA0550-CO0 LL0400-COC-0 |LLRO400-COC-CI| LLVO400-CLOE-CD | LLW0401-COD-0
LL0480-COC-0 |LLR0480-COC-0] LLV0480-CLIE-CI | LLW0481-COC-0
LL0550-CO0-0 |LLROSS0-COOHZ-O BZT
BZL0201-A LJV0650-CO0 | (LFWO0650-CC1J) | (LFA0650-COC) (LL0650-COOT-) | (LLROG50-CCC-C0) %
LJV0750-CO0 | (LFW0750-CC1J) | (LFA0750-CO0) (LL0750-CC-0) |(LLRO750-COC-00)
BZL0201-8 LFW0650-C[1J | LFA0650-CLI0 LL0650-CO0-0 |LLRO650-COCH-O Pallet f/':/”\‘/PT
LFW0750-C00J | LFA0750-CO0 LL0750-CO00 |LLRO750-COOHZ-O e
BZL0301-A (LL0900-COT-) | (LLRO900-CCC-C0) Ezggg:gg .
(LL1050-CI0-T) [(LLR1050-COT-C-0) TTOVELVEM
BZL0301-8 LL0900-CO0-0 |LLRO900-COCH-O VFJ/VEK
LL1050-CO0-0 |LLR1050-CO0HCZ-O
Pull Stud Clamp
Note: 1. Flow control circuit for double acting cylinder should have meter-out circuits for both the lock and release sides FP
(except model LKE/LSE). Meter-in circuits can be adversely affected by any air in the system. FQ
Customized
Spring Cylinder
DWA/DWB

950



951

Control Valve speed Control Valve (For Low Pressure)

@© Flow Rate Graph <Hydraulic Fluids 1SO-VG32 (25~35°C) >

model BZL

BZL0101-A : Meter-in

Controlled Flow Direction

10
= 8
£
S (Pressure Loss SMPa
U
54 (Pressure Loss 3MPa \//
z e N\
u_C_’ 5 Pressure Loss TMPa /
0 I
0 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0201-A : Meter-in

Controlled Flow Direction

N
o

(%

Pressure Loss 5MPa |
I I I

Pressure Loss 3MPa >/

T
s !
Pressure Loss TMPa 97

/
——

wi

Flow Rate (L/min)
S

0
0 1 2 3 4
«Closed  Number of Turns of Adjusting Screw  Opened—

NN W
o w»n o

—
o v o wn

Flow Rate (L/min)

BZL0301-A : Meter-in

«Closed  Number of Turns of Adjusting Screw  Opened—

Controlled Flow Direction

(Pressure Loss 5MPa
[ 1

\\\LL

[\

N\
P Loss 3MP;

ressure oss_at]/
PressureLosHMP&/
-

0 1 2 3 4

Free Flowing Direction

10 ‘
B 8 Fully Opened
£ (Fully €
S —
7 iq=T
& 4 =
3 X et Fully Closed
[N, P ‘

0

0 1 2 3 4 5 6
Pressure Loss (MPa)

Free Flowing Direction

20
—_ Fully Opened /
= —\/]
€ 15
3 / -
10 // L -
3 L -
z 1--" [Fﬁlly Closed )
o 5 S
s L

/-
0

0 1 2 3 4 5 6
Pressure Loss (MPa)

—

Flow Rate (L/min)

30
25 Fully Opened

N
o

o v o »
N
.

Free Flowing Direction

- =T

/ e

\

-7 [rulyclosed)

0 1 2 3 4 5 6
Pressure Loss (MPa)

BZL0101-B : Meter-out

Controlled Flow Direction

10
< 8
£
36 ['Pressure Loss 5MPa
i)
é 4 (Pressure LossﬂP%J ;//
5 2 ﬁressureLoss]MPa P /
[ ,_4/

0

0 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0201-B : Meter-out

Controlled Flow Direction

N
o

—
v

Flow Rate (L/min)
)

((Pressure Loss 5MPa

Pressure Loss 3MPa >//
I \ /

5 Pressure Loss 1MPa 7
—
=
00 1 2 3 4

«Closed  Number of Turns of Adjusting Screw  Opened—

BZL0301-B : Meter-out

30
~25
£
£
g20 Pressure Loss E»MPTaT7Z
g15
T Pressure Loss 3MPa /
£ (Presre oss W] | 34
u_o_ s Pressure Loss 1MPi] _— /
/’-—
0
0 1 2 3 4

Controlled Flow Direction

«Closed  Number of Turns of Adjusting Screw  Opened—

Free Flowing Direction

10
=8
§ 6 [Fully Open?ld_] /
e b I.--
&4 B
_% 5 /// . Fully Closed
[V ’4

0
0 1 2 3 4 5 6

Pressure Loss (MPa)

Free Flowing Direction

20 /
.’g]S { Fully Opened '/
£ T .
210 AT et
© -
u; .- - Fully Closed
o 5 e
[V A -

0

Pressure Loss (MPa)

N
w

- N
o v o un o
3

Flow Rate (L/min)

w
o

Free Flowing Direction

(Fully Opened | |~

/ o
,/ ‘x‘"
/,"' [FLIIyCIosed

/.

PG

0 1 2 3 4 5 6
Pressure Loss (MPa)




Control Valve
Digest

Model

Indication

No. Specifi

@ External Dimensions

(Clamp/Cylinder)

cations

Applicable
Products

Flow Rate Graph

External
Dimensions

([ K@SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

M Screw
Exclusive Packing G Thread Valve /Coupler
(Included) Hydraulic Unit
o ) Manual Operation
/—V’ “—‘ Accessories
w g :: \ / @ é %2 Port Cautions / Others
HecSodetL —{|L_D | Y Clamp Side
Hole Clamp
1
ckE 3k ,_)é% SFA
¢ SFC
Hexagon K max.H D / T ] )
Hexagon A max.C F Swing Clamp
P1 Port LHA
Hydraulic Pressure LHC
Supply Side (mm) LHS
Model No. BZLO101-C] | BZLO201-CJ | BZL0301-C] tz/V{T
A 14 18 22 TLA-2
© Machining Dimensions of Mounting Area E 122 2 5 TLB-2
C 15 16 19 TLA-1
D 12 13 16 Link Clamp
7 N-o10 E 8.5 9.5 1 LKA
01 ] U Thread min.P F (11.6) (15.1) (17.6) LKC
0112 (Prepared Hole @ T - G G1/8 Gl/4 G3/8 LKW
Flat Bottom) S P2 Port H 5 E 5 LJ/LM
\ < Clamp Side TMA-2
J 35 35 5 TMA-1
0.2 K 10 10 13 Work Support
% g — = L 3 3 4 LD
gl 3 e -, M (Nominal X Pitch) M6X0.75 M6%0.75 M8x0.75 LC
E| E /‘\"Q 0.4 N 115 15 17.5 IEC
i P 85 11%1 13
K Q g s ER )
2 bV P1 Port R (Flat Surface Area) 16 20.5 245 T,
o Hydraulic Pressure S 10 135 17 ) )
Supply Side Linear Cylwnd‘er/
Q T 8.7 1.5 15 Compact Cylinder
U G1/8 G1/4 G3/8 LL
\% 2~3 3~4 4~5 LLR
LLU
w 25~5 35~7 45~9 o
Notes : g?
1. Sincethe V' Rz63 areais sealing part, be careful not to damage it. oT

o~ w N

@© Notes

1. Please read "Notes on Hydraulic Cylinder Speed Control Unit" for proper hydraulic circuit design.

Improper circuit design may lead to malfunctions and damages. (Refer to P.1356)

2. Itis dangerous to release the air under high pressure. It must be done under lower pressure.

(For reference : the minimum operating range of the product within the circuit.)

. Since the V/Rz 125 area is the metal sealing part of BZL, be careful not to damage it. (Especially when deburring)
. No cutting chips or burr should be at the tolerance part of machining hole.
. As shown in the drawing, P1 port is used as the hydraulic supply side and P2 port as the clamp side.
. If mounting plugs or fittings with G thread specification available in the market, the dimension '3 1" should be 12.5.

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL
BZT
BZX/)ZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

952



Control Valve AirBleed Valve

@© Model No. Indication (Air Bleed Valve)

BZXOO
0
(12|

G Thread Size

model BZX

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
Thread Part
3 Thread Part G3/8A Thread
Design No.
0 : Revision Number

© Specifications

Model No. BZX010 |  BZX020 | BZX030
Max. Operating Pressure MPa 35

Withstanding Pressure MPa 42

G Thread Size GI/SA | GIAA | G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature °C 0~70

Tightening Torque for Main Body N-m 10 25 35
Weight g 12 23 36
Notes: 1. Do not over-loosen the plug during air venting.

(Do not loosen further than 2 turns from the fully closed position.)
2. Air bleeding under high pressure is dangerous. It must be done under lower pressure.
(For reference : the minimum operation pressure range of the product within the circuit)
3. Refer to the machining dimensions of BZL mounting area when installing BZX into a hydraulic circuit.

© Applicable Products

® Circuit Symbol

Model No. DBA (Double. Action) | DBC (Double. Action) | FVA (Dm.Jble Act.ion) FvC (Do9ble Act.ion) FVD (Dogb\e Act.ion) LC (Single Action) | LCW (Single Action) | TC (Single Action)
Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support | Work Support
DBA0250-CLJ | DBC0250-CO FVA0401 FVC0630 FVD1600 | LC0263-CCH0 | LCW0363-CCJ | TC0403-CC-C-0
DBA0320-CL] | DBC0320-CO FVA0631 FVD2500 | LC0303-COC-0 | LCWO0403-COI | TC0483-CC-C-C

FVA1001 LC0363-COI0 | LCW0483-COI | TC0553-C-00
BZX010 LC0403-COIO | LCWO0553-CO | TC0653-C-00
LC0483-COI0 | LCWO0653-CI | TC0753-C-0-00

LC0553-CO00

LC0653-CO0-0

DBA0400-C[J | DBC0400-Cl FvVC1000 FVD4000 | LCO753-COCD

BZX020 DBA0500-C[J | DBC0500-CL FVC1600 LC0903-CO00

955




Control Valve
Digest P.947

Model No. Indication

@© Applicable Products

Specifications

Applicable Products

External Dimensions

([ K@SMEK

Harmony in Innovation

High-Power
Series

Model N LHA (Double Action) | LHC (Double Action) | LHD (Double Action) | LHE (Double Action) | LHS (Double Action) | LHV (Double Action) | LHW (Double Action) | LT (Single Action) | LG (Single Action) Pneumatic Series
odel o Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
LHA0360-C -0 |LHC0360-COC-0 | LHD0400-CC-[1 | LHE0300-CC | LHS0360-COC-0 | LHV0400-CLIE-CI | LHW0401-COO-0 | LTO301-CC-0 | LG0301-CO-0
LHA0400-COC-J LHC0400-COC-0 | LHD0480-C[J-0J |  LHE0360-CLI | LHS0400-COC-(J | LHV0480-CLIE-[] | LHW0481-COC-0 | LT0361-CC-0 | LG0361-CO-0
BZX010  |LHA0480-CC-0|LHC0480-COC-0| LHD0550-COJ-C0 |  LHE0400-CO | LHS0480-CC- | LHV0550-CLIE-C] | LHW0551-COC-0 | LT0401-CO-0 | LGO401-CO-0 Valve / Coupler
LHA0550-CO0-0 | LHC0550-C 000 LHE0480-C) | LHS0550-C00-0 LT0481-C0-0 | LGO481-C-  Hvdraulic Unit
LHE0550-C[] LTO551-C0-00 | LGO551-CC-0J Manual Operation
BZX020 LHA0650-C0-0 | LHC0650-C - LHS0650-COC- | LHV0650-CLIE-C0 | LHW0651-CLC-0 | LTO651-CO-00 | LGO651-CC-0J ceaolie
LHA0750-C00 LHS0750-CO0-0 | LHV0750-CLIE-C0 | LHWO0751-COC-0 | LT0751-CO-0 | LGO751-CO-0 Cautions / Others
BZX030 LHA0900-C-0 LHS0900-COC-0 LG0901-C-0
LHA1050-CIC-0 LHS1050-COC- LG1051-CC-0)
Hole Clamp
LGV (Single Action) SFA
Model No. Swing Clamp SFC
LGV0400-CO0 Swing Clamp
LGV0480-C0 LHA
BZX010  |LGV0550-C0 LHC
LHS
LHW
LG/LT
LGV0650-C0 TLA-2
BZX020
LGV0750-C00 TLB-2
TLA-1
BZX030 Link Clamp
LKA
Model N LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKK (Double Action) | LKV (Double Action) | LKW (Double Action)| LM (Single Action) | LJ (Single Action) | LJV/ (Single Action) LKC
odetNo. Link Clamp | Link Clamp | High-PowerLink Clamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp LKW
LKA0360-CL-0 | LKCO400-CL-0 | LKE0300-CO | LKK0360-C- | LKV0400-CLIE-(] | LKWO0401-COC-0 | LM0300-CO | LJ0302-CO | LJV0400-C0 #:\; /Liﬂz
LKA0400-CL-0 | LKC0480-CL-0 | LKE0360-CLI | LKK0400-C-[1 | LKV0480-CLIE-(] | LKW0481-COI-0 | LM0360-CO | LJ0362-CO | LJV0480-CO0 TMAT
BZX010 | LKA0480-CO- | LKCO550-CC-0 | LKE0400-COI | LKKO0480-C-[] | LKV0550-CLIE-[] | LKW0551-COC-0 | LM0400-CO | LJ0402-CO | LJV0550-C0 Works .
or u or
LKA0550-CI-] LKE0480-CJ | LKKO0550-C-(J LM0480-CJ | LJ0482-Cl +
LKE0550-CJ LMO0550-C[0 | LJ0552-C[J Lc
BZX020 LKA0650-CLI-0 | LKC0650-CL-0 LKK0650-C-1 | LKV0650-CLIE-[] | LKWO0651-COC-0 | LM0650-CO | LJ0652-CO | LIV0650-C0 TNC
LKA0750-CIC-0 LKV0750-CCIE-C | LKWO0751-COC-0 | LMO750-CO | LJ0752-CO | LIVO750-CO0 TC
LKA0900-CLIC- LJ0902-C Air Sensing
BZX030 ift Cyli
LKA1050-C00-0 LJ1052-CL] Lift Cylinder
LLW
Model N LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV/(Double Action) | LLW (Double Action) | TTA (Double Action) | ;1.5 Cylinder /
OAEINO- | ink Clamp | LinkClamp | Side Clamp |High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder | Linear Cylinder ~ Compact Cylinder
LFW0480-C00J | LFA0480-COC | LSA0360-C-CJ | LSE0360-C-[J | LL0360-COIC-0 |LLRO360-COO-C-0 | LLV0360-CLIE-C) | LLW0361-CC-0 | TTA0360-CC-O0 ttR
B2X010 LFW0550-C00J | LFA0550-COC LL0400-COC-0 |LLRO400-COC-CHI | LLV0400-CLIE-C0 | LLW0401-COC-0 | TTA0400-CC-0 L
LL0480-COC-0 |LLRO480-COC-C-I | LLV0480-CLIE-0I | LLW0481-COC-0 | TTA0480-CC-0 DP
LL0550-COC-0 |LLRO5S0-COCIO TTA0550-CC-0) DR
S LFW0650-C00J | LFA0650-COC LL0650-COC-0 |LLRO6S0-COCHIO TTA0650-C-01 DS
LFW0750-C00J | LFA0750-CO0 LL0750-COC-0 |LLRO750-COC-0 ot
BZX030 LL0900-COT-0  |LLR0900-COCHI-] Block Cylinder
LL1050-C00-0 LLR1050-CCC0 DBA/DEC
Centering Vise
. . FVA
© External Dimensions o
Exclusive Packing (Included) Fvc
Body (Clamp / Cylinder)
Lock Nut Plug :;#
X Bzt
M6 (3 types) M6 17 G Thread )
\ Model No. BZX010 BZX020 BZX030 P
Q% A 14 18 22 Pallet Clamp
©) s B B 155 20 24 VSIVT
t C 19.8 20.6 20.6 Expansion
=g Locating Pin
; D 9.3 10.1 10.1 VELVEM
36 | @l E 55 6.3 6.3 VFJ/VFK
Hoxsoge e | G G1/8 Gl/4 G3/8 s o
Hexagon 10 D 10.5 Fp

Hexagon A

FQ

Customized
Spring Cylinder

DWA/DWB

956



Control Valve GThreadPlug

© Model No. Indication (G Thread Plug with Air Bleeding Function) PAT.

JZGOO
0
(12|

G Thread Size

model JZG

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
Thread Part
3  : Thread Part G3/8A Thread
Design No.
0 : Revision Number

© Specifications

Model No. JzGolo | JzGo20 | JZG030
Max. Operating Pressure MPa 35

Withstanding Pressure MPa 42

G Thread Size G1/8A ‘ G1/4A ‘ G3/8A
Usable Fluid General Hydraulic Oil Equivalent to 1SO-VG-32
Operating Temperature °C 0~70

Tightening Torque | Female Thread Side Material : Steel 10 25 35
for Main Body N-m | Female Thread Side Material : Aluminum (For LT/LM*1) 8 20 28
Weight g 7 15 23
Notes: 1. Air bleeding under high pressure is dangerous. It must be done under lower pressure.

(For reference : the minimum operation pressure range of the product within the circuit)
2. Refer to the machining dimensions of BZL mounting area when installing JZG into a hydraulic circuit.
% 1. Body material of LT/LM is aluminum alloy, so install it with the tightening torque for aluminum.

@© Applicable Products

Model No. LHA (Double Action) LHC. (Double Action) LHQ (Double Action) | LHE (Double Action) LHS.(DoubIe Action) LHY (Double Action) LHW (Double Action) | LT %Sing\e Action) | LG .(Single Action)
Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp
LHA0360-COC-0| LHC0360-C - | LHD0400-CLJ-[J | LHE0300-C[J | LHS0360-CHOC-0| LHV0400-CCIE-[] | LHW0401-COC-J | LTO301-CL-J | LGO301-C-0J
LHA0400-C-0| LHC0400-COC-0| LHD0480-C-[1 | LHE0360-C[] | LHS0400-CLC-0| LHV0480-CCIE-C] | LHW0481-COC-0 | LTO361-CC-00 | LG0361-CO-0)

JZG010  |LHA0480-COC-0| LHC0480-COC-0| LHDO550-CC-[] | LHEQ400-C | LHS0480-COC-0 | LHV0550-CE-C] | LHW0551-CO0-0 | LTO401-CC-00 | LGO401-CC-0
LHA0550-COC-0| LHC0550-COC-0 LHE0480-C[] | LHS0550-CO-0 LT0481-C0-0 | LG0481-C-0)
LHE0550-C[] LTO551-C0-0 | LGO551-C-0

126020 LHA0650-C -0 | LHC0650-C -0 LHS0650-CC-0| LHV0650-CLIE-C] | LHWO0651-COC-C | LTO651-CC-00 | LG0651-CO-C
LHA0750-COC-0 LHS0750-C 00| LHV0750-CIE-C1 | LHWO751-COC-0 | LT0751-CO-0 | LGO751-CO-00

126030 LHA0900-COC-0 LHS0900-C-0 LG0901-CO-J
LHA1050-COC-0 LHS1050-CC0-0 LG1051-C-0

Model No. LGV (Single Action) | DBA (Double Action) | DBC (Double Action) | FVA (Double Action) | FVC (Double Action) | FVD (Double Action) | LC (Single Action) | LCW (Single Action) | TC (Single Action)
Swing Clamp | Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Work Support | Work Support | Work Support
LGV0400-CO| DBA0250-C0 | DBC0250-CO FVA0401 FVC0630 FVD1600 LC0263-C-0 | LCW0363-COT | TC0403-CO-C-0
LGV0480-CIJ| DBA0320-CO | DBC0320-CO FVA0631 FVD2500 LC0303-COC-0 | LCW0403-CLI | TC0483-CL-C-0
LGV0550-C0 FVA1001 LC0363-CO-0 | LCWO0483-C[] | TC0553-C--0

JZG010 LC0403-COI0 | LCWO553-C | TC0653-C-C-01
LC0483-CO0-0 | LCWO0653-CCI | TC0753-C-0-0
LC0553-CO00
LC0653-C0-0
126020 LGV0650-C, DBA0400-COI | DBC0400-CD FVC1000 FVD4000 | LCO753-COC-0
LGV0750-C0 DBA0500-CO | DBC0500-CO FVC1600 LC0903-CO00

957



Control Valve
Digest P.947

Model No. Indication

@ Applicable Products

Specifications

Applicable Products

External Dimensions

(Y xKeSMEK

Harmony in Innovation

Model No. LKA (Double Action) LKF (Double Action) | LKE (Double Action) LK!( (Double Action) LKY (Double Action) LKW (Double Action) LM (Single Action) LJA(SingIe Action) LJY(SingIe Action)
Link Clamp | Link Clamp | High-PowerLink Clamp | Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp
LKA0360-CO0-| LKC0400-C-0 | LKE0300-CL | LKKO0360-C-CJ | LKV0400-CCIE-C] | LKWO0401-COC-0 | LM0300-C | LJ0302-CLI | LJV0400-COC
LKA0400-CO0-0| LKC0480-C-0 | LKE0360-CLI | LKKO0400-C-CJ | LKV0480-CCIE-C] | LKW0481-COC-0 | LM0360-C | LJ0362-COI | LIV0480-COO
JZG010  |LKA0480-COC-C| LKC0O550-C- | LKE0400-C | LKK0480-C-[1 | LKV0550-CCIE-(T | LKW0551-CC-0| LM0400-CC | LJ0402-CO | LJVO550-COI0
LKA0550-C0-0 LKE0480-C0 | LKK0550-C-[J LM0480-CJ | LJ0482-Cl
LKE0550-C[] LM0550-CJ | LJ0552-C
126020 LKA0650-CO0-0| LKC0650-C-0 LKK0650-C-C] | LKV0650-CIE-[1 | LKWO0651-COC-0 | LM0650-C | LJ0652-C00 | LIV0650-CO0
LKA0750-CI0-0 LKV0750-COIE-(] | LKW0751-COC-0 | LM0750-CO | LJ0752-C0O0 | LIVO750-CO0
126030 LKA0900-C-0 LJ0902-C[J
LKA1050-C0-0 LJ1052-C[J
Model No. TLA?1 (Single Action) TLATZ (Double Action) TLB—.2 (Double Action) TLV-.2 (Double Action) TMA-] (Double Action) TM{\-Z (Double Action) TMY-Z (Double Action)
Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Link Clamp | Link Clamp | Link Clamp
TLA0402-1C | TLA0401-2C[-0 | TLB0401-2C -1 | TLV0800-2CLII | TMA0250-1C | TMA0250-2C [ | TMV0400-2CICI
TLA0602-1C0 | TLA0601-2CC- | TLB0601-2C -0 | TLV1000-2CCIC) | TMA0400-1CLI | TMA0400-2C LI | TMV0600-2CCIC1
JzGo10 TLA0802-1C0 | TLA0801-2CL- | TLB0801-2C -0 | TLV1600-2CLIC) | TMA0600-1CLI | TMA0600-2C I | TMV1000-2CCIC
TLA1002-1C0 | TLA1001-2C -0 | TLB1001-2C -0 TMA1000-1C0J | TMA1000-2C[J
TLA1602-1C0 | TLA1601-2C[-0 | TLB1601-2C-0
TLA2002-1C0 | TLA2001-2CC- | TLB2001-2C -0 | TLV2000-2CCIC | TMA1600-1CL | TMA1600-2C L | TMV1600-2CCI00
J2G020 TLA2502-1C0 | TLA2501-2CC-0 | TLB2501-2C-0 TMA2500-1C0 | TMA2500-2C0
TLA4002-1C00 | TLA4001-2C -0 | TLB4001-2C-0 TMA3200-1C[J | TMA3200-2C[]J
Model No. LFA (Double Action) LFW (Double Action) LSA (Double Action) | LSE (Double Action) ITL (Double /?ction) LlTR (Double.ActIon) LLY (DoubIAe Action) LLW (Doub}e Action) TTA (Double‘Action)
Link Clamp | Link Clamp | Side Clamp | High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder | Linear Cylinder
LFA0480-CJC | LFW0480-C[0J | LSA0360-C-[J | LSE0360-C-] | LLO360-CLIC-I |LLRO360-COC-C-0| LLV0360-COIE-C] | LLW0361-COC-0 | TTA0360-CC-J
LFA0550-CO0 | LFW0550-CJ LL0400-COC-0 |LLRO400-COC-C-I| LLV0400-CLIE-OI | LLWO401-COC-0 | TTA0400-CL-0
JZGo10 LL0480-COC-0 |LLR0480-COT-C-J| LLV0480-CLIE-CI | LLWO0481-COC-0 | TTA0480-CL-[
LL0550-COC-0 |LLRO550-CO0-0-0 TTA0550-CO-00
LFA0650-CO0 | LFW0650-CL1J LL0650-COC-0 |LLRO650-COD-CI TTA0650-C-0
J2G020 LFA0750-CO0 | LFW0750-CJ LL0750-COC-0 |LLRO750-CO0-00
LL0900-COC-0 |LLRO900-COT-C-O
126030 LL1050-COC-0 |LLR1050-COC-C-0
@ External Dimensions
Exclusive Packing
R (Included) (mm)
—F Model No. JZ2Go10 JZ2G020 JZG030
b A 14 18 22
3 £ B 35 45 45
5 C 8 9 10
D 5 6 8
Hex.Socket D G G1/8A G1/4A G3/8A

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC
Air Sensing
Lift Cylinder
LLW
Linear Cylinder /

Compact Cylinder
LL

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL
BZT

BZX/JZG

BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

958



959

Direct-Mount Sequence Valve

PAT.P.

Direct-Mount Sequence Valve

Model BZS

model BZS

Attaches directly into Kosmek hydraulic clamps G-thread piping option.

Easily and securely controls the operating sequence of actuators.

© Model No. Indication

BZS 0 10

0

G Thread Size

0

B

10 : G1/8AThread
20 : G1/4AThread
30 : G3/8AThread

Design No.

Thread Part

0 : Revision Number

© Specifications
Model No. BZS0100 BZ50200 BZS0300
Sequence Operating Pressure Adjustable Range  MPa 1.0~6.0
Operating Pressure Range MPa 20~7.0
Withstanding Pressure MPa 10.5
G Thread Size G1/8A G1/4A G3/8A
Cracking Pressure MPa 0.03
Adjusting Screw Turn Ratio: Reference MPa/Rev 1.5 1.3 1.1
Min. Passage Area P1— P2 2.0 5.7 8.5
mm2 | P2 — P1 2.0 5.0 8.2

Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature °C 0~70

Tightening Torque N-m 10 25 35
Weight g 35 82 155

Notes: 1. Please mount to an actuator using Hex. E shown in External Dimensions on P.961A with the tightening torque shown in the list above.

Insufficient or excessive tightening torque leads to malfunction.

2. Do not attach a used BZS to other clamps.
Sequence movement may not be done because the bottom depth difference of G thread makes metal sealing insufficient.
3. The difference between the set pressure and the supplying pressure should be TMPa or more.
4. For using multiple sequence valves to operate cylinders in sequence, the difference of each set pressure should be TMPa or more.
5. Depending on circuit system (actuator capacity, hydraulic pipe diameter, passage length, etc.), sometimes it is necessary
to reduce hydraulic flow rate to achieve proper sequence movement. Make sure you are able to control flow rate.
(Since BZS is directly mounted on and used exclusively for one actuator, it is easily affected by hydraulic flow rate.)
6. Filter is not built in this product. Please note that contaminants such as cutting chips and sealing tapes entering into the product
cause malfunction. Also when internal parts are damaged, it will not operate properly even after removing contaminants.

@© Circuit Symbol

P1 Port

P2 Port

Hyd. Pressure
Supply Side

=

% No built-in filter provided.

Clamp Side

e What is a Sequence Valve?

The sequence valve controls the clamping and positioning sequence
of multiple actuators.

When the incoming side pressure (P1 port) reaches the sequence setting
pressure value, the pressure will be supplied to the outgoing side (P2 port).
Refer to P.961B for the action description.



Control Valve
Digest P.947

Model

No. Indication

@ Applicable Products

Specifications

Applicable Products

External Dimensions

Accessories

([ K@SMEK

Harmony in Innovation

DBA (Double Action)

DBC (Double Action)

FVA (Double Action)

FVC (Double Action)

FVD (Double Action)

LHA (Double Action)

LHC (Double Action)

LHD (Double Action)

LHE (Double Action)

fleelie Block Cylinder | Block Cylinder | Centering Vise | Centering Vise | Centering Vise | Swing Clamp | Swing Clamp | Swing Clamp | High-Power Swing Clamp
DBA0250-CT | DBC0250-CO FVA0401 FVC0630 FVD1600 |LHA0360-COC-0|LHC0360-COC-0| LHD0400-CC-[1 | LHE0300-CO
DBA0320-C0 | DBC0320-CO FVA0631 FVD2500 | LHA0400-CC-|LHC0400-COC-C| LHD0480-CLI-[1 | LHE0360-CLI
BZS0100 FVA1001 LHA0480-C-0J| LHC0480-COC-0| LHD0550-CC-[J | LHE0400-CO
LHA0550-C -0/ LHC0550-COC-0 LHE0480-CO
LHE0550-C[]
DBA0400-C[J | DBC0400-C FVC1000 FVD4000  |LHA0650-C[C-0|LHC0650-C OO0
BZ50200 DBA0500-C) | DBC0500-CO FVC1600%! LHA0750-CO0-0
BZ50300 LHA0900-CL-0
LHA1050-COO00
Model No. LHS (Double Action) LHY (Double Action) LHW (Double Action)| LT {Single Action) | LG FSingIe Action) LGY(SingIe Action) LKA (Double Action) LKF (Double Action) | LKE (Double Action)
Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Swing Clamp | Link Clamp | Link Clamp | High-Power Link Clamp
LHS0360-COC-J | LHV0400-CLIE-CJ | LHWO0401-COC-0 | LTO301-CO-C0 | LGO301-CC-0 | LGV0400-CL | LKA0360-CLCHI | LKC0400-CC-0 | LKE0300-CLI
LHS0400-COC-0 | LHV0480-CLIE-0) | LHWO0481-COC-0 | LT0361-CO-0 | LG0361-CO-0) |LGV0480-CL | LKA0400-COC- | LKC0480-CTH0 | LKE0360-CL
BZS0100 | LHS0480-COC- | LHV0550-COIE-CJ | LHWO0551-COC-0 | LTO401-CC-0 | LGO401-CO-0 | LGV0550-CO | LKA0480-COCH | LKCO550-CI-0 | LKE0400-CO
LHS0550-CO0-0 LT0481-CC-0 | LG0481-CO-0 LKA0550-CI-0 LKE0480-C[]
LTO551-C0-00 | LGO551-CC-0J LKE0550-C[J
BZ50200 LHS0650-COC-0 | LHV0650-COIE-C | LHWO0651-COC-0 | LT0651-CO-0 | LG0651-CO-0 |LGV0650-COC | LKA0650-COC-0 | LKC0650-CH0
LHS0750-COC-0 | LHV0750-COIE-0) | LHWO751-COC-0 | LT0751-CO-0 | LGO751-CO-0) |LGV0750-CO0 | LKA0750-COC-0
LHS0900-COC-0 LG0901-CC-0 LKA0900-CI-0
BZS0300
LHS1050-CO0-0 LG1051-CO-0 LKA1050-CCC-0
Model No. LK!((DoubIeAction) LKY (Double Action) LKW (Double Action) LM (Single Action) LJA(SingIe Action) LJY(SingIe Action)
Universal Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp | Link Clamp
LKK0360-C-C] | LKV0400-CCIE-(J | LKW0401-COC-0 | LM0300-CO | LJ0302-CO | LJV0400-COOd
LKK0400-C-[J | LKV0480-CLIE-[] | LKW0481-COC- | LM0360-CO | LJ0362-CO | LJV0480-C0
BZS0100 | LKK0480-C-[] | LKV0550-CCIE-[J | LKW0551-COC-0 | LM0400-CO | LJ0402-CO | LJV0550-CO0
LKK0550-C-CJ LM0480-CL0 | LJ0482-COI
LM0550-C0 | LJ0552-COJ
BZ50200 LKK0650-C-C | LKV0650-CLIE-[] | LKWO0651-COC-C | LM0650-CO | LJ0652-CO | LIV0650-C0
LKV0750-COIE-[] | LKW0751-COC0-0 | LMO750-CO | LJ0752-CO0 | LJV0O750-CO0
BZ50300 1J0902-C[J
LJ1052-C0J
Model No. LFW (Double Action) | LFA (Double Action) | LSA (Double Action) | LSE (Double Action) | LL (Double Action) | LLR (Double Action) | LLV (Double Action) | LLW (Double Action)
Link Clamp | Link Clamp | Side Clamp |High-PowerSide Clamp | Linear Cylinder | Linear Cylinder | Lift Cylinder | Lift Cylinder
LFW0480-C[1J | LFA0480-COO0 | LSA0360-C-C] | LSE0360-C-(1 | LLO360-CLI0-0 |LLR0360-COC-0-0| LLV0360-COIE-CI | LLWO0361-CO0-0
LFW0550-C00J | LFA0550-COC LL0400-COC-0 |LLRO400-COCHI-C| LLV0400-CIE-C | LLWO401-COIC-0
BZS0100 LL0480-COC-0 |LLR0480-COI-C-| LLV0480-CLIE-CT | LLW0481-COC-0
LL0550-CO0-0 |LLRO5S0-COCHC-O
BZ50200 LFW0650-C00J | LFA0650-COC LL0650-CO0-0 |LLRO6S0-COCH-O
LFW0750-C0lJ | LFA0750-CO LL0750-CO0-0 |LLRO750-COOHI-O
BZ50300 LL0900-CO0-0 |LLRO900-COCH-O
LL1050-COC-0 |LLR1050-COT-C-0

Note: 1. Itis not possible to install two BZS valves to FVC1000.

[In case of Work Support]

For using Direct-Mount Sequence Valve for Work Support (Model:LC*), mount Speed Control Valve (Model :BZL[__1-A) on Work Support and
mount Direct-Mount Sequence Valve on the Manifold Block as shown in the drawing below.
Please refer to P.962A for Manifold Block (Model:LZ[1-BZS).

% Please contact us when considering the installation to model LCW.

1

Work Support (Model:LC*)

Speed Control Valve (Model:BZL[1-A)

=
©

L

Direct-Mount Sequence Valve

Manifold Block (Model:LZ[1-BZS)

T N———T

/.\/,\

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Linear Cylinder /
Compact Cylinder

LL

Block Cylinder
DBA/DBC

Centering Vise

Control Valve

BZL

BZT

BZX/JZG
Pallet Clamp

VS/VT
Expansion
Locating Pin

VFL/VEM

VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

960



Direct-Mount Sequence Valve

@ External Dimensions

Hex. Socket M

Sequence Pressure Adjusting Hex.

Setting Scale
(Reference)

(Set Screw for Anti-Rotation)

(Tmm per Turn)

Scale Matching __,
Surface _._
/

6MPa
4MPa ——
2MPa——

=t

model BZS

oec. | inc o . P2Port
ICE s T - Clamp Side
BZS0C100 »
KOSMEK >  *
N
Adjustable Range¢1
Hex. A P1 Port
Hyd. Pressure
Supply Side
(mm)
Model No. BZ50100 BZ50200 BZ50300
A 16 2 27
© Machining Dimensions of Mounting Area B 17.5 2 295
C 305 39 495
Attention D 75 12 15
> N-510 E 14 18 2
U Thread min P F 155 20 24
Z (Prepared Hole ¢ T G G1/8 G1/4 G3/8
Flat Bottom) N P2 Port H 13.8 20 24
\ = Clamp Side )32 (11.6) (15.1) (17.6)
K (26.5) (34) (44)
03 L 95 12,5 15
= 2 M 13 13 15
A
2 25 2 N 15 15 175
g £ an P 85 11%3 13
/\“ 0.4 Q 9 15 13
R (Flat Surface Area) 16 20.5 24.5
‘ S 10 135 17
- oy P1 Port T 87 115 15
5 L—> Hyd. Pressure U G1/8 G1/4 G3/8
Q Supply Side v 2~3 3~4 4~5
w 25~5 35~7 45~9
Notes:

1. Since the ¥/ Rz 6.3 area is sealing part, be careful not to damage it.

2. Since the ¥Rz 125 area is the metal sealing part at the edge of BZS, be careful not to damage it (especially when deburring).

3. No cutting chips or burr should be at the tolerance part of machining hole.

4. As shown in the drawing, P1 port is used as the hydraulic supply and P2 port as the clamp side.
% 1. Use the sequence pressure adjusting hex. within the adjustable range of 32 (the dimensions K~C in the above).

Please note that if it is loosened further than max. C, pressure adjusting hex. part and internal spring will come off.

%2. Dimension when mounted. (+0.5mm before mounted.)

%3. If mounting plugs or fittings with G thread specification available in the market, the dimension '3 3' should be 12.5.

961A



Control Valve

Model No. Indication Specifications Applicable Products | External Dimensions Accessories ( {‘ KKOSMEIK

Digest p.947 Harmony in Innovation

@ Cautions

1. Please design hydraulic circuit properly. Improper circuit design may lead to malfunctions and damages.

2. Filter is not built in this product. Be aware that contaminants such as cutting chips and sealing tapes entering into the product cause
malfunction. Also when internal parts are damaged, it will not operate properly even after removing contaminants.
3. Depending on circuit system (actuator capacity, hydraulic pipe diameter, passage length, etc.), sometimes it is necessary
to reduce hydraulic flow rate to achieve proper sequence movement. Make sure you are able to control flow rate.
(Since BZS is directly mounted on and used exclusively for one actuator, it is easily affected by hydraulic flow rate.)
. The difference between the set pressure and the supplying pressure should be TMPa or more.
. For using multiple sequence valves to operate cylinders in sequence, the difference of each set pressure should be TMPa or more.

. For using multiple sequence valves to operate cylinders simultaneously, adjust them gradually by checking their actions.

N o b~

. Please keep in mind that the minimum passage area of each actuator will be decreased by mounting this product and thus
operating time may become longer.
8. Please mount to an actuator using Hex. E shown in External Dimensions on P.961 with the tightening torque shown in the specification
list on P.959. Insufficient or excessive tightening torque leads to malfunction.
9. Air bleeding is required as air mixed in the circuit causes malfunction.
10. At shipment, sequence pressure is not adjusted. Please adjust it by referring to the graph below. Install a pressure gauge on the circuit

to check pressure as necessary. After adjustment, tighten one or more set screw for anti-rotation. (Tightening torque:0.2N-m)

. BZS0100 BZS0200 BZS0300

gé::::\::::::\::::::::‘::::
M ERIEERNEEEERERNEREEREERANEE
L L N PN L N
F|SEIEEEE.\NEEEIRELVEEREREEELN
::::::\:::::::\:::::::\
§O;_Rl11111111111111111111

25 30 35 40 45 50
Dimension C on External Dimension List (mm)

(This graph is a reference, and the values will not be guaranteed.)

@ Action Description

Sequence

[
Actuator @ ‘ F:| !Valve

B F
L= |
Workpi

I @] Actuator ®

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LG/LT
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LJ/LM
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact Cylinder

LL

Block Cylinder

DBA/DBC
. Centering Vise
== Operating Procedure Note FVA
' Hydraulic pressure is ON. FVD
R . . FVC
( " The valve is closed Actuator @ is activated. —
i B . Control Val
l—m till the set pressure. . The difference between the operating
! Pressure increases to the sequence . BZL
‘L ‘ =y N — pressure and the sequence operation BZT
T £ i ure. v o
5 set pressure should be TMPa or more. _BZX)ZG
3 T
:@E lﬂ"—@ — | The sequence valve circuit opens.
Pallet Clamp
7 Actuator @ is activated. VST
_ Locking action is completed. Expansion
' Machining, etc. LocatingPin
VFL/VFM
The valve opens when o, | Hydraulic pressure s OFF. VEJ/VEK
[ the pressure is reached e
: ‘% | Theactuators @ and @ are The check valve in the sequence valve opens
i m | to the set pressure. z ®and @ q P pull Stud Clamp
[ q a R a e —
! Igl ‘ < | released almost simultaneously. when the incoming side pressure decreases. FP
4 [a=
L= Releasing action is completed. Fo
Customized
:@E |E-|_© Spring Cylinder
DWA/DWB

9618B



Manifold Block

model WHZ-MD
Model LZY'MD
Model LZ-MS
Model LZ-MP
Model TMZ'1 MB
Model TMZ-2MB
Model DZ-MGL]
Model DZ-MS[]

® Manifold Block

The mounting height of clamp is adjustable with the manifold block.

Manifold Block

Manifold Block

Fixture Base

1333



Manifold Block Manifold Block
((VK@SMEK

Applicable Model/Application Examples | Model No. Indication/External Dimensions Harmony in Innovation

High-Power
Series

Applicable Model

Pneumatic Series
Manifold Block Model No. Corresponding Item Model No.

Hydraulic Series

Model WCA Model WHA Valve / Coupler
Model W H Z - M D Hydraulic Unit

ModeIWCE Model WHE
Manual Operation
Accessories

Model LKA Model LKE Model LHC Model LHS .
Model LZY_ M D Cautions / Others
Model L KC Model L H A Model LH E Model L L

Screw
Model LJ Model LG roaer
Model LZ - M S m
Model LM Model LT Manual Expansion
Locating Pin
VX

Model LZ'M P Model LC Model TC

LZY-MD

Model TMZ'1MB ModeITMA'1
[ TMZ 1MB__
TMZ-ZMB

Model TMZ'ZMB ModeITMA'Z @

Manifold Block /

Nut
DZ-R
DZ-C
Model DZ'MGD/MSD ModeIDP Tozp
DZ-B
LZ-s
Application Examples e
WNZ-5Q
® Work Support (LC) Application Example s
TNZ-5Q
Manifold Block (LZ[J-MP Xthree pieces)
This drawing shows when Wsurface of one of three pieces is additionally machined by customer. Pressure Switch
JBA

Manifold Block (LZ[J-MP X one piece)

Pressure Gauge
JGA/JGB

LC Manifold
JX
Standard Mounting
Coupler Switch
PS

=
T \|/ G-Thread Fitting

\_Fixture Base

® Push Cylinder (DP) Application Example

DP-AL] DZ-MGO

Fixture Base

7

1334



Manifold Block model WHZ-MD/LZY-MD/LZ-MS/LZ-MP

©Manifold Block for WCA/WCE/WHA/WHE c 4¢R AZO
K 2
Model No. Indication
Size Design No. @ %
(Refer to (Revision Number)
following table) - 06 06 ~
v s —— S
Surface Z T K\( 2-O-ring
Eﬁ (Included)
) (mm)
Model No. WHZ0600-MD WHZ0320-MD WHZ0400-MD WHZ0500-MD WHZ0630-MD
Corresponding WCE0602 WCA0321 WCE1002 | WCA0401 WCE1602 | WCA0501 WCE2502 | WCA0631 WCE4002
Model No. WHE0600 WHA0320 WHE1000 | WHA0400 WHE1600 | WHA0500 WHE2500 | WHA0630 WHE4000
A 23 25 27 31 35
B 54 60 67 77 88.5
C 45 50 58 68 81
D 40 46 54 64 77
H 31.5 35 38 43 48
J 22.5 25 29 34 40.5
K 34 39 45 53 65
Nx 26 28 31 36 41
Ny 9 10 13 15 20
P 3 5 5 5 5
R 5.5 5.5 5.5 6.5 6.5
S 8 10 10 10 10
T 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP7 1BP7 1BP7 1BP7
Weight kg 0.1 0.1 0.1 0.2 0.2
Notes: 1. Material:A2017BE-T4 Surface Finishing: Zircon Finishing (Zirconium Chemical Conversion Treatment)
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension A as a reference.
3. For other block thickness (dim. A), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.
©Manifold Block for B 49K o
LKA/LKC/LKE/LHA/LHC/LHE/LHS/LL J 4
Model No. Indication
LZY 048 0 - MD )
Size Design No. < % 1
(Refer to (Revision Number)
following table) Ol w 06 06 o
: —l T
Surface Z T K\( 2-0O-ring
Em (Included)
) (mm)
Model No. LZY0360-MD LZY0400-MD LZY0480-MD | LZY0550-MD |LZY0650-MD |LZY0750-MD LZY0900-MD LZY1050-MD
) LKA0360 / LKE0360 | LKAO400 / LKC0400 | LKA0480 / LKC0480 | LKA0S50 / LKC0550 | LKA0650 / LKC0650 LKAQ750 LKA0900 LKA1050
Corresponding  |LHA0360 / LHC0360| LKEO400 / LHA0400 | LKEO480 / LHA480 | LKE0550 / LHA0550 |LHA0650 / LHC0650,  LHA0750 LHA0900 LHA1050
Model No. LHE0360 / LHS0360 | LHC0400 / LHE0400 | LHC0480 / LHE0480 | LHC0550 / LHE0550|  LHS0650 LHS0750 LHS0900 LHS1050
LL0360 LHS0400 / LLO400 | LHS0480/LL0480 | LHS0550 / LL0550 LLO650 LLO750 LL0900 LL1050
A 49 54 61 69 81 92 107 122
B 40 45 51 60 70 80 95 110
C 20 20 27 30 32 37 45 50
D 36 40 48 55 65 75 90 105
E 29 31.5 35.5 39 46 52 59.5 67
F 20 22.5 25.5 30 35 40 47.5 55
G 23.5 26 30 335 39.5 45 52.5 60
H 16 18 22 24 30 32 37 45
J 31.4 34 40 47 55 63 75 88
K 4.5 5.5 5.5 6.8 6.8 9 1 14
P 3 3 3 3 5 5 5 5
S 8 8 8 8 10 10 10 10
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7
Weight kg 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7
Notes: 1. Material :S45C Surface Finishing: Alkaline Blackening

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension C as a reference.

3. For other block thickness (dim. C), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.
1335



Manifold Block Manifold Block
Applicable Model/Application Examples | Model No. Indication/External Dimensions ‘ {‘ l(H‘.’mcgnm,Eol"(
PS . High-Power
@Manifold Block for LJ/LM/LG/LT B 4-¢) col Series
Hy Q
© Pneumatic Series
Model No. Indication D f; o
L Z O 4 8 O _ M S / w . Hydraulic Series
> +
Size [ Designo. * | < 9 Vil /ey
(Refer to (Revision Number) A . C0.6 0.6 Hydraulic Unit
following table) & - Q} (] o
J jtn Accessories
L
M%LF oP Surfacez / T ‘ ‘\ O-ring Cautions / Others
Eg (Included)
el
(mm) Screw
Model No. LZ0300-MS | LZ0360-MS | LZ0400-MS | LZ0480-MS | LZ0550-MS | LZ0650-MS | LZ0750-MS | LZ0900-MS | LZ1050-MS  Locator
Corresponding | LG0301/LT0301 [LG036C1 / LT036(J|LGOA0C] / LTO40C1|LGO48L] / LT048(1|LGO55C) / LT055C1|LGO65C] / LT065(1|LGO7501 /LT0750))  LGO90L] LG1050] VXF/VXE
Model No. 10302/ LM0300 |LJ0362 / LM0360 |LJ0402 / LMO40O |LJ0482 / LM0480 |LJ0552 / LMO550 | LJ0652 / LMO650 |LJ0752 /LM0750 |  LJ0902 LJ1052 ]
A 48 515 56.5 62 70 82 93 107 122 o spnson
B 34 40 45 51 60 70 80 95 110 X
C 18 20 20 27 30 32 37 45 50
D 30 36 40 48 55 65 75 90 105
E 28.5 31.5 34 36.5 40 47 53 59.5 67
F 19.5 20 22.5 255 30 35 40 475 55 [ WHZ-MD
Hx 30 314 34 40 47 55 63 75 88
Hy 23 314 34 40 47 55 63 75 88
J 4.5 4.5 5.5 5.5 6.8 6.8 9 11 14
L 20.5 23.5 26 30 33.5 39.5 45 52.5 60 TIMZ-1MB
M 3 5 5 0 0 0 0 0 0 EVETTEE
p 3 3 3 3 3 5 5 5 5
5 8 8 8 8 8 10 10 10 10 bz
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 Manifold Block /
O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Nut
Weight kg 0.1 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7 DZ-R
Notes: 1. Material:545C Surface Finishing: Alkaline Blackening pz-C
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension C as a reference. pz-p
3. For other block thickness (dim. C), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary. pz-B
LZ-s
. C 4-¢R A LZ-5Q
@Manifold Block for LC/TC Kx “ R
TNZ-S
Model No. Indication >\T TNZ-5Q
< §o
L Z O 4 8 O — M P o® % T 7 i Pressure Switch
Size Design No. = C0.6 C0.6 JBA
(Refer to (Revision Number) .
following table) ”’7}*3;\ Pressure Gauge
JGA/JGB
SurfaceZ /' T'§ ‘ ‘\ 2-O-ring A
Em (Included) )
© Manifold
(mm) X
Model No. LZ0260-MP | LZ0300-MP | LZ0360-MP | LZ0400-MP LZ0480-MP | LZ0550-MP | LZ0650-MP| LZ0750-MP LZ0900-MP
Corresponding ModelNo. | 1. C0262 LC0302 LC0362 | LC0402/TC0402 | LC0482 /TCO482 | LCOS52/TC0552 | LCO652 /TCO652 | LCO752/TC0752|  LCO902
A 18 18 20 20 27 30 32 37 45 Coupler Switch
B 43 48 51.5 56.5 62 70 82 93 107 Ps
C 29 34 40 45 51 60 70 80 95
D 26 30 36 40 48 55 65 75 90 G-Thread Fitting
H 26.5 28.5 31.5 34 36.5 40 47 53 59.5
J 16.5 19.5 20 22.5 25.5 30 35 40 47.5
Kx 25 30 31.4 34 40 47 55 63 75
Ky 21 23 31.4 34 40 47 55 63 75
Nx 18.5 20.5 23.5 26 30 335 39.5 45 52.5
Ny 3 3 5 5 0 0 0 0 0
R 3.4 4.5 4.5 5.5 5.5 6.8 6.8 9 11
Yx 18.5 20.5 23.5 25 28 31 37 42.5 50
Yy 7 7 8 8 n 13 14 15 15
p 3 3 3 3 3 3 5 5 5
S 8 8 8 8 8 8 10 10 10
T 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4
O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7
Weight kg 0.1 0.1 0.2 0.2 0.3 0.4 0.5 0.8 1.2

Notes :

1. Material : S45C

Surface Finishing: Alkaline Blackening

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the dimension A as a reference.

3. For other block thickness (dim. A), machine the surface Z or design a block referring to the drawing and apply surface treatment if necessary.

1336



1377

Company Profile

Sales Offices

([ K@SMEK

Harmony in Innovation

Sales Offices across the World

JAPAN
HEAD OFFICE

Overseas Sales

TEL. +81-78-991-5162 FAX. +81-78-991-8787

KOSMEK LTD. 1-5, 2-chome, Murotani, Nishi-ku, Kobe-city, Hyogo, Japan 651-2241
T651-2241 EERMEHAEXER2T H1ESS

United States of America
SUBSIDIARY

KOSMEK (USA) LTD.

TEL. +1-630-620-7650

650 Springer Drive, Lombard, IL 60148 USA

FAX. +1-630-620-9015

MEXICO

REPRESENTATIVE OFFICE TEL. +52-442-161-2347

KOSMEK USA Mexico Office  Av.Santa Fe #103 int 59 Col. Santa Fe Juriquilla C.P. 76230 Queretaro, Qro Mexico
EUROPE

EUROPE TEL. +43-463-287587  FAX.+43-463-287587-20
KOSMEK EUROPE GmbH Schleppeplatz 2 9020 Klagenfurt am Wérthersee Austria

CHINA TEL. +86-21-54253000 FAX. +86-21-54253709
KOSMEK (CHINA) LTD. Room601, RIVERSIDE PYRAMID No.55, Lane21, Pusan Rd, Pudong Shanghai 200125, China
FHR(LB)HSERAR hE TR R A S B2 1 55 24RIZE TG0 2 200125

INDIA

BRANCH OFFICE

KOSMEK LTD - INDIA

TEL. +91-9880561695

F 203, Level-2, First Floor, Prestige Center Point, Cunningham Road, Bangalore -560052 India

THAILAND
REPRESENTATIVE OFFICE

KOSMEK Thailand Representation Office

TEL. +66-2-300-5132 FAX. +66-2-300-5133

67 Soi 58, RAMA 9 Rd., Suanluang, Suanluang, Bangkok 10250, Thailand

TAIWAN

(Taiwan Exclusive Distributor)

Full Life Trading Co., Ltd.

TEL. +886-2-82261860 FAX. +886-2-82261890

16F-4,No.2, Jian Ba Rd., Zhonghe District, New Taipei City Taiwan 23511

BEESERNE BBHALTRRER/\BE25% 16F-4 (RRHILER)

PHILIPPINES TEL. +63-2-310-7286 FAX. +63-2-310-7286

(Philippines Exclusive Distributor)

G.E.T. Inc, Phil. Victoria Wave Special Economic Zone Mt. Apo Building, Brgy. 186, North Caloocan City, Metro Manila, Philippines 1427
INDONESIA

(Indonesia Exclusive Distributor)

PT. Yamata Machinery

TEL. +62-21-29628607 FAX. +62-21-29628608

Delta Commercial Park |, JI. Kenari Raya B-08, Desa Jayamukti, Kec. Cikarang Pusat Kab. Bekasi 17530 Indonesia

Sales Offices in Japan

Head Office
Osaka Sales Office
Overseas Sales

TEL.078-991-5162

T651-2241

FAX.078-991-8787
OEREFAHAEREN2T B1ESS

Tokyo Sales Office

TEL. 048-652-8839 FAX. 048-652-8828

T331-0815 BEEEOEMHALXARET4T 58185

Nagoya Sales Office

TEL. 0566-74-8778 FAX. 0566-74-8808

T446-0076 BB HEREET2T 81051

Fukuoka Sales Office

TEL. 092-433-0424

T812-0006

FAX.092-433-0426
BEREMHESX EE2H1T E8-10-101




Global Network

® Overseas Affiliates and Sales Offices
@® Distributors

rgestfocccccocoogos - 3 Canada
(] E ‘... E US.A. ©®
] o :
1O . e@® gy
'Y » ® : Mexico
' ® i
' ) '
® Brazil
(]
Australia
Asia Detailed Map
[ J
o
¢ Korea
o { ]
Japan
° China ®e®
[ J
. e ¢ ® Taiwan
India
. -
Thailand o Philippines
[ J 00
Malaysia
® Singapore
o
Indonesia
‘ { Harmony in Innovation
@ FOR FURTHER INFORMATION ON UNLISTED SPECIFICATIONS AND SIZES, PLEASE CALL US. JOA-QMA10823

@ SPECIFICATIONS IN THIS CATALOG ARE SUBJECT TO CHANGE WITHOUT NOTICE. KOSMEK HEAD OFCE

:

‘-E

AB
CMO009



	Hydraulic Linear Cylinder
	Hydraulic Linear Cylinder Lineup

	LL/LLR/LLU_INDEX

	Features

	Application Examples
	Allowable Stroke Chart
	Model No. Indication
	Performance Curve (LL/LLR/LLU Standard：Single Rod Model)

	Performance Curve (LL-D/LLR-D/LLU-D)

	Performance Curve (LL-M□/LL-N□)

	External Dimensions (LL Standard： Single Rod Model)(1/2)
	External Dimensions (LL Standard： Single Rod Model)(2/2)

	External Dimensions (LL-D)
	External Dimensions (LL-M□)

	External Dimensions (LL-N□)

	Air Sensing Option (LL-M□/N□)

	External Dimensions (LL-RM)(1/2)
	External Dimensions (LL-RM)(2/2)

	External Dimensions (LL-RN)(1/2)
	External Dimensions (LL-RN)(2/2)

	Air Sensing Option (LL-RM/LL-RN)

	External Dimensions (LLR Standard Single Rod Model)(1/2)

	External Dimensions (LLR Standard Single Rod Model)(2/2)

	External Dimensions (LLR-D)

	External Dimensions (LLU Standard Single Rod Model)(1/2)

	External Dimensions (LLU Standard Single Rod Model)(2/2)

	External Dimensions (LLU-D)

	Cautions
	Accessory：Control Valve 
	Accessory：Manifold Block

	Company Profile (Sales Offices)




